DISTRIBUTION OVERHEAD
STANDARD

Overhead Construction

PART 2 MISCELLANEOUS DRAWINGS

Record Number: R0002223229
Version Number: 1.0
Date: June 2022

e v .
Powering a
Networks | Bright Future






Overhead Distribution Construction Standard- Miscellaneous Section 0

COPYRIGHT

This document is protected by copyright vested in TasNetworks Pty Ltd. No part of the document may be reproduced or
transmitted in any form by any means including, without limitation, electronic, photocopying, recording or otherwise,
without the prior written permission of TasNetworks. Any breach of the above obligations may be restrained by legal
proceedings seeking remedies including injunctions, damages and costs.

DISCLAIMER
UNCONTROLLED WHEN PRINTED

This document has been prepared and made available solely for information purposes. Whist care was taken in the
preparation of the information in this document, and it is provided in good faith, TasNetworks make no representation
or warranty (express or implied) as to the accuracy, reliability, or completeness of the information contained in this
document, or its suitability for any intended purpose. TasNetworks (which for the purposes of this disclaimer, includes
all their related bodies corporate, officers, employees, contractors, agents and consultants, and those of their bodies
corporate) shall have no liability for any loss or damage (including without limitation, liability to any person by reason
of negligence or negligent misstatement) for any statements, opinions, information or matter (expressed or implied)
arising out of, contained in, or derived from, or for any omissions from, the information in this document, except to the
extent that liability under any applicable statute cannot be excluded. In all cases, anyone proposing to rely on or use the
information in this document should independently verify and check the accuracy, completeness, reliability and suitability
of that information and the reports and other information relied on by TasNetworks in preparing this document, and
should obtain independent and specific advice from appropriate experts or other sources.

Authorisations
Action Name and title Date
Prepared by Kent Gosden — Principal, Electro Technical Consultants 28/02/2022
Reviewed by Michael Cooper - Principal Engineer, Overhead lines 22/06/2022

Angus Ketley — Team Leader, Asset Engineering Overhead Lines
Darryl Munro — Team Leader, Network Asset Strategy

Authorised by | James Goodger, Leader Engineering 24/06/2022

Review cycle 5 Years

Responsibilities

This document is the responsibility of the Asset Strategy Team, Tasmanian Networks Pty Ltd,
ABN 24 167 357 299 (hereafter referred to as "TasNetworks").

Please contact the Asset Strategy Team with any queries or suggestions.

. Implementation All TasNetworks staff and contractors.

. Compliance All Group Managers.

© Tasmanian Networks Pty Ltd 2017



Overhead Distribution Construction Standard- Miscellaneous

Section 0

Record of revisions

The content of this manual was initially drawn from earlier TasNetworks legacy manuals and

Aurora Energy manuals for overhead lines, LVABC and HVABC.

ALL

May 2022

1.0

INITIAL ISSUE

Ver. 1.0

Preface

Page 0-4



Overhead Distribution Construction Standard Section 0

Table of Contents

Section
0 Preface
1 Services
2 LV Constructions
3 11kV/22kV & SWER Constructions
4 33kV & 66kV Constructions
5 Switches, Fuses, Reclosers & Sectionalisers
6 Pole Substations/Transformers
7 Other Pole-mounted Plant, UG Cable Terminations and Attachments
8 Nil
9 Conductors, Cables, Connectors and Associated Fittings
10 Poles
11 Nil
12 Nil
13 Nil
14 Nil
Ver. 1.0 Preface Page 0-5




Overhead Distribution Construction Standard- Miscellaneous Section 0

O SECTION O PRELUDE

This Part 2 of the Overhead Distribution Construction Manual contains miscellaneous constructions
that are either obsolete or arrangements no longer used on Overhead Distribution constructions
within the TasNetworks electrical network.

Drawings and components are in this Part 2 to ensure they remain accessible to personnel.

Scope
The Distribution Design Standard for Overhead Distribution applies to the following asset types:

e High voltage overhead lines, i.e. 33 kV, 22 kV, 11 kV and SWER

e Low voltage overhead lines

e Pole-mounted plant, e.g. transformers, switches, reclosers, regulators and fuses
e Communications cables on poles (e.g. pilot cables, optical fibres, NBN cables).

Overhead materials shall comply with TasNetworks’ current periodic contract for distribution
equipment and specifications.

For interconnections to other TasNetworks electrical reticulation refer to the following standards:

e Underground cable terminations on poles — for further detail refer to the Distribution
Design Standard for Underground System

e Private installations - for further detail refer to the Distribution Design Standard for Planning

e Public Lighting Equipment — refer Public Lighting Construction Manual.

The application of this design standard applies for both greenfield and brownfield sites, where the
HV and LV reticulation is intended to be overhead. All designs shall be compliant in full with this
standard. All non-compliance’s are required to receive prior approval from the TasNetworks
Planning, Asset Strategy and Asset Engineering Team.

Ver. 1.0 Preface Page 0-6



SECTION 1- SERVICES



Overhead Distribution Construction Manual - Miscellaneous Section 1

Ver. 2.0 Services Page 1



Overhead Distribution Construction Manual - Miscellaneous Section 1

1.SECTION 1 — SERVICES

1. SECTION 1 = SERVICES ..ottt e et e e ettt e e e sttt e e e ettt e e et eeeeennneeens 3
OBSOLETE CONSTRUCTIONS - REFERENCE ONLY......coiitiiiiiiiiieiieit ettt 4
1.1 LVABC Mains — Service Cable Junction Boxes (ObSOIte).........cccueevieieeiiiiiieceeeeeeeee 4
1.2 LVABC Service with Copper Tails - Load < 100 A / phase (Obsolete).........ccccvevveveveveeenrene. 5
1.3 Copper / PVC Service — House ENd (ODSOIETE)........ooviuieuieeieeiieeeeeeeeeeeeee e 6
1.4 Service Pole Steel Raiser BraCKet.........oouiiiiiiiiiiiiicce s 7
1.5 Service Fuseholders (ODSOIETE) .....coiiiiiii e 8
1.6 Service FUSeholder (ODSOIETE) ..c.uii i 9
1.7 Service FUSeholder (ODSOIETE) ....iiiiiiiiie e 10
1.8 IPC Installations with satellite CONNECTON ......cciiiiiiiiii 11

Ver. 2.0 Services Page 1- 3



Overhead Distribution Construction Manual - Miscellaneous Section 1

OBSOLETE CONSTRUCTIONS - REFERENCE ONLY

1.1 LVABC Mains — Service Cable Junction Boxes (Obsolete)

1 | 2 | 3 | A | 5

A
OR USE OPEN EYEBOLT & EYENUT
73R 0r (758 0r (190
— SERVICE CABLE AND
B }
<
"
CEDEED,
C
\\
. SERVICE CABLE
S~
<h —
— D
A f
b

94C

LVABC MAINS

i OBSOLETE - FOR REFERENCE ONLY

G
H

DIMENSIONS ARE IN MILLIMETRES

UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
. STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
© trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
Z 13 TasNetworks TILE
— 8 LV AERIAL BUNDLED CABLES NTS.
<|z — T SERVICE CABLE JUNCTION BOX
M E . OBSOLETE
w = DESIGNED BY ELECTRO A["
: o CHECKED BY H.WESTBURY
< APPROVED BY | - _ _ _ _ REVISION
DATE APPROVED | 07/MAY/19 D O H [ A O O 3 S D O O W A

Ver. 2.0 Services Page 1- 4



Overhead Distribution Construction Manual - Miscellaneous

Section 1

1.2 LVABC Service with Copper Tails - Load < 100 A / phase (Obsolete)

—

-

1 [ 2 [ 3 [ L
A
— MICHAUD SERVICE THREE PHASE SERVICE
FUSE S.I. No 22-17-607 BRACKET S.I. 32.34.01
ACTIVE CORE CONNECTION BOX SUITABLE UP
TO 16MM 5Q. COPPER CABLE ONLY.
B SUPPLIED BY CUSTOMER
DRIP LOOPS
10mm? or 16mm? Cu PVC
NEUTRAL CORE
C
2,3 OR 4 CORE NB.
25mm SQ. Al LVABC NEUTRAL TQ BE TIED TO
NB ACTIVE WITH NYLON CABLE TIES
NEUTRAL TO BE TIED TO
[ ACTIVE WITH NYLON CABLE TIES
DRIP LOOPS
NEUTRAL CONNECTOR _.—"  _-
D N
USE INSULATED HOOK CLAMP (ITEM ‘
97E OR 97F) TO PROVIDE ADDITIONAL ‘
INSULATION ON METAL FASCIA |
2,30R4CORE N7 T
25mm SQ. Al LVABC
£ -
; UPGRADES
NOTES
1. NORMAL FIXING FOR HOUSE END SERVICE BRACKET.
[ TIMBER FASCIA: M10 COACH SCREWS OR M10 BOLTS TO TIMBER BEHIND FASCIA.
DOUBLE BRICK: M10 TQ M12 BOLTS INTO LOXINS OR OTHER SUITABLE MASONARY ANCHORS.
BRICK VENEER: BOLTS SHOULD PASS THROUGH THE BRICK WORK TQ SUITABLE TIMBER FIXING.
G 2. WHEN ITEM 29B HOUSE BRACKET IS IN CONTACT WITH METAL CLADDING OR METAL FASCIA SPOUTING PROVIDE ADDITIONAL
INSULATION AT THE HOUSE END BY USING THE INSULATED HOOK CLAMP ITEM 97E OR 97F.
3. TO PROVIDE 25mm CLEARANCE FROM UP-LIFTING SERVICE TERMINATION TO ANY METAL OR PLASTIC SPOUTING USE ITEM
29D SERVICE EXTENSION HOOK (AND BEND IF NECESSARY) BETWEEN SERVICE TERMINATION AND HOUSE BRACKET.
i L. THE SERVICE HOOK ITEM 29B CAN BE MOUNTED HORIZONTALLY OR VERTICALLY. THE MODIFIED BOLT CAN BE ROTATED
THROUGH 360 DEGREES IN 90 DEGREE INCREMENTS ENSURE THAT THE STRAIN IS TAKEN ON CROOK OF MODIFIED BOLT.
SINGLE AND MULTI PHASE SERVICE CONNECTION
H WITH CONNECTION BOX SUITABLE FOR 10mm® AND 16mm? COPPER ONLY
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
] © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v H trading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
= k.| 5 & TasNetworks e SCALE
Zla LRSS SERVICES - HOUSE END NTS
= IERENER
<|z2| g F5a33[3s pr LVABC SERVICE WITH
o DRAWN (5 PRO-SOLUTION:
x|z = " COPPER TAILS - 100 AMPS/PHASE
uw = 8 x; N DESIGNED BY ELECTRO AZ*'
= e i m e CHECKED BY HWESTBURY
- BolC By
s SE2EEe APPROVED BY | A KETLEY REVISION
< = e - - - -
= RS DATE APPROVED | 07/MAY/19 D OHC A013 SD 001 B
Ver. 2.0 Services Page 1-5



Overhead Distribution Construction Manual - Miscellaneous Section 1

1.3 Copper / PVC Service — House End (Obsolete)
N N

1 [ 2 [ 3 [ 4 5
MAINS CONNECTION
BOX PROVIDED BY
CUSTOMER
A
B
C
NB.
NEUTRAL TO BE TIED TO
ACTIVE WITH NYLON CABLE TIES /“/
D
MAINS CONNECTION BOX
PROVIDED BY CUSTOMER
£
F NOT FOR NEW
NoTES CONSTRUCTIONS
1. NORMAL FIXING FOR HOUSE END SERVICE BRACKET.
I TIMBER FASCIA: M10 COACH SCREWS OR M10 BOLTS TO TIMBER BEHIND FASCIA.
DOUBLE BRICK: M10 TO M12 BOLTS INTO LOXINS OR OTHER SUITABLE MASONARY ANCHORS.
BRICK VENEER: BOLTS SHOULD PASS THROUGH THE BRICK WORK TO SUITABLE TIMBER FIXING.
2. WHEN ITEM 29B HOUSE BRACKET IS IN CONTACT WITH METAL CLADDING OR METAL FASCIA SPOUTING PROVIDE ADDITIONAL
INSULATION INTHE D.l. HELICAL SERVICE TERMINATION BY THE USE OF ITEMS 17B, 74D & 60B.
G
3. TO PROVIDE (25 min) CLEARANCE FROM UP-LIFTING SERVICE TERMINATION TO ANY METAL OR PLASTIC SPOUTING USE ITEM
29D SERVICE EXTENSION HOOK (AND BEND IF NECESSARY) BETWEEN SERVICE TERMINATION AND HOUSE BRACKET.
L. ITEM 29B CAN BE MOUNTED HORIZONTALLY OR VERTICALLY. THE MODIFIED BOLT CAN BE ROTATED THROUGH 360 IN 90 DEGREE
INCREMENTS ENSURE THAT THE STRAIN IS TAKEN ON CROOK OF MODIFIED BOLT.
SINGLE PHASE SERVICE CONNECTION
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
) © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
- = trodng o TasNeteorks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
o g OR TRANSMITTED BY ANY MEANS WITHOUT THE
= 3 ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |u ] ol = STALE
22 5o B § TasNetworks T
—|a E%éwgwg SERVICES - HOUSE END NTS
<|z2| g [IENEE o T COPPER / PVC SERVICES - LOADS < 100 AMPS
ezl T . . (OBSOLETE)
w2l g N DESIGNED BY | ELECTRO AL
il ] Rl = e I N N CHECKED BY | HMESTBURY
- = oEloziEs A KETLEY REVISION
= = sEiedk APPROVED BY B _ B B
= gogEes DATE APPROVED | 07/MAY/19 D OHC A014 SD 001 B

Ver. 2.0 Services Page 1- 6



Overhead Distribution Construction Manual - Miscellaneous Section 1

1.4 Service Pole Steel Raiser Bracket
[ ]

A
L Im
Ll
L
\
\
\
B E
\
NB. DRILL 2 NEW HOLES 0 ‘
@11 AND APPLY ZINC z \
RICH PAINT [
L (ROVAL OR SIMILAR) \
\
\
\
\
c \
\
H H
=2 [
o I
Y
L \
\
(AN DETAIL 3 w
NG SCALE NTS }
\
D Ad
| N =
£
RAISER ARRANGEMENT
(- MATERIAL: 100x50 PFC - TYPE 1
F

NOT FOR NEW CONSTRUCTIONS.

G SECTION /A
‘

NOTES

1. LOAD LIMIT FOR THIS ARRANGEMENT IS 1kN.

2. FOOTING STRENGTH TQ BE CHECKED AGAINST DRAWINGS D-0H1-0225-SD-001 THRU 0232-SD-001.
3. ENSURE THAT LOCK NUTS ARE FITTED TO ALL BOLTS ON RAISER ARRANGEMENT.

L. HOT DIP GALVANIZE TO AS/NZS 4680.

H
REFERENCE DRAWINGS DIMENSIONS ARE IN MILLIMETRES
D-0H1-0630-SD-001 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading das lasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
— |2 TasNetworks Time SCAE
Za SERVICE POLE STEEL RAISER BRACKET 1.25
< |2
o |2 DRAWN D J KING
w |3
2 DESIGNED BY | TASNETWORKS AZ+
e CHECKED BY | R LIYANAGE
-
< APPROVED BY | A KETLEY D OHC A020 3D 007 REVISION
DATE APPROVED | 01/10/2021 A

Ver. 2.0 Services Page 1- 7



Overhead Distribution Construction Manual - Miscellaneous Section 1

1.5 Service Fuseholders (Obsolete)

| 2 | 3 A 5
A
\ SHEARHEAD SCREW
S.l. 39.29.05
B
C
SICAME 100 AMP SERVICE FUSE - OBSOLETE
— SJ. No 22.17.54
- FOR REFERENCE
D APPLICATION OF SERVICE FUSES
NORMAL FUSE CARTRIDGE APPLICATION
30 AMP CARTRIDGE 30 AMP OUTDOOR SERVICE FUSES ON
1 SIZE 57.0mm x22.2mm DIA ANY OLD SIZE STRAND CONSUMERS
S.1.22.23.90 MAINS. REFER TO INSPECTOR/DISTRICT
MECHANIC FOR FOLLOW UP INSPECTION.
OUTDOOR SERVICE FUSE FOR THE
E FOLLOWING SIZES OF CONSUMERS
MAINS: 6mm?; 7/.036. REFER TO
INSPECTOR/DISTRICT MECHANIC FOR
50 AMP CARTRIDGE FOLLOW UP INSPECTION IF 50 AMP
SIZE 57.0mm x22.2mm DIA FUSE IS USED TO REPLACE A SMALLER
S.1.22.23.92 FUSE.
OUTDOOR SERVICE FUSE ON RESIDENTIAL
PREMISES WITH THE FOLLOWING SIZES OF
COPPER CONSUMERS MAINS:
F (V75 UNENCLOSED)
63 AMP CARTRIDGE
SIZE 57.0mm x22.2mm DIA 10mm?, 7/.044 & 7/.052 2 CORE
S.1.22.23.93 16mm?, 7/.064 & 3 & 4 CORE
- 80 AMP CARTRIDGE
SIZE 57.0mm x 22.2mm DIA 16mm?,7/.064 2 CORE
S.1.22.23.95 25mm?, 19/.044,19/.052 3 & 4 CORE
100 AMP CARTRIDGE
SIZE 57.0mm x22.2mm DIA 25mm?, 19/044, 19/.052 2 CORE
G S.1.22.24.27 35mm?, 19/.064, 3 & 4 CORE
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THS DRAWNG MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
& trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
= TasNetworks TITLE
-2 w 0/H SERVICES & CONSUMER MAINS NTS
<[z . - SERVICE FUSEHOLDERS
ORAWN (5 PRO-SOLUTION:
x (= SICAME - OBSOLETE
w |9 DESIGNED BY ELECTRO AL
~ |8
CHECKED BY H.WESTBURY
)
= T D - OHC = A035 - SD - 002 | “a
DATE APPROVED | 15/APR/19 A
Ver. 2.0 Services Page 1- 8



Overhead Distribution Construction Manual - Miscellaneous Section 1

1.6 Service Fuseholder (Obsolete)

1 | 2 | 3 | A 5
Q__/_J SPLITPIN — '
S - A
0BSOLETE FITTING HOURFING FLATE ™
REPLACE ALL UNITS AT INSTALLATION “ -
A WITH CURRENT SERVICE FUSE i 'Y
WHEN ATTENDING FAULT RESPONSE, el
MAINTENANCE OR SERVICE UPGRADES
PORCELAIN
g ) — HOUsING
- OBSOLETE _—
i FOR REFERENCE i) i
ONLY oy e —— (S
| /
S ——
PLASTIC FUSE HOLDER
C A . y
T PORCELAIN FUSE HOLDER
D PROPOSED APPLICATION OF SERVICE FUSES
FUSE FITTING NORMAL FUSE CARTRIDGE APPLICATION
STANGER 55 AMP |5 AND 10 AMP CARTRIDGE
SIZE 50.8mm x14.3mm OUTDOOR FUSE ON MINOR ROADLANTERN
5AS.l. No 22.23.51 BRACKETS, NO INTERNAL FUSE EXISTS.
10AS.l. N0 22.23.52
SEE NOTE ABOVE |30 AMP CARTRIDGE TO REPLACE EXISTING 30 AMP OUTDOOR
RE DE-RATING OF |SIZE 50.8mm x14.3mm DIA SERVICE FUSES ON ANY OLD SINGLE STRAND
E THIS FUSE S.1.22.23.60 CONSUMER'S MAINS. REFER TO INSPECTOR/
45 AMP CARTRIDGE DISTRICT MECHANIC FOR FOLLOW UP
S.1.22.23.57 INSTRUCTION.
OUTDOOR SERVICE FUSE FOR THE
L FOLLOWING SIZES OF CONSUMERS MAINS:
50 AMP CARTRIDGE 6mm?:7/.036. REFER TO THE
SIZE 50.8mm x14.3mm DIA INSPECTOR/DISTRICT MECHANIC FOR
S.1.22.23.61 FOLLOW UP INSPECTION IF 50 AMP FUSE
F IS USED TO REPLACE ASMALLER FUSE.
45 AMP
S.1.22.23.57
OUTDOOR SERVICE FUSE ON RESIDENTIAL
— STANGER 100 AMP PREMISES WITH THE FOLLOWING SIZES OF
COPPER CONSUMERS MAINS: (V75 UNENCLOSED)
S.I.No's
63 AMP CARTRIDGE 10mm?, 7/.044 & 7/.052 2 CORE
G 22.24.45 SIZE 76.2mm x20.6mm DIA  |16mm?,3 &4 CORE
22.24.46 80 AMP CARTRIDGE 16mm? ,7/.064 2 CORE
- SIZE 76.2mm x20.6mm DIA 25mm2,3&4CORE
100 AMP CARTRIDGE 25mm?, 19/044, 19/.052 2 CORE
— 22.24.47 SIZE 76.2mm x20.6mm DIA 35mm? ,3&4 CORE
NOTE
THE AIM OF ADOPTING THE 100 AMP SERVICE FUSE AS THE BASIC OUTDOOR SERVICE FUSE FOR
H RESIDENTIAL PREMISES WAS (A) TO PROVIDE A ROBUST SERVICE FUSE FITTING WHICH WILL COPE
WITH LOAD GROWTH AND (B) TO DE-RATE THE 55 AMP SERVICE FUSE FOR USE ON THE INSTALLATIONS
;J}LETJLE]O%?J%EERS MAINS SIZES UP TO é6mm" OR 7/.036 MAXIMUM, WHERE A 45 AMP FUSE CARTRIDGE DIMENSIONS ARE IN MILLIMETRES
! UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
X STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
«» trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMSSION OF TASNETWORKS
il TasNetworks e SCALE
- |2 0/H SERVICES NTS
<|z —_ e SERVICE FUSEHOLDERS
e - STANGER - OBSOLETE
w2 DESIGNED BY [ ELECTRO A[%
Ll =] CHECKED BY H.WESTBURY
-
< APPROVED BY | - _ _ _ _ REVISION
DATE APPROVED | 15/APR/19 D OHC A035 SO 003 A

Ver. 2.0 Services Page 1- 9



Overhead Distribution Construction Manual - Miscellaneous Section 1

1.7 Service Fuseholder (Obsolete)
1 | 2 | 3 4 5

\MOUNT\NG BRACKET

PORCELAIN HOUSING

/S.\. 22.17.50 (COMPLETE FITTING)

OBSOLETE FITTING
REPLACE ALL UNITS AT INSTALLATION
WITH CURRENT SERVICE FUSE
WHEN ATTENDING FAULT RESPONSE,
MAINTENANCE OR SERVICE UPGRADES

FUSE

DUMMY FUSE

PLASTIC FUSE HOLDER
S.. 22.18.39

OBSOLETE
FOR REFERENCE ONLY

D APPLICATION OF SERVICE FUSES
NORMAL FUSE CARTRIDGE APPLICATION
- 30 AMP OUTDOOR SERVICE FUSES ON
E?Zéh';zgfniszfmm DIA ANY OLD SIZE STRAND CONSUMERS
S.1.2223.90 MAINS. REFER TO INSPECTOR/DISTRICT
MECHANIC FOR FOLLOW UP INSPECTION.
OUTDOOR SERVICE FUSE FOR THE
E FOLLOWING SIZES OF CONSUMERS
50 AMP CARTRIDGE MAINS: 6mm?; 7/.036. REFER TO
SIZE 57.0mm x22.2mm DIA INSPECTOR/DISTRICT MECHANIC FOR
S..22.23.92 FOLLOW UP INSPECTION IF 50 AMP
1 FUSE IS USED TO REPLACE ASMALLER
FUSE.

OUTDOOR SERVICE FUSE ON RESIDENTIAL
PREMISES WITH THE FOLLOWING SIZES OF
F COPPER CONSUMERS MAINS:

(V75 UNENCLOSED)

10mm?, 7/.044 & 7/.052 2 CORE
16mm?, 7/.064 & 3 & 4 CORE

60 AMP CARTRIDGE

SIZE 57.0mm x22.2mm DIA
S.1.22.23.93

80 AMP CARTRIDGE

SIZE 57.0mm x22.2mm DIA

16mm?, 7/.064 2 CORE
25mm?,19/.044, 19/.052 3 & 4 CORE

S.l.22.23.95
100 AMP CARTRIDGE 2

G SIZE 57.0mm x22.2mm DIA 25mm2 ,19/044, 19/.052 2 CORE
S..22.24.27 35mm?, 19/.064, 3 & 4 CORE

NOTE

1. THE MORLYNN POWER 100 AMP SERVICE FUSE FITTING REPLACED THE STANGER 55 AMP AND 100
AMP SERVICE FUSE FITTING. MAINTAIN EXISTING 55 AMP FUSE AS SPARES FOR MINOR ROAD
LANTERNS WHERE NO REWIREABLE FUSE EXISTS.

H
2. USE M6 x 20L GALVANISED HEXAGONAL HEAD BOLT TO SECURE MOUNTING BRACKET TO SERVICE
FUSE BRACKET OR PLATE AS REQUIRED. DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWNG MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM.
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMSSION OF TASNETWORKS
°|s TasNetworks e SCALE
-2 0/H SERVICES NTS
< |= SERVICE FUSEHOLDERS
o ; ORAWN (5 PRO-SOLUTIONS MORLYNN OB OLETE
w g DESIGNED BY ELECTRO - S AL
Ll K= CHECKED BY H.WESTBURY
-
APPROVED BY - REVISION
< — — — —
DATE APPROVED | 16/APR/19 D O H [ A O 3 5 S D O O a A

Ver. 2.0 Services Page 1- 10



Overhead Distribution Construction Manual - Miscellaneous Section 1

1.8 IPC Installations with satellite connector

The satellite insulation piercing connector enables one or two service cables to be connected
independently of the connection to the aerial bundled cable, that is, it allows for the removal and
subsequent reinstatement of the service cable(s).

The satellite insulation piercing connectors should only be used for temporary supply connections
and where multiple service connections are required on a pole, i.e. more than eight (8) service
connectors.

PROCEDURE FOR INSTALLATION

1. Insert the satellite connector into the mains connector such that the tail end of the satellite
is contained in the grease filled end cap. Ensure that the tail end is located centrally on
piercing teeth of the connector.

NOTE: The satellite connector MUST be used with mains connector S.1. 14.56.20.

2. Tighten the bolt of the connector until shear head releases. The mains and satellite
connectors shall NOT be removed once installed

3. One or two service cables may be connected to the satellite connector. The insulation must
NOT be stripped from the service conductors.

4, Use ratchet spanner D.I. 14.56.42 for tightening the bolt(s) on the satellite connector.

5. Service cable can be removed by untightening the appropriate bolt on the SATELLITE
connector.

LEGEND

1. Aerial bundled cable (LV ABC)

2. Insulation piercing connector (S.I. 14.56.20)

3. End cap filled with grease for sealing “satellite” insulation piercing connector.

4, Plastic shear head

5. Satellite insulation piercing connector (S.1. 14.56.37)

6. Service cable (Cable size 6-35mm?)

Ver. 2.0 Services Page 1- 11



Overhead Distribution Construction Manual - Miscellaneous Section 1

Ver. 2.0 Services Page 1- 12



SECTION 2 - LV
CONSTRUCTIONS



Overhead Distribution Construction Manual - Miscellaneous Section 2

Ver. 1.0 LV Constructions Page 2-2



Overhead Distribution Construction Manual -Miscellaneous Section 2

2 SECTION 2 — LV CONSTRUCTIONS

2 SECTION 2 = LV CONSTRUCTIONS ..ottt 3
OBSOLETE CONSTRUCTIONS - REFERENCE ONLY........coiiiiiiiiiiiiiiiieie et 4
2.1 LV ABC Transition Strain (ABC t0 OPen WIrE) ...cc.ucoiiiiiiieeciieeee et 4
2.2 Intermediate LV OPen WIFE ..ouii ittt et et e e 6
2.3 Intermediate Offset LV OPeN Wil ...cvioiiiieiiceie ettt 8
2.4 Double Pin Intermediate LV Open Wire (ObSOIEte) ...cc.covvieieeiiiiieeiieceeeeeeeeeeee 10
2.5 Dead ENA LV OPEN Wil ..uuiiiiiiiiciee ettt ettt eaee e eareeaa 12
2.6 SErAiN LV OPEN WIFE ..ottt ettt e ettt e e e ettt e e e ettt eeeantneeeeeneeeaeanns 14
2.7 Right Angle Strain LV OPeN Wi ...vioiiiceie ettt 16
2.8 TEE Off LV OPEN Wil€.ouiiiiiiieiieete ettt ettt e sae e e 18
2.9 CroSS OVEI LV OPEN W€ .uiiiiii ettt ettt e e ettt e e e ettt e e e s ntaeeeeennseaeesnnaeeennns 20
2.10 LV Open Wire Service Crossarm for Transformer Pole..........cocoveviiiiieiiiiiiicieceeeeee 22

Ver. 1.0 LV Constructions Page 2-3



Overhead Distribution Construction Manual -Miscellaneous

Section 2

OBSOLETE CONSTRUCTIONS - REFERENCE ONLY

2.1 LV ABC Transition Strain (ABC to Open Wire)

1 | 2 | 3 | 4 5
A
SEE NOTES 3 & 6
BARE Cu
B 1
C
SEe NoTE 1 (510
S
USE IN TRANSITION STRAIN ALUMINIUM CONFIGURATION
D S/LVABC.BARE.C/1/PLM
S/LVABC.BARE.C/3/PLM
S/LVABC150.BARE.C/3/PLM
S/LVABC95.BARE.C/1/PLM
S/LVABC95.BARE.C/3/PLM
E 60A
948
59¢
BARE Al
> — NEUTRAL
- ()
: 3
798 ) HOOK BOLT TO SUIT CABLE SIZE
F o — - CLAMP TO SUIT
45 + <{ & CABLE SIZE
Re —————5
@ LS Rexo)
— - LVABC CABLE IN VARIOUS SIZES
Sk - somm’ 2C - 1 PH
F SEE NOTES 5 & 6 S0mm* 4C - 3 PH
95mm’ 2C - 1 PH
/ 94B 95mm* 4C - 3 PH
G SEE NOTE 1 BARE Al 150mm* 4C - 3 PH
<
USE IN TRANSITION STRAIN ALUMINIUM CONFIGURATION
S/LVABC.BARE.A/1/PLM
S/LVABC.BARE.A/3/PLM
S/LVABC150.BARE.A/3/PLM
H S/LVABC95.BARE.C/1/PLM
S/LVABC95.BARE.C/3/PLM
DIMENSIONS ARE IN MILLIMETRES
SEE_GENERAL NOTES SECTION 2.1 UNLESS OTHERWISE STATED
© Tasmanian Netwarks PTY. LTD. NO PART OF THIS DRAWING NAY BE REPRODUCED,
o frsdng 53 Tosharuorcs SIS TRV St AT Tt
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
2 TasNetworks TITLE
Z 13 LV TRANSITION STRAIN 115
< |z ABC TO OPEN WIRE
< DRAWN (5 PRO-SOLUTIONS
x (=
w (8 DESIGNED BY ELECTRO
o
= e CHECKED BY H.WESTBURY AL
-
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 03/APR/19 D OH[ BOOQ SD OO/‘ A
Ver. 1.0 LV Constructions Page 2-4




Overhead Distribution Construction Manual -Miscellaneous

Section 2

LV ABC Transition Strain (ABC to Open Wire) - Materials List

2

3 | L

ALTERATIONS

MATERIAL LIST

DESIGNED BY ELECTRO

CHECKED BY

H.WESTBURY

Unit Assembly. Store Type Item Ref Stock Item _|Stock Item Description |Quantity
SILVABC BARE ALIPLM s 59C 322723 PIN, INSULATOR 16MM DIA X LV GAL STEEL 1
64A 236243|SWITCHING GROUP,630A/660V X 1P CA MOUNT 1
A 75D 32276|BOLT, HEX HEAD M16 X 150MM GAL. C/W NUT 1
798 325631 |EYE-BOLT,OPEN M16 X 350MM FIXED WASHER 1
948 145630| CONNECTOR, IPC LV ABC 2
978 145603 CLAMP, TENSION 2 X S50MM2 - 2 X 95MM2 ABC 1
60A 320756 INSULATOR, PIN 660V LVLP PORCELAIN 1
100D 168017 END CAP,HEAT SHRINK 17-8MM CABLE RANGE 2
— SILVABC BARE AB/PLM s 59C 322723[PIN,INSULATOR 16MM DIA X LV GAL STEEL 1
64A 236243|SWITCHING GROUP,630A/660V X 1P CA MOUNT 3
75D 32276/ BOLT, HEX HEAD M16 X 150MM GAL. C/W NUT 3
798 EYE-BOLT,OPEN M16 X 350MM FIXED WASHER 1
%48 145630 CONNECTOR, IPC LV ABC 4
97A 145602/ CLAMP, TENSION 4 X 50MM2 ABC 1
60A 320756/ INSULATOR, PIN 660V LVLP PORCELAIN 1
B 100D 168017 END CAP,HEAT SHRINK 17-8MM CABLE RANGE 4
SILVABC5 BARE AILIPLM s 59C 322723 PIN, INSULATOR 16MM DIA X LV GAL STEEL 1
64A 236243|SWITCHING GROUP,630A/660V X 1P CA MOUNT 3
75D 32276|BOLT, HEX HEAD M16 X 150MM GAL. C/W NUT 3
798 325631 |EYE-BOLT,OPEN M16 X 350MM FIXED WASHER 1
948 145630/ CONNECTOR, IPC LV ABC 4
— 97A 145602/ CLAMP, TENSION 4 X 50MM2 ABC 1
60A 320756/ INSULATOR, PIN 660V LVLP PORCELAIN 1
100D 168017 END CAP,HEAT SHRINK 17-8MM CABLE RANGE 4
SILVABCO5, BARE. ABIPLM s 59C 322723[PIN,INSULATOR 16MM DIA X LV GAL STEEL 1
64A 236243|SWITCHING GROUP,630A/660V X 1P CA MOUNT 3
75D 32276[BOLT, HEX HEAD M16 X 150MM GAL. C/W NUT 3
C 79D TBA |EVE-BOLT,OPEN M20 X 350MM FIXED WASHER 1
%48 145630 CONNECTOR, IPC LV ABC 4
97A 145602/ CLAMP, TENSION 4 X 50MM2 ABC 1
60A 320756/ INSULATOR, PIN 660V LVLP PORCELAIN 1
100D 168017 END CAP,HEAT SHRINK 17-8MM CABLE RANGE 4
SILVABC150 BARE AI3/PLM s 59C 322723 PIN,INSULATOR 16MM DIA X LV GAL STEEL 1
64A 236243/ SWITCHING GROUP,630A/660V X 1P CA MOUNT 3
— 75D 32276|BOLT,HEX HEAD M16 X 150MM GAL. C/W NUT 3
790 TBA |EVE-BOLT,OPEN M20 X 350MM FIXED WASHER 1
948 145630/ CONNECTOR, IPC LV ABC 4
97A 145607| CLAMP, TENSION 4 X 95MM2 - 4 X150MM2 ABC 1
60A 320756/ INSULATOR, PIN 660V LVLP PORCELAIN 1
100D 168017|END CAP,HEAT SHRINK 17-8MM CABLE RANGE 4
D SILVABC BARE C/L/PLM s 55H 146856/ CONNECTOR, CLAMP C SPLIT BOLT 70MM2 MAX 2
59C 322723 PIN,INSULATOR 16MM DIA X LV GAL STEEL 1
64A 236243|SWITCHING GROUP,630A/660V X 1P CA MOUNT 1
75D 32276|BOLT, HEX HEAD M16 X 150MM GAL. C/W NUT 1
798 325631 |EYE-BOLT,OPEN M16 X 350MM FIXED WASHER 1
94c 145620/ CONNECTOR, IPC LV ABC 3
94D 145619/ CONNECTOR, IPC LV ABC 1
| 978 145603 | CLAMP, TENSION 2 X 50MM2 - 2 X 95MM2 ABC 1
51D 103217|CABLE, 1CORE X 16MM2 X 7/1.70X 0.6/1V75 1
60A 320756/ INSULATOR, PIN 660V LVLP PORCELAIN 1
100D 168017 END CAP,HEAT SHRINK 17-8MM CABLE RANGE 2
SILVABC BARE C/3/PLM B 55H 146856/ CONNECTOR, CLAMP C SPLIT BOLT 70MM2 MAX 2
59C 322723[PIN, INSULATOR 16MM DIA X LV GAL STEEL 1
E 64A 236243|SWITCHING GROUP, 630A/660V X 1P CA MOUNT 3
75D 32276|BOLT, HEX HEAD M16 X 150MM GAL. C/W NUT 3
798 325631 |EYE-BOLT,OPEN M16 X 350MM FIXED WASHER 1
94c 145620/ CONNECTOR, IPC LV ABC 3
94D 145619/ CONNECTOR, IPC LV ABC 1
97A 145602|CLAMP, TENSION 4 X 50MM2 ABC 1
51D 103217‘CABLE,1COREX 16MM2 X 7/1.70X 0.6/1V75 1
| 60A 320756/ INSULATOR, PIN 660V LVLP PORCELAIN 1
100D 168017 END CAP,HEAT SHRINK 17-8MM CABLE RANGE 4
SILVABC95.BARE C/1/PLM S 55H 146856/ CONNECTOR, CLAMP C SPLIT BOLT 70MM2 MAX 2
59C 322723|PIN,INSULATOR 16MM DIA X LV GAL STEEL 1
64A 236243|SWITCHING GROUP,630A/660V X 1P CA MOUNT 3
75D 32276|BOLT, HEX HEAD M16 X 150MM GAL. C/W NUT 3
F 798 325631 |EYE-BOLT,OPEN M16 X 350MM FIXED WASHER 1
94C 145620/ CONNECTOR, IPC LV ABC 3
94D 145619/ CONNECTOR, IPC LV ABC 1
97A 145602/ CLAMP, TENSION 4 X 50MM2 ABC 1
51D 103217|CABLE, 1CORE X 16MM2 X 7/1.70X 0.6/1V75 1
60A 320756/ INSULATOR, PIN 660V LVLP PORCELAIN 1
100D 168017 END CAP,HEAT SHRINK 17-8MM CABLE RANGE 4
SILVABC5 BARE.C/3/PLM s 55H 146856/ CONNECTOR, CLAMP C SPLIT BOLT 70MM2 MAX 2
59C 322723[PIN,INSULATOR 16MM DIA X LV GAL STEEL 1
64A 236243|SWITCHING GROUP,630A/660V X 1P CA MOUNT 3
75D 32276[BOLT, HEX HEAD M16 X 150MM GAL. C/W NUT 3
79D TBA |EVE-BOLT,OPEN M20 X 350MM FIXED WASHER 1
%4c 145620 CONNECTOR, IPC LV ABC 3
€] 94D 145619/ CONNECTOR, IPC LV ABC 1
976 145607|CLAMP, TENSION 4 X 95MM2 - 4 X150MM2 ABC 1
51D 103217|CABLE, 1CORE X 16MM2 X 7/1.70X 0.6/1V75 1
60A 320756 INSULATOR, PIN 660V LVLP PORCELAIN 1
100D 168017 END CAP,HEAT SHRINK 17-8MM CABLE RANGE 4
SILVABC150 BARE C/3/PLM s 55H 146856/ CONNECTOR, CLAMP C SPLIT BOLT 70MM2 MAX 2
59C 322723 |PIN,INSULATOR 16MM DIA X LV GAL STEEL 1
64A 236243|SWITCHING GROUP,630A/660V X 1P CA MOUNT 3
75D 32276[BOLT, HEX HEAD M16 X 150MM GAL. C/W NUT 3
79D TBA |EVE-BOLT,OPEN M20 X 350MM FIXED WASHER 1
94c 145620/ CONNECTOR, IPC LV ABC 3
94D 145619/ CONNECTOR, IPC LV ABC 1
976 145607| CLAMP, TENSION 4 X 95MM2 - 4 X150MM2 ABC 1
H 51D 103217|CABLE, 1CORE X 16MM2 X 7/1.70X 0.6/1V75 1
60A 320756 INSULATOR, PIN 660V LVLP PORCELAIN 1
100D 168017 END CAP,HEAT SHRINK 17-8MM CABLE RANGE 4
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
fruding as TasNetworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
OR TRANSMITTED BY ANY MEANS WITHOUT THE
ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
w
> TITLE SCALE
2 TasNetworks LV TRANSITION STRAIN NTS
- ABC TO OPEN WIRE
< DRAWN (5 PRO-SOLUTIONS
=
=
=4
[=}

Ak

APPROVED BY

A KETLEY

DATE APPROVED | 03/APR/19

D - OHC =

BOOY

REVISION

SD - 002 A

Ver. 1.0

LV Constructions

Page 2-5



Overhead Distribution Construction Manual -Miscellaneous Section 2

2.2 Intermediate LV Open Wire

1 | 2 | 3 L 5
A
- l%i\ 0 59C
3
1%
- 4 ® B + |
. ) G
B 86B
o
2A
C
—
D
/@[ONDU[TOR TIE TO SUIT CONDUCOR SIZE/TYPE
2
ﬁiﬁ -
2
E ;
F
L L
G
APL Nos
H 1/LV/1/FRP /PLM
NOTES 1/LV/2/FRP/PLM
1. LOCK NUTS TO BE INSTALLED ON ALL 1/LV/3/FRP/PLM DIMENSIONS ARE IN MILLIMETRES
BOLTS PASSING THROUGH POLE. 1/LV=9/3/PLM UNLESS OTHERWISE STATED
i NO PART OF THIS DRAWING MAY BE REPRODUCED,
" © Jasmanian Networks PTY. LTD. STORED IN A RETREEVAL SYSTEM IN ANY FORM,
rading as fasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |w
212 TasNetworks Tine SCALE
a INTERMEDIATE - LV OPEN WIRE .
— | 1.25
<2
x |Z DRAWN (5 PRO-SOLUTIONS
(=}
w = DESIGNED BY ELECTRO AL
=|e CHECKED BY H.WESTBURY
-
APPROVED BY | - REVISION
< —_ — _ _
DATE APPROVED | 04/APR/19 D O H [ B O /‘ 2 S D O O /‘ A

Ver. 1.0 LV Constructions Page 2-6



Overhead Distribution Construction Manual -Miscellaneous

Section 2

Intermediate - LV Open Wire - Materials List

1 | 2 | 3 A
A
Unit Assembly Store Type | Item Ref | Stock Item |Stock Item Description Quantity
I/LVI1/FRP/PLM S 74F 32224 Bolt Hex M12 X 130 2
75K 32285 Bolt Hex M16 X 280 1
B 75R 32291 Bolt Hex M16 X 425 1
86A 65157 Washer Els 12 2
86B 65158 Washer Els 16 2
60A 320756 |Insulator Pin LV 2
L 59C 322723 |Pin,Insulator LV 2
2A 323314 |Crossarm Strap Mk14 1
1A 323215 |Crossarm Fibre Reinforced Plastic 100x100x1830 long 1
I/LVI2/FRP/PLM S T4F 32224 Bolt Hex M12 X 130 2
C 75K 32285 Bolt Hex M16 X 280 1
75R 32291 Bolt Hex M16 X 425 1
86A 65157 Washer Els 12 2
868 65158 Washer Els 16 2
[ 60A 320756 |Insulator Pin LV 3
59C 322723 |Pin,Insulator LV 3
1A 323215 |Crossarm Fibre Reinforced Plastic 100x100x1830 long 1
2A 323314 |Crossarm Strap Mk14 2
D I/LVI3/FRP/PLM S T74F 32224 Bolt Hex M12 X 130 2
75K 32285 Bolt Hex M16 X 280 1
75R 32291 Bolt Hex M16 X 425 1
86A 65157 Washer Els 12 2
— 868 65158 Washer Els 16 2
60A 320756 |Insulator Pin LV 4
59C 322723 |Pin,Insulator LV 4
1A 323215 |Crossarm Fibre Reinforced Plastic 100x100x1830 long 1
E 2A 323314 |Crossarm Strap Mk14 2
1/LV-9/3/PLM S 74F 32224 Bolt Hex M12 X 130 2
75K 32285 Bolt Hex M16 X 280 1
75R 32291 Bolt Hex M16 X 425 1
— 86A 65157 Washer Els 12 2
86B 65158 Washer Els 16 2
60A 320756 |Insulator Pin LV 4
59C 322723 |Pin,Insulator LV 4
F ic 323212 |Crossarm Treated Wood Mk3 Dressed 100x100x2750 long 1
2A 323314 |Crossarm Strap Mk14 2
G
H
o O g os Tastarvane | Gy Rt & A
= - ABN: 24 167 357 299 PRIOR OF TASNETWORKS
=] SCALE
-3 TasNetworks | "™ |\ TERMEDIATE - LV OPEN WIRE NTS
< | MATERIALS LIST
o | = DRAWN €5 PRO-SOLUTIONS
w |8 DESIGNED BY [ ELECTRO
S CHECKED BY HWESTBURY AA
< ony - D - OHC - BO012 - SD - 002
DATE APPROVED [ 04/APR/19 A
Ver. 1.0 LV Constructions Page 2-7



Overhead Distribution Construction Manual -Miscellaneous Section 2
2.3 Intermediate Offset LV Open Wire
1 | 2 | 3 4 5

A
i i i
s}
- = S —
i :
B
>
o
[
1 a
o
= SEE SECTION 13.5 FOR STEELWORK
£ DETAILS
)
C
&
—
D % — 3
1
1
1
E |
F
b
<]
G
NOTES
1. LOCK NUTS TO BE INSTALLED ON ALL
BOLTS PASSING THROUGH POLE.
2. FOR STEEL/CONCRETE POLE SUBSTITUTE
H ITEM 75 AND 75L FOR 75N AND 75S.
DIMENSIONS ARE IN MILLIMETRES
APL Nos. Offset/LV/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETREVAL SYSTEM IN ANY FORM,
© trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
~ 1R TasNetworks TITE SEALE
— |2 INTERMEDIATE OFFSET - LV OPEN WIRE 1.25
< |—
o 2 DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
=4
Ll K= CHECKED BY H.WESTBURY A L
-
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 28/NOV/18 D O H [ B O /‘ 3 S D O O T A
Ver. 1.0 LV Constructions Page 2-8



Overhead Distribution Construction Manual -Miscellaneous Section 2

Intermediate Offset LV Open Wire - Materials List

1 | 2 | 3 | L 5
A
B
Unit Assembly Store Type| Item Ref |Stock Item|Stock Item Description Quantity
Offset/LV/3/PLM S 1C 323212 |CROSSARM,OFFSET LV 75X75X6X2560MM 1
C 1l 323415 |Strut, LV Offset Crossarm 1
59C 322723 |PIN,INSULATOR 16MM DIA X LV GAL STEEL 4
75P 32289 [BOLT,HEX HEAD M16 X 375MM GAL. C/W NUT 1
| 75T 32293 [BOLT,HEX HEAD M16 X 475MM GAL. C/W NUT 1
86B 65158 [WASHER,FLAT ROUND M16 X 50MM GAL 2
60A 320756 |INSULATOR,PIN 660V LVLP PORCELAIN 4
D
E
F
G
H
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 fradng as Toskerworcs o A T
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |w SCALE
-2 TasNetworks | "\ TERMEDIATE OFFSET - LV OPEN WIRE NTS
< |2 MATERIAL LIST
o« ; DRAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
: g (HECKED BY H.WESTBURY AA
<t APPROVED BY A KETLEY REVISION
DATE APPROVED | 04/APR/19 D - O H [ - B O /‘ 3 - S D - O O 2 A

Ver. 1.0 LV Constructions Page 2-9



Overhead Distribution Construction Manual -Miscellaneous Section 2

2.4 Double Pin Intermediate LV Open Wire (Obsolete)

1 | 2 | 3 | 4 | 5
A OBSOLETE - FOR REFERENCE ONLY
59C
B
C
L
D
TIE TO SUIT CONDUCTOR
SIZE/TYPE
377 —
= 1
E - 86B
2
2
75K
F
<=
G
H APL Nos
D/LV/1/FRP/PLM
D/LV/2/FRP/PLM DIMENSIONS ARE IN MILLIMETRES
D/LV/3/FRP/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR F OF TASNETWORKS
°ls TasNetworks T SCALE
— 8 DOUBLE PIN INTERMEDIATE LV OPEN WIRE 1:25
< |z OBSOLETE - FOR REFERENCE ONLY
o ; ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
o
Ll K= (HECKED BY H.WESTBURY A[”
-
< APPROVED BY | - _ _ _ _ REVISION
DATE APPROVED | 04/APR/19 D O H [ B O W [4' S D O O W A

Ver. 1.0 LV Constructions Page 2-10



Overhead Distribution Construction Manual -Miscellaneous Section 2

Double Pin Intermediate LV - Materials List (Obsolete)
1 | 2 | 3 | L 5

’ OBSOLETE - FOR REFERENCE ONLY

Unit Assembly Store Type| Item Ref |Stock Item|Stock Item Description Quantity
D/LV/1/FRP/PLM S 1A 323215 |CROSSARM,FIBREGLASS, 100X100X1830MM LONG 2
B 59C 322723 |PIN,INSULATOR 16MM DIA X LV GAL STEEL
74F 32224 |BOLT,HEX HEAD M12 X 130MM GAL. C/W NUT
75K 32285 |BOLT,HEX HEAD M16 X 280MM GAL. C/W NUT
1 75R 32291 |BOLT,HEX HEAD M16 X 425MM GAL. C/W NUT

86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL

C 2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL

60A 320756 |INSULATOR,PIN 660V LVLP PORCELAIN
D/LVI2/FRP/PLM S 1A 323215 |CROSSARM,FIBREGLASS, 100X100X1830MM LONG
- 59C 322723 |PIN,INSULATOR 16MM DIA X LV GAL STEEL

74F 32224 |BOLT,HEX HEAD M12 X 130MM GAL. C/W NUT
75K 32285 |BOLT,HEX HEAD M16 X 280MM GAL. C/W NUT

D 75R 32291 |BOLT,HEX HEAD M16 X 425MM GAL. C/W NUT
86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL
86C 65159 |WASHER,FLAT ROUND M20 X 60MM GAL

2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL
60A 320756 |INSULATOR,PIN 660V LVLP PORCELAIN
D/LVI3/FRP/PLM S 1A 323215 |CROSSARM,FIBREGLASS, 100X100X1830MM LONG
59C 322723 |PIN,INSULATOR 16MM DIA X LV GAL STEEL
74F 32224 |BOLT,HEX HEAD M12 X 130MM GAL. C/W NUT
75K 32285 |BOLT,HEX HEAD M16 X 280MM GAL. C/W NUT
| 75R 32291 |BOLT,HEX HEAD M16 X 425MM GAL. C/W NUT
86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL
F 86C 65159 |WASHER,FLAT ROUND M20 X 60MM GAL
2A 323314 |BRACE,CROSSARM 40X 700 X 5MM THICK GAL
60A 320756 |INSULATOR,PIN 660V LVLP PORCELAIN

OO lOW IR |MlOIVIO M O|IAMWIRPIAMOINIAIAMAdMDdDIWIRP|dMD

G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
© trading as TasNetworks 5% TRANSHITTED BY. ANY HEARS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |w TITLE SCALE
-2 TasNetworks DOUBLE PIN INTERMEDIATE LV OPEN WIRE NTS
< 3‘ DRAWN (5 PRO-SOLUTIONS MATERIAL L‘ST
|2 - OBSOLETE - FOR REFERENCE ONLY
w | = DESIGNED BY ELECTRO A["
o
: o CHECKED BY HMWESTBURY
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 04/APR/19 D O H [ B O W [4' S D O O 2 A

Ver. 1.0 LV Constructions Page 2-11



Overhead Distribution Construction Manual -Miscellaneous Section 2
2.5 Dead End LV Open Wire
1 | 2 | 3 4 5
A
\
B —
e - & ® o 1 et
i I h: o
B =/
N
C
— <<=
D
((53) HELICAL TERMINATION TO
= N SUIT CABLE SIZE/TYPE
E s 17A X750
F
(1 L
G
NOTES
1. LOCK NUTS TO BE INSTALLED ON
H ALL BOLTS PASSING THROUGH POLE. APL Nos: DE/LV/1/FRP/PLM
2. ALUMINIUM DROPPERS TO BE SLEEVED DE/LV/2/FRP/PLM
WITH BLACK PVC TUBING AND ALL DE/LV/3/FRP/PLM DIMENSIONS ARE IN MILLIMETRES
LEAD CONNECTIONS TO BE MADE TO BRIDGES DE/LV-9/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
> TasNetworks e STALE
-2 DEAD END - LV OPEN WIRE 125
<|Z
x [Z DRAWN (5 PRO-SOLUTIONS
o
w = DESIGNED BY TASNETWORKS AL
Ll = CHECKED BY (5 PRO-SOLUTIONS
p APPROVED BY REVISION
< _ _ _ _
OATE APPROVED | 04/APR/19 D O H [ B O /‘ 5 S D O O /‘ A
Ver. 1.0 LV Constructions Page 2-12




Overhead Distribution Construction Manual -Miscellaneous Section 2

Dead End LV Open Wire — Materials List

1 | 2 | 3 4 5
A
— Unit Assembly Store Type| Iltem Ref |Stock ltem|Stock ltem Description Quantity
DE/LV/1/FRP/PLM S 17A 323331 [BRACKET,INSULATOR 50X3X630MM F-STRAP
1A 323215 [CROSSARM,FIBREGLASS, 100X100X1830MM LONG
B 60C 321117 [INSULATOR,STRAIN 80MM SHLV2 PORCELAIN
74E 32223 |BOLT,HEX HEAD M12 X 120MM GAL. C/W NUT
74G 32225 |BOLT,HEX HEAD M12 X 140MM GAL. C/W NUT
75D 32276 |BOLT,HEX HEAD M16 X 150MM GAL. C/W NUT
. 75K 32285 |BOLT,HEX HEAD M16 X 280MM GAL. C/W NUT
75T 32293 |BOLT,HEX HEAD M16 X 475MM GAL. C/W NUT
86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL
C 86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL
2A 323314 [BRACE,CROSSARM 40 X 700 X 5MM THICK GAL
DE/LV/2/FRP/PLM S 17A 323331 [BRACKET,INSULATOR 50X3X630MM F-STRAP

1A 323215 |CROSSARM,FIBREGLASS, 100X100X1830MM LONG
1 60C 321117 |INSULATOR,STRAIN 80MM SHLV2 PORCELAIN

74E 32223 |BOLT,HEX HEAD M12 X 120MM GAL. C/W NUT
74G 32225 |BOLT,HEX HEAD M12 X 140MM GAL. C/W NUT

D 75D 32276 |BOLT,HEX HEAD M16 X 150MM GAL. C/W NUT
75K 32285 |BOLT,HEX HEAD M16 X 280MM GAL. C/W NUT
75T 32293 |BOLT,HEX HEAD M16 X 475MM GAL. C/W NUT
86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL

| 86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL

2A 323314 |BRACE,CROSSARM 40 X 700 X SMM THICK GAL
DE/LV/3/FRP/PLM S 17A 323331 |BRACKET,INSULATOR 50X3X630MM F-STRAP

E 1A 323215 |CROSSARM,FIBREGLASS, 100X100X1830MM LONG
60C 321117 [INSULATOR,STRAIN 80MM SHLV2 PORCELAIN

74E 32223 |BOLT,HEX HEAD M12 X 120MM GAL. C/W NUT
74G 32225 |BOLT,HEX HEAD M12 X 140MM GAL. C/W NUT
75D 32276 |BOLT,HEX HEAD M16 X 150MM GAL. C/W NUT
75K 32285 |BOLT,HEX HEAD M16 X 280MM GAL. C/W NUT
75T 32293 |BOLT,HEX HEAD M16 X 475MM GAL. C/W NUT

F 86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL

AlWIR|A|IR|RIAIN|R|P|IO[(R|WIR|WIRIWIWIN|IW[R|O|A|WIRLINIAININININ

86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 10
2A 323314 |BRACE,CROSSARM 40 X 700 X SMM THICK GAL 4
DE/LV-9/3/PLM s 17A | 323331 |BRACKET,INSULATOR 50X3X630MM F-STRAP 4
] 1C_ | 323212 |CROSSARM,WOOD 100 X 100 X 2750MM LONG 2
60C 321117 [INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 4
74E | 32223 [BOLT,HEX HEAD M12 X 120MM GAL. C/W NUT 4
G 74G__| 32225 [BOLT,HEX HEAD M12 X 140MM GAL. C/W NUT 4
75D | 32276 [BOLT,HEX HEAD M16X 150MM GAL. C/W NUT 4
75K 32285 |BOLT,HEX HEAD M16 X 280MM GAL. C/W NUT 1
75T | 32293 [BOLT,HEX HEAD M16 X 475MM GAL. C/W NUT 3
B 86A | 65157 |WASHER,FLATROUND M12X 37MM GAL 4
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 10
2A 323314 |BRACE,CROSSARM 40 X 700 X 5SMM THICK GAL 4
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
© trading as TasNetworks R TRANSHITTED BY ANY, HEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TITLE SCALE
I TasNetworks DEAD END - LV OPEN WIRE NTS
<|=2 MATERIAL LIST
a <Zt ORAWN (5 PRO-SOLUTIONS
w <] DESIGNED BY ELECTRO
: g CHECKED BY ELECTRO AL
<C APPROVED BY A KETLEY _ _ _ _ REVISION
DATE APPROVED | 04/APR/19 D O H [ B O T 5 S D O O 2 A

Ver. 1.0 LV Constructions Page 2-13



Overhead Distribution Construction Manual -Miscellaneous

Section 2

2.6 Strain LV Open Wire

1 | 2 | 4
A
B
C
— DS -
D
CONDUCTOR TIE TO suim (54
CONDUCTOR SIZE/TYPE G (55 DOR((S6 ) COMPRESSION SLEEVE
OR CLAMP CONNECTORS
o
s}
E 2
~
HELICAL TERMINATION
- TO SUIT CABLE SIZE/TYPE ((53 )
F
L=
G
H APL Nos: S/LV/1/FRP/PLM
NOTES S/LV/2/FRP/PLM
1. LOCK NUTS TO BE INSTALLED ON S/LV/3/FRP/PLM DIMENSIONS ARE IN MILLIMETRES
ALL BOLTS PASSING THROUGH POLE. S/LV-9/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |y SCALE
Z 132 TasNetworks TLE
ol I STRAIN - LV OPEN WIRE 175
<C |
o 2 ORAWN (S5 PRO-SOLUTIONS
w (S DESIGNED BY ELECTRO
o
= [e (HECKED BY H.WESTBURY AA
= REVISION
< APPROVED BY - _ _ _ _
DATE APPROVED | 04/APR/19 D O H [ B O /‘ 6 S D O O /‘ A
Ver. 1.0 LV Constructions Page 2-14



Overhead Distribution Construction Manual -Miscellaneous Section 2

Strain LV Open Wire - Materials List

1 | 2 | 3 4 5
Unit Assembly Store Type| Item Ref [Stock Item |Stock Item Description Quantity
S/LV/I1/FRP/PLM S 17A 323331 |BRACKET,INSULATOR 50X3X630MM F-STRAP 4
A 1A 323215 |CROSSARM,FIBREGLASS, 100X100X1830MM LONG
59C 322723 |PIN,INSULATOR 16MM DIAXLV GAL STEEL 2
60C 321117 |[INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 4
74E 32223 BOLT,HEXHEAD M12 X 120MM GAL. C/W NUT 4
I 74F 32224 BOLT,HEXHEAD M12 X 130MM GAL. C/W NUT 4
75D 32276 BOLT,HEXHEAD M16 X 150MM GAL. C/W NUT 4
75K 32285 BOLT,HEXHEAD M16 X 280MM GAL. C/W NUT 1
75R 32291 BOLT,HEXHEAD M16 X 425MM GAL. C/W NUT 3
B 82A 40441 NUT,HEXM16 THREAD GALANISED STEEL 4
86A 65157 WASHER,FLAT ROUND M12 X 37MM GAL 4
86B 65158 WASHER,FLAT ROUND M16 X 50MM GAL 10
2A 323314 |BRACE,CROSSARM40 X700 X5MM THICK GAL 4
| 60A 320756 |[INSULATOR,PIN 660V LVLP PORCELAIN 2
S/LVI2/FRP/PLM S 17A 323331 |BRACKET,INSULATOR 50X3X630MM F-STRAP 6
1A 323215 |CROSSARM,FIBREGLASS, 100X100X1830MM LONG 2
C 59C 322723 |PIN,INSULATOR 16MM DIAX LV GAL STEEL 3
60C 321117 |INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 6
74E 32223 BOLT,HEXHEAD M12 X 120MM GAL. C/W NUT 6
74F 32224 BOLT,HEXHEAD M12 X 130MM GAL. C/W NUT 4
— 75D 32276 BOLT,HEXHEAD M16 X 150MM GAL. C/W NUT 6
75K 32285 BOLT,HEXHEAD M16 X 280MM GAL. C/W NUT 1
75R 32291 BOLT,HEXHEAD M16 X 425MM GAL. C/W NUT 3
82A 40441 NUT,HEXM16 THREAD GALANISED STEEL 4
D 86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL 4
86B 65158 WASHER ,FLAT ROUND M16 X50MM GAL 12
2A 323314 |BRACE,CROSSARM40 X700 X5MM THICK GAL 4
60A 320756 |[INSULATOR,PIN 660V LVLP PORCELAIN 3
| S/LVI3/FRP/PLM S 17A 323331 |BRACKET,INSULATOR 50X3X630MM F-STRAP 8
1A 323215 |CROSSARMFIBREGLASS, 100X100X1830MM LONG 2
59C 322723 |PIN,INSULATOR 16MM DIAX LV GAL STEEL 4
E 60C 321117 |INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 8
74E 32223 BOLT,HEXHEAD M12 X 120MM GAL. C/W NUT 8
74F 32224 BOLT,HEXHEAD M12 X 130MM GAL. C/W NUT 4
75D 32276 BOLT,HEXHEAD M16 X 150MM GAL. C/W NUT 8
— 75K 32285 BOLT,HEXHEAD M16 X 280MM GAL. C/W NUT 1
75R 32291 BOLT,HEXHEAD M16 X 425MM GAL. C/W NUT 3
82A 40441 NUT,HEXM16 THREAD GALANISED STEEL 4
86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL 4
F 86B 65158 WASHER,FLAT ROUND M16 X50MM GAL 14
2A 323314 |BRACE,CROSSARM40 X700 X5MM THICK GAL 4
60A 320756 |INSULATOR,PIN 660V LVLP PORCELAIN 4
S/LV-9/3/PLM S 17A 323331 |BRACKET,INSULATOR 50X3X630MM F-STRAP 8
| 1C 323212 |CROSSARMWOOD 100 X100 X2750MM LONG 2
59C 322723 |PIN,INSULATOR 16MM DIA XLV GAL STEEL 4
60C 321117 |INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 8
G 74E 32223 BOLT,HEXHEAD M12 X 120MM GAL. C/W NUT 8
74F 32224 BOLT,HEXHEAD M12 X 130MM GAL. C/W NUT 4
75D 32276 BOLT,HEXHEAD M16 X 150MM GAL. C/W NUT 8
75K 32285 BOLT,HEXHEAD M16 X 280MM GAL. C/W NUT 1
— 75R 32291 BOLT,HEXHEAD M16 X425MM GAL. C/W NUT 3
82A 40441 NUT,HEXM16 THREAD GALANISED STEEL 4
86A 65157 WASHER,FLAT ROUND M12 X 37MM GAL 4
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 14
H 2A 323314 |BRACE,CROSSARM40 X700 X5MM THICK GAL 4
60A 320756 |INSULATOR,PIN 660V LVLP PORCELAIN 4
i NO PART OF THIS DRAWING MAY BE REPRODUCED,
- O g s Yot 110 SR ST B
i w ABN: 24 167 357 299 PRIOR P OF TASNETWORKS __
-2 TasNetworks | ™S 1RAIN - LV OPEN WIRE NTS
< |2 MATERIAL LIST
o |= DRAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
: S CHECKED BY | HWESTBURY AA
APPROVED BY | A KETLEY REVISION
h DATE APPROVED | 04/APR/19 D - OHC - BO16 — SD = 002 A

Ver. 1.0 LV Constructions Page 2-15



Overhead Distribution Construction Manual -Miscellaneous Section 2
2.7 Right Angle Strain LV Open Wire
1 | 2 [ L 5

A
. _
T3]
1 @
: g
-
2 17A 75D 60C TLE
C
D

HELICAL TERMINATION
E| 7O SUIT CABLE SIZE/TYPE

CONDUCTOR TIE TO SUIT
CONDUCTOR SIZE/TYPE

COMPRESSION SLEEVE
OR CLAMP CONNECTORS

L
F
Q|
-
A NOTES
1. LOCK NUTS TO BE INSTALLED ON
ALL BOLTS PASSING THROUGH POLE.
G 2. ALUMINIUM DROPPERS TO BE SLEEVED
WITH BLACK PVC TUBING AND ALL
b LEAD CONNECTIONS TO BE MADE TO
BRIDGES.
o o
H
APL Nos: RS/LV/1/FRP/PLM
RS/LV/2/FRP/PLM DIMENSIONS ARE IN MILLIMETRES
RS/LV/3/FRP/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
12 TasNetworks e SCALE
7 RIGHT ANGLE - STRAIN - LV OPEN WIRE 1.25
; g ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
-4
Ll K= (HECKED BY H.WESTBURY AA
-
< = D - OHC - BO017 - SD - 001
DATE APPROVED | 04/APR/19 A
Ver. 1.0 LV Constructions Page 2-16



Overhead Distribution Construction Manual -Miscellaneous

Section 2

Aright Angle Strain LV Open Wire — Materials List

1 2 | | 4
A
Unit Assembly Store Type Item Ref Stock Item |Stock Item Description Quantity
RS/LV/1/FRP/PLM S 17A 323331 BRACKET,INSULATOR 50X3X630MM F-STRAP 4
1 1A 323215 CROSSARM,FIBREGLASS, 100X100X1830MM LONG
59C 322723 PIN,INSULATOR 16MM DIA XLV GAL STEEL 2
60C 321117 INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 2
74E 32223 BOLT,HEXHEAD M12 X 120MM GAL. C/W NUT 4
B 74G 32225 BOLT,HEXHEAD M12 X 140MM GAL. C/W NUT 8
75D 32276 BOLT,HEXHEAD M16 X 150MM GAL. C/W NUT 4
75K 32285 BOLT,HEXHEAD M16 X 280MM GAL. C/W NUT 2
— 75R 32291 BOLT,HEXHEAD M16 X 425MM GAL. C/W NUT 6
86A 65157 WASHER,FLAT ROUND M12 X 37MM GAL 8
86B 65158 WASHER,FLAT ROUND M16 X 50MM GAL 4
2A 323314 BRACE,CROSSARM 40 X700 X5MM THICK GAL 8
t 60A 320756 INSULATOR,PIN 660V LVLP PORCELAIN 2
RS/LV/2/[FRP/PLM S 17A 323331 BRACKET,INSULATOR 50X3X630MM F-STRAP 6
1A 323215 CROSSARM,FIBREGLASS, 100X100X1830MM LONG 4
- 59C 322723 PIN,INSULATOR 16MM DIA XLV GAL STEEL 4
60C 321117 INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 4
74E 32223 BOLT,HEXHEAD M12 X 120MM GAL. C/W NUT 6
D 74G 32225 BOLT,HEXHEAD M12 X 140MM GAL. C/W NUT 8
75D 32276 BOLT,HEXHEAD M16 X 150MM GAL. C/W NUT 6
75K 32285 BOLT,HEXHEAD M16 X 280MM GAL. C/W NUT 2
75R 32291 BOLT,HEXHEAD M16 X 425MM GAL. C/W NUT 6
] 86A 65157 WASHER,FLAT ROUND M12 X 37MM GAL 8
86B 65158 WASHER,FLAT ROUND M16 X 50MM GAL 6
2A 323314 BRACE,CROSSARM 40 X700 X5MM THICK GAL 8
E 60A 320756 INSULATOR,PIN 660V LVLP PORCELAIN 4
RS/LV/3/FRP/PLM S 17A 323331 BRACKET,INSULATOR 50X3X630MM F-STRAP 8
1A 323215 CROSSARM,FIBREGLASS, 100X100X1830MM LONG 4
] 59C 322723 PIN,INSULATOR 16MM DIA XLV GAL STEEL 4
60C 321117 INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 4
74E 32223 BOLT,HEXHEAD M12 X 120MM GAL. C/W NUT 8
74G 32225 BOLT,HEXHEAD M12 X 140MM GAL. C/W NUT 8
F 75D 32276 BOLT,HEXHEAD M16 X 150MM GAL. C/W NUT 8
75K 32285 BOLT,HEXHEAD M16 X 280MM GAL. C/W NUT 2
75R 32291 BOLT,HEXHEAD M16 X 425MM GAL. C/W NUT 6
— 86A 65157 WASHER,FLAT ROUND M12 X 37MM GAL 8
86B 65158 WASHER,FLAT ROUND M16 X 50MM GAL 6
2A 323314 BRACE,CROSSARM 40 X700 X5MM THICK GAL 8
G 60A 320756 INSULATOR,PIN 660V LVLP PORCELAIN 4
H
. OlmT L e
z " ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS -
-2 TasNetworks 1" RIGHT ANGLE - STRAIN - LV OPEN WIRE NTS
< 2‘ DRAWN (5 PRO-SOLUTIONS MATER‘AL L‘ST
E E DESIGNED BY ELECTRO
: g (HECKED BY H.WESTBURY A[”
APPROVED BY [ A KETLEY REVISION
h DATE APPROVED | 04/APR/19 D - O H [ - B O /‘ 7 - S D - O O 2 A
Ver. 1.0 LV Constructions Page 2-17



Overhead Distribution Construction Manual -Miscellaneous

Section 2

2.8 Tee Off LV Open Wire

1 | 2 | 3 L
A
CONDUCTOR TIE TO SUIT
CONDUCTOR SIZE/TYPE
((s5 )OR COMPRESSION SLEEVE
— REFER TO RELEVANT OR CLAMP CONNECTORS
LV ARRANGEMENT
. S —
=
[Tl
B
=
3
~
=
=
<
I
C 3
~
D
I ° ® \ -
Bl B
E
60A X 59¢C V
CONDUCTOR TIE TO sulr (5& - (53)
53 ) HELICAL TERMINATION
CONDUCTOR SIZE/TYPE TO SUIT CABLE SIZE/TYPE
868 17A X 75D
F
G
NOTES
1. LOCK NUTS TO BE INSTALLED ON
H ALL BOLTS PASSING THROUGH POLE.
2. ALUMINIUM DROPPERS TO BE SLEEVED APL Nos: T/LV/1/FRP
WITH BLACK PVC TUBING AND ALL LEAD T/LV/2/FRP DIMENSIONS ARE IN MILLIMETRES
CONNECTIONS TO BE MADE TO BRIDGES T/LV/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
; STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
« trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |y SCALE
~ 13 TasNetworks TITLE
-2 TEE OFF - LV OPEN WIRE 125
< | =
o 2 ORAWN (5 PRO-SOLUTIONS
(=)
w = DESIGNED BY TASNETWORKS AL
: o (HECKED BY (5 PRO-SOLUTIONS
< — D - OHC - BO018 - SD - 001
DATE APPROVED | 04/APR/19 A
Ver. 1.0 LV Constructions Page 2-18



Overhead Distribution Construction Manual -Miscellaneous

Section 2

Tee Off LV Open Wire — Materials List

1 | 2 | 3 A
A
— Unit Assembly Store Type | Item Ref | Stock Item |Stock Item Description Quantity
T/LV/1/FRP S 17A 323331 |[BRACKET,INSULATOR 50X3X630MM F-STRAP 6
1A 323215 |CROSSARMFIBREGLASS, 100X100X1830MM LONG 4
B 59C 322723 |[PIN,INSULATOR 16MM DIA X LV GAL STEEL 3
60C 321117 |[INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 6
74E 32223 |BOLT,HEX HEAD M12 X 120MM GAL. C/W NUT 6
74F 32224 |BOLT,HEX HEAD M12 X 130MM GAL. C/W NUT 8
] 75D 32276 |BOLT,HEX HEAD M16 X 150MM GAL. C/W NUT 6
75K 32285 |BOLT,HEX HEAD M16 X 280MM GAL. C/W NUT 2
75R 32291 |BOLT,HEX HEAD M16 X 425MM GAL. C/W NUT 6
C 86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL 8
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 4
2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 8
— 60A 320756 |[INSULATOR,PIN 660V LVLP PORCELAIN 3
T/LV/2/FRP S 17A 323331 |BRACKET,INSULATOR 50X3X630MM F-STRAP 9
1A 323215 |CROSSARM,FIBREGLASS, 100X100X1830MM LONG 4
D 59C 322723 |PIN,INSULATOR 16 MM DIA X LV GAL STEEL 5
60C 321117 |[INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 9
74E 32223 |BOLT,HEX HEAD M12 X 120MM GAL. C/W NUT 9
] 74F 32224 |BOLT,HEX HEAD M12 X 130MM GAL. C/W NUT 8
75D 32276 |BOLT,HEX HEAD M16 X 150MM GAL. C/W NUT 9
75K 32285 |BOLT,HEX HEAD M16 X 280MM GAL. C/W NUT 2
75R 32291 |BOLT,HEX HEAD M16 X 425MM GAL. C/W NUT 6
E 86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL 8
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 6
2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 8
— 60A 320756 |INSULATOR,PIN 660V LVLP PORCELAIN 5
T/LV/3/FRP S 17A 323331 |[BRACKET,INSULATOR 50X3X630MM F-STRAP 12
1A 323215 |CROSSARMFIBREGLASS, 100X100X1830MM LONG 4
F 59C 322723 |[PIN,INSULATOR 16MM DIA X LV GAL STEEL 6
60C 321117 |[INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 12
74E 32223 |BOLT,HEX HEAD M12 X 120MM GAL. C/W NUT 12
] 74F 32224 |BOLT,HEX HEAD M12 X 130MM GAL. C/W NUT 8
75D 32276 |BOLT,HEX HEAD M16 X 150MM GAL. C/W NUT 12
75K 32285 |BOLT,HEX HEAD M16 X 280MM GAL. C/W NUT 2
75R 32291 |BOLT,HEX HEAD M16 X 425MM GAL. C/W NUT 6
G 86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL 8
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 6
2A 323314 |[BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 8
] 60A 320756 |INSULATOR,PIN 660V LVLP PORCELAIN 6
H
. T 0 emmer e
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
12 TasNetworks | " r¢e _ FF - LV OPEN WIRE NTS
< |2 MATERIAL LIST
- ; DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
: g (HECKED BY H.WESTBURY Al”
APPROVED BY | A KETLEY REVISION
= DATE APPROVED | 04/APR/19 D - O H [ - B O /‘ 8 - S D - O O 2 A
Ver. 1.0 LV Constructions Page 2-19



Overhead Distribution Construction Manual -Miscellaneous Section 2

2.9 Cross Over LV Open Wire

1 | 2 | 3 A 5
A
B
- \. HELICAL TERMINATION
s T0 SUIT CABLE SIZE/TYPE COMPRESSION SLEEVE
= TO SUIT CONDUCTOR
SIZE/TYPE
L %NEH\(TTOR UE CLAMP CONNECTORS
CONDUCTOR TO SUIT CONDUCTOR
= SIZE/TYPE ( ) SIZE/TYPE
D
E
4‘9 Z 1
A AT
(4l <A
= M
F |::: | ¥ /
i I
| 1 K(j 1 | NOTES
i ‘ ‘ ‘ i 1. LOCK NUTS TO BE INSTALLED ON
- ] = ALL BOLTS PASSING THROUGH POLE.
| Rl %) 2. ALUMINIUM DROPPERS TO BE SLEEVED
/ Y| | \ WITH BLACK PVC TUBING AND ALL
LEAD CONNECTIONS TO BE MADE TO
G BRIDGES.
=]
T = ‘:FE
H
APL Nos: X/LV/1/PLM
X/LV/2/PLM DIMENSIONS ARE IN MILLIMETRES
X/LV/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
i TasNetworks TITLE SEALE
-2 CROSSOVER - LV OPEN WIRE 175
< |2
™~ é DRAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
=4
Lol 5 CHECKED BY H.WESTBURY AL
-
< APPROVED BY A KETLEY _ _ _ _ REVISION
DATE APPROVED | 04/APR/19 D O H [ B O /‘ 9 S D O O /‘ A
Ver. 1.0 LV Constructions Page 2-20




Overhead Distribution Construction Manual -Miscellaneous Section 2
Cross Over LV Open Wire — Materials List
1 | 2 | 3 4 5
A
Unit Assembly Store Type| Item Ref |Stock Item|Stock Item Description Quantity
B XILVIL/PLM S 17A 323331 |BRACKET,INSULATOR 50X3X630MM F-STRAP 8
1A 323215 |CROSSARM,FIBREGLASS, 100X100X1830MM LONG 4
59C 322723 [PIN,INSULATOR 16MM DIA X LV GAL STEEL 4
60C 321117 [INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 8
] 74E 32223 [BOLT,HEX HEAD M12 X 120MM GAL. C/W NUT 8
74G 32225 |BOLT,HEX HEAD M12 X 140MM GAL. C/W NUT 8
75D 32276 |BOLT,HEX HEAD M16 X 150MM GAL. C/W NUT 8
C 75K 32285 |BOLT,HEX HEAD M16 X 280MM GAL. C/W NUT 2
75R 32291 [BOLT,HEX HEAD M16 X 425MM GAL. C/W NUT 6
86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL 8
— 36B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 20
2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 8
60A 320756 [INSULATOR,PIN 660V LVLP PORCELAIN 4
D XILVI2/PLM S 17A 323331 [BRACKET,INSULATOR 50X3X630MM F-STRAP 12
1A 323215 |CROSSARM,FIBREGLASS, 100X100X1830MM LONG
59C 322723 |PIN,INSULATOR 16MM DIA X LV GAL STEEL
| 60C 321117 [INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 12
74E 32223 |BOLT,HEX HEAD M12 X 120MM GAL. C/W NUT 12
74G 32225 |[BOLT,HEX HEAD M12 X 140MM GAL. C/W NUT 8
£ 75D 32276 |BOLT,HEX HEAD M16 X 150MM GAL. C/W NUT 12
75K 32285 |BOLT,HEX HEAD M16 X 280MM GAL. C/W NUT
75R 32291 |BOLT,HEX HEAD M16 X 425MM GAL. C/W NUT
86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL
] 86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 24
2A 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 8
60A 320756 [INSULATOR,PIN 660V LVLP PORCELAIN 6
F XILV/3/PLM S 17A 323331 |BRACKET,INSULATOR 50X3X630MM F-STRAP 16
1A 323215 |CROSSARM,FIBREGLASS, 100X100X1830MM LONG 4
59C 322723 |PIN,INSULATOR 16MM DIA X LV GAL STEEL 8
— 60C 321117 [INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 16
74E 32223 |BOLT,HEX HEAD M12 X 120MM GAL. C/W NUT 16
74G 32225 |BOLT,HEX HEAD M12 X 140MM GAL. C/W NUT 8
G 75D 32276 |BOLT,HEX HEAD M16 X 150MM GAL. C/W NUT 16
75K 32285 |BOLT,HEX HEAD M16 X 280MM GAL. C/W NUT
75R 32291 |BOLT,HEX HEAD M16 X 425MM GAL. C/W NUT
| 86A 65157 |WASHER,FLAT ROUND M12 X 37MM GAL
86B 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 28
2A 323314 [BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 8
" 60A 320756 [INSULATOR,PIN 660V LVLP PORCELAIN 8
. Ol il 0 B BT
= - ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=3 TasNetworks | "™ (R0SSOVER - LV OPEN WIRE NTS
: § DRAWN (5 PRO-SOLUTIONS MATER‘AL L‘ST
w |2 DESIGNED BY TASNETWORK
: g (HECKED BY [SSPRUVSOLU;ONS AL
REVISION
= o T D - OHC - BO019 - SD - 002 A
Ver. 1.0 LV Constructions Page 2-21



Overhead Distribution Construction Manual -Miscellaneous Section 2

2.10 LV Open Wire Service Crossarm for Transformer Pole

1 | 2 | 3 | 4 | 5
A
B
@]
C -
@ o
~ 1 |
- ¢ |o ;
— 1
=]
D
HELICAL TERMINATION
— 7O SUIT CABLE TYPE
HELICAL TERMINATION
TO SUIT CABLE SIZE/TYPE
E
TAKE OFF FROM END OF CROSSARMS
] LIMITED TENSION ONLY
ARRANGEMENT PERMISSABLE FOR OPEN WIRE SERVICES
IN RURAL AREAS. ANGLES AND TENSIONS MUST BE APPLIED
AS PER MAXIMUM ANGLE OF DEVIATION GUIDELINES.
F
G
H
REFERENCE DRAWING DIMENSIONS ARE IN MILLIMETRES
D-OHC-F007-SD-001 APL Nos: DE/LV-PTS UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMTTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
w TITLE
- & TasNetworks LV OPEN WIRE SERVICE CROSSARM 15
< = FOR TRANSFORMER POLE
o« <zt DRAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
[~4
= |e CHECKED BY H.WESTBURY AA
-
< APPROVED BY | A KETLEY _ _ _ _ REVISION
DATE APPROVED | 04/APR/19 D O H [ B O 2 O S D O O W A

Ver. 1.0 LV Constructions Page 2-22



Overhead Distribution Construction Manual -Miscellaneous Section 2

LV Open Wire Service Crossarm for a Transformer Pole — Materials List

1 | 2 | 3 | L | 5
A
B
1 Unit Assembly Store Type Item Ref Stock Item Stock Item Description Quantity
DE/LV-PTS S 1A 323210 CROSSARM,WOOD 100 X 100 X 1830MM LONG 1
60C 321117 INSULATOR,STRAIN 80MM SHLV2 PORCELAIN 4
74E 32223 BOLT,Hex Head M12 x 120mm Gal. ¢/w Nut 4
C 74G 32225 BOLT,Hex Head M12 x 140mm Gal. ¢/w Nut 6
75D 32276 BOLT,Hex Head M16 x 150mm Gal. ¢/w Nut 4
17F 323378 BRACKET,Crossarm 50 x 50 x 390mm Gal 2
| 17A 323331 BRACKET, Insulator 50x3x630mm F-Strap 8
D
E
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 traing s TasNetvarks e A T
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |y TITLE SCALE
-2 TasNetworks LV OPEN WIRE SERVICE CROSSARM NTS
< 2‘ DRAWN (5 PRO-SOLUTIONS FOR TRANSFORMER POLE
x(Z - MATERIAL LIST
w = DESIGNED BY ELECTRO A A
: o CHECKED BY H.WESTBURY
< APPROVED BY [ A KeTLEY _ _ _ _ REVISION
DATE APPROVED | 04/APR/19 D O H [ B O 2 O S D O O 2 A

Ver. 1.0 LV Constructions Page 2-23



Overhead Distribution Construction Manual -Miscellaneous Section 2

Ver. 1.0 LV Constructions Page 2-24



SECTION 3 —11-12.7-22KV
CONSTRUCTIONS



Overhead Distribution Construction Manual - Miscellaneous Section 3

Ver. 1.0 11/22 kV & SWER Constructions Page 3-2



Overhead Distribution Construction Manual - Miscellaneous Section 3

3 SECTION 3 -11/22kV & SWER CONSTRUCTIONS

3 SECTION 3 —11/22kV & SWER CONSTRUCTIONS .....coviiiiiieieeeeeeeeeeeeeeeeeeee e
3.1 Intermediate Double Pin Open Wire Mk4 Crossarm (Obsolete) ........ccccceveeneennen.

3.2 Intermediate Trident Open Wire (ObSOIete) ....ccccovveevivieiiiiiiiiececeeeeeee
3.3 Dead End, Open Wire, Mk7 Crossarm (Obsolete) ........ccoceevvievieiiiiiiiiecieeieeeee

3.4 Strain, Open Wire, Mk7 Crossarm (Obsolete) ......cccovvvevieiiiiiiieiiecieeeecee
3.5 Strain Underslung, Open Wire, Mk7 Crossarm (Obsolete) ........ccceevvevvvecieeennnane.
3.6 Right Angle Strain, Open Wire, Mk7 Crossarm (Obsolete).........cccccoveevveecveennnnnn.
3.7 Tee Off Open Wire, Mk7 Crossarm (Obsolete) ........cccceevieeiiiiiieiiiciicieeceee

3.8 Intermediate Double Pin, Horizontal Double Circuit, Open Wire Mk4 Crossarm

(0] o1 1=1 =) I TP PR PR

3.9 Intermediate Double Pin, Horizontal Open Wire, Mk4 Crossarm (Obsolete)....21

METALLIC SCREENED HVABC .......cuiitiiiiiiieiieieie e
3.1 MS HVABC Intermediate Single SUSPENSION .....c..ccovviiiiiiiiie e
3.2 MS HVABC Angle Double HOOk SUSPENSION .....ccuviciiiiiieiieciieeeeeee e
3.3 MS HVABC Right Angle Strain Unjointed..........cccoevvioiiieiieiiiceeeeece e
3.4 MS HVABC Strain Transition Open Wire Steel Crossarms ........ccccoeeveevveecieeennennn.
3.5 MSHVABC Dead End FRP CroSSarm ........ccveueiierieiienieeie st
3.6 MS HVABC 185mm? Strain with Tee-0ff.......c.cccooviiiiiiiiiiicccece
3.7 MS HVABC to Open Wire Right Angle Transition FRP Crossarm.........c.cccccev.....
NON-METALLIC SCREENED HVABC (OBOLETE) ......ccveieriiieieieiieceieeeeeeeeee e
3.8 NMS HVABC Intermediate, Single Suspension (Obsolete) .....cccccccevvvveveevneeenn..
3.9 NMS HVABC Angle, Double Suspension (Obsolete)........cccvvveveeevveicceeecieen.
3.10 NMS HVABC Angle, High Lift, Double Suspension (Obsolete)...........ccoceevevveennn..
3.11 NMS HVABC Angle, High Lift, Single Hook Suspension (Obsolete) ....................
3.12 NMS HVABC Angle, High Lift, Double Hook Suspension (Obsolete) ...................
3.13 NMS HVABC Angle, High Lift, Double Suspension (Obsolete)...........ccoceeveveeennen..
3.14 NMS HVABC Strain, Unjointed (Obsolete) .......oovvivvieiiiiicie e
3.15 NMS HVABC Strain, Jointed (ObSOIEte) .....ccoviiiiiiieiiiiiecie e
3.16 NMS HVABC Right Angle Strain, Unjointed ..........cccoeeiviiiiiieiiicceecce e
3.17 NMS HVABC Right Angle Strain Jointed..........cooviiiiiiiii e
3.18 NMS HVABC Open Wire Strain Transition ......ccccvvvviiieeeiiiiiiieeeeeeeeeiiree e,
3.19 NMS HVABC Dead End (ObSOIELE) .....uviieiiiiiiiiceeeeee e
3.20 NMS HVABC Dead End — Underground Cable Transition (Obsolete) .................
3.21 NMS HVABC Strain with Tee-Off (ObSolete) .....ccccoovviviviiiiiiicee e

Ver. 1.0 11/22 kV & SWER Constructions

Page 3-3



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.22 NMS HVABC Strain, Transformer TeeOff with SDs & EDOs (Obsolete) .............. 68
3.23 NMS HVABC Strain, Transformer Tee Off with EDOs (Obsolete).......cc.cccovvene... 70
3.24 NMS HVABC Strain, Transformer Tee-Off (Obsolete).......cccccvvvviviiiiviiiiiiee, 71
3.25 NMS HVABC, Strain Vertical Tee-Off to Open Wire (Obsolete) .........cceeevvennann. 72
3.26 NMS HVABC Strain, Tee-Off to Open Wire (Obsolete) ......cccccoveevveeiiiiecciiec, 73
3.27 NMS HVABC Open Wire Right Angle Strain Transition (Obsolete) ..................... 74
STEEL CROSSARMS HV CONSTRUCTIONS .......oooiiiiiiiieiieiieie et 76
3.28 Transposition 4 Intermediate, Rolling Mk4 Crossarm ........cccocvevvevieiieenieeenenn, 76
3.29 Transposition 5, Intermediate, Inner & Outers, Mk4 Crossarm ........cc.c.ceveeun... 78
3.30 Transposition 6, Intermediate, Two Outers, Mk4 Crossarm .......ccccceevveeeveeenne.. 80

Ver. 1.0 11/22 kV & SWER Constructions Page 3-4



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.1 Intermediate Double Pin Open Wire Mk4 Crossarm (Obsolete)

1 | 2 | 3 | 4 | 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
. ° ° 4 - —
B
.
w
Z<
—awun
N o8
o| X a
f—t | =
m| Z
Tk
O w
OBSOLETE h
c FOR REFERENCE ONLY
L <SS
TIE TO SUIT CONDUCTOR SIZE/TYPE
D = =
1 _—
E
<SS
F
,,,,,,, e . ° 9qk___ == °
G
7777777 o e - e e
APL Nos
H D/11/1/PLM
0/11/3/PLM
0/22/1/PLM DIMENSIONS ARE IN MILLIMETRES
D/22/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
B STORED IN A RETREEVAL SYSTEM IN ANY FORM,
» trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
= TiTE SCAE
-2 TasNetworks INTERMEDIATE 11kV OR 22kV DOUBLE PIN NTS
<z Py MK4 CROSSARM OPEN WIRE
DRAWN (5 PRO-SOLUTION
B OBSOLETE
w = DESIGNED BY ELECTRO AL
Ll =] CHECKED BY H.WESTBURY
= APPROVED BY REVISION
< — — — —
DATE APPROVED | 23/MAY/19 D O H [ [ O /‘ 8 S D O O /‘ A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-5



Overhead Distribution Construction Manual - Miscellaneous Section 3
Intermediate Double Pin Open Wire Mk4 Crossarm - Material List (Obsolete)
1 | 2 | 3 | L | 5
A
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
D/11/1/PLMand S 3 323310 |Strain Plate Mk10
D/22/1/PLM 4 323311 |L Bracket Mk11 2
B 1D 323304 |Crossarm Mk4 2
59A 322721 |Pin,Insulator 22kV 4
60E 320531 |Insulator Pin 22/450 4
75M 32287 |BoltHexM16 X325 2
752 32261 |BoltHexM16 X45 8
77B 33771 |Bolt Tower M12 X35 4
c 82A 40441 |NutM16 4
88A 66412 |Washer Tower 12 4
88B 66413 |Washer Tower 16 4
2A 323314 |Crossarm Strap Mk14 4
D/11/3/PLMand S 3 323310 |Strain Plate Mk10 3
D/22/3/PLM 4 323311 |L Bracket Mk11 2
D 1D 323304 |Crossarm Mk4 2
59A 322721 |Pin,Insulator 22kV 6
60E 320531 |Insulator Pin 22/450 6
] 75M 32287 |BoltHexM16 X 325 2
752 32261 |BoltHexM16 X45 6
778B 33771 |Bolt Tower M12 X35 4
E 82A 40441 |NutM16 4
88A 66412 |Washer Tower 12 4
88B 66413 |Washer Tower 16 6
| 2A 323314 |Crossarm Strap Mk14 4
F
G
H
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 © g a3 Tasivor i A e
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |w TITLE SCALE
-2 TasNetworks INTERMEDIATE 11kV OR 22kV DOUBLE PIN NTS
< |z — — MK4 CROSSARM OPEN WIRE
E E DESIGNED BY ELE[TR[;S : MATER‘ALS L‘ST
clz OBSOLETE AL
i CHECKED BY H.WESTBURY
< APPROVED BY REVISION
DATE APPROVED | 23/MAY/19 D - O H [ - [ O T 8 - S D - O O 2 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-6



Overhead Distribution Construction Manual - Miscellaneous Section 3
3.2 Intermediate Trident Open Wire (Obsolete)
1 | 2 | 3 | 4 5
ME EWSURE THAT LOCK MUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
60E S9A
]T—I— -
" 87E 828
C
|| POLE TYPE| POLE DIAMETER | INSULATOR HEIGHT | BRACKETHEIGHT | DIMENSION A’
12m 4kN 250 235 150 1020
12m 6kN 280 " " 1050
12m 8kN 310 1080
D
MINIMUM CONOUCTOR SEPARATION = 1020mm
MAXIMUM CONDUCTOR SEPARATION = 1EMImm
- J@)
s
=
E
5L 86B ) B2A ThL 868 24
F e
[
G - FOR REFERENCE ONLY
P S
H
APL MNos: DIMENSIONS ARE IN MILLIMETRES
Tl A1, wxl A3, el /2241, wxl /2243 UNLESS OTHERWISE STATED
Tasmanian Metworks PTY. LTD. NO PART OF THIS DRAWING MAY BE AEPROOUCED,
o R A I e S % Ao
= ABN: 24 16T 35T 29% PRIOR PERMISSION OF TASNETWORKS
o |y TITLE SOALE
-2 TasNetworks | ™3I DENT INTERMEDIATE 11KV OR 22kV NTS
<|z SPACER BRACKETS OPEN WIRE
I;‘.l E DESIGHED BY ELECTRD OBSOLETE A["
R CHECKED BY H.WESTRURY
: APPROVED BY _ _ _ — _ o REWISION
DATE aPRROVED [ 2asarine 0 OHC CO&2 S0 007 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-7



Overhead Distribution Construction Manual - Miscellaneous Section 3
Intermediate Trident Open Wire — Material List (Obsolete)
1 | 2 | 3 | L 5
A
| Unit Assembly|Store Type |ltem Ref|Stock Item Description Quantity
m/11/1 S 76B 032346 Bolt Hex M20 X 350 2
m/11/1 S 75L 032286 Bolt Hex M16 X 300 2
m/11/1 S 6D 323399 |Insulator Raiser Bracket 2
B m/11/1 S 4 323311 L' 1
IT/11/1 S 60E 320531 Insulator,Pin 3
m/11/1 S 59A 322721 Pin, Insulator 3
m/11/1 S 87E 065617 Washer N.S. 20 2
| m/11/1 S 86B 065158 Washer ELS 16 2
m/11/1 S 82B 040442 Nut M20 4
T/11/1 S 82A 040441 Nut M16 4
C m/11/3 S 76B 032346 Bolt Hex M20 X 350 2
m/11/3 S 75L 032286 Bolt Hex M16 X 300 2
m/11/3 S 6D 323399 Insulator Raiser Bracket 2
1/11/3 S 4 323311 L' 1
1 m/11/3 S 60E 320531 Insulator,Pin 3
m/11/3 S 59A 322721 Pin,Insulator 3
m/11/3 S 87E 65617 Washer N.S. 20 2
M/11/3 S 86B 065158 Washer ELS 16 2
D M/11/3 S 82B 040442 Nut M20 4
IT/11/3 S 82A 040441 Nut M16 4
IT/22/1 S 76B 032346 Bolt Hex M20 X 350 2
1 IT/22/1 S 75L 32286 Bolt Hex M16 X 300 2
T/22/1 S 6D 323399 Insulator Raiser Bracket 2
IT/22/1 S 4 323311 L' 1
IT/22/1 S 60E 320531 Insulator,Pin 3
E IT/22/1 S 59A 322721 Pin,Insulator 3
IT/22/1 S 87E 065617 Washer N.S. 20 2
IT/22/1 S 86B 065158 Washer ELS 16 2
T/22/1 S 82B 40442 Nut M20 4
— IT/22/1 S 82A 040441 Nut M16 4
IT/22/3 S 76B 032346 Bolt Hex M20 X 350 2
IT/22/3 S 75L 32286 Bolt Hex M16 X 300 2
F IT/22/3 S 6D 323399 Insulator Raiser Bracket 2
IT/22/3 S 4 323311 L' 1
IT/22/3 S 60E 320531 Insulator,Pin 3
IT/22/3 S 59A 322721 Pin,Insulator 3
— IT/22/3 S 87E 65617 Washer N.S. 20 2
I1/22/3 S 86B 65158 Washer ELS 16 2
IT/22/3 S 82B 40442 Nut M20 4
IT/22/3 S 82A 040441 Nut M16 4
G
- FOR REFERENCE ONLY
H
i NO PART OF THIS DRAWING MAY BE REPRODUCED,
o O g as Teskuruones 1 e B BT
z - ABN: 24 167 357 299 PRIOR P OF TASNETWORKS —
-z TasNetworks | " 1 RIDENT INTERMEDIATE 11V OR 22kV NTS
<|z —_ YT SPACER BRACKETS OPEN WIRE
E E DESIGNED BY ELECTRO MATER‘ALS L‘ST
clz OBSOLETE AL
i CHECKED BY H.WESTBURY
APPROVED BY REVISION
= DATE APPROVED | 24/MAY/19 D - O H [ - [ O 4 2 - S D - O O 2 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-8



Overhead Distribution Construction Manual - Miscellaneous Section 3
3.3 Dead End, Open Wire, Mk7 Crossarm (Obsolete)
1 | 2 | 3 | 4 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
] @ * < \ @ / \ . @
B v
POSSUM GUARD
TO BE FITTED.
REFER TO DRG
D-0HC-G031-SD-001 - OBSOLETE
C
- FOR REFERENCE ONLY
D
NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
E
F SEE NOTE 2
NOTES
SEE NOTE 1
1. FOR POLES WITH
LARGE DIAMETERS
| PACK CROSSARMS
ENDS WITH ITEM
5B DURING
ASSEMBLY.
G 2. FOR POLES WITH
SMALL DIAMETERS
PACK CROSSARMS
WITH SPACERS
(S.l. No. 32.33.94)
AT POLE DURING
— ASSEMBLY.
H
REFERENCE DRAWINGS APL Nos DIMENSIONS ARE IN MILLIMETRES
D-0HC-G031-SD-001 DE7/11/1, DET/11/3, DE7/22/1, DET/22/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNeftworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TLE SCALE
-2 TasNetworks DEAD END 11V OR 22kV NTS
< :(' ORAWN (S PRO-SOLUTIONS MK7 [ROSSARM OPEN W‘RE
@ |2 - OBSOLETE
w = DESIGNED BY ELECTRO A[”
: © (HECKED BY H.WESTBURY
< APPROVED BY D O H [ [ Z; 5 D ,‘ REVISION
DATE APPROVED | 24/MAY/19 - - O - S - O O A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-9



Overhead Distribution Construction Manual - Miscellaneous Section 3

Dead End, Open Wire, Mk7 Crossarm - Material List (Obsolete)

1 | 2 | 3 | L 5
A
Unit_ Assembly | Store Type |Item Ref| Stock Item Description Quantity
DE7/11/1 S 75M 032287 Bolt Hex M16 X 325 2
DE7/11/1 S 77A 033770 Bolt Tow er M12 X 30 4
| DE7/11/1 S 78B 033781 Bolt Tow er M16 X 40 4
DE7/11/1 S 88A 066412 Washer Tow er 12 4
DE7/11/1 S 88B 066413 Washer Tow er 16 4
DE7/11/1 S 60G 321260 Insulator,Disc 2
B DE7/11/1 S 61A 322056 Ball Clevis & Pin 2
DE7/11/1 S 61D 322090 Kink Pin 2
DE7/11/1 S 61B 322386 Socket Termination 2
DE7/11/1 S 1F 323307 Crossarm Mk7 2
— DE7/11/1 S 2A 323314 Crossarm Strap Mk14 4
DE7/11/1 S 5B 323394 Crossarm Spacer 2
DE7/11/3 S 75M 032287 Bolt Hex M16 X 325 2
C DE7/11/3 S T7A 033770 Bolt Tow er M12 X 30 4
DE7/11/3 S 78B 033781 Bolt Tow er M16 X 40 4
DE7/11/3 S 88A 066412 Washer Tow er 12 4
DE7/11/3 S 88B 066413 Washer Tow er 16 4
L DE7/11/3 S 60G 321260 Insulator,Disc 3
DE7/11/3 S 61A 322056 Ball Clevis & Pin 3
DE7/11/3 S 61D 322090 Kink Pin 2
DE7/11/3 S 61B 322386 Socket Termination 3
DE7/11/3 S 1F 323307 Crossarm Mk7 2
D DE7/11/3 S 2A 323314 Crossarm Strap Mk14 4
DE7/11/3 S 5B 323394 Crossarm Spacer 2
DE7/22/1 S 75M 032287 Bolt Hex M16 X 325 2
— DE7/22/1 S 77A 033770 Bolt Tow er M12 X 30 4
DE7/22/1 S 78B 033781 Bolt Tow er M16 X 40 4
DE7/22/1 S 88A 066412 Washer Tow er 12 4
DE7/22/1 S 88B 066413 Washer Tow er 16 4
E DE7/22/1 S 60G 321260 Insulator,Disc 4
DE7/22/1 S 61A 322056 Ball Clevis & Pin 2
DE7/22/1 S 61D 322090 Kink Pin 2
DE7/22/1 S 61B 322386 Socket Termination 2
L DE7/22/1 S 1F 323307 Crossarm Mk7 2
DE7/22/1 S 2A 323314 Crossarm Strap Mk14 4
DE7/22/1 S 5B 323394 Crossarm Spacer 2
DE7/22/3 S 75M 032287 Bolt Hex M16 X 325 2
F DE7/22/3 S 77A 033770 Bolt Tow er M12 X 30 4
DE7/22/3 S 78B 033781 Bolt Tow er M16 X 40 4
DE7/22/3 S 88A 066412 Washer Tow er 12 4
DE7/22/3 S 388B 066413 Washer Tow er 16 4
— DE7/22/3 S 60G 321260 Insulator,Disc 6
DE7/22/3 S 61A 322056 Ball Clevis & Pin 3
DE7/22/3 S 61D 322090 Kink Pin 3
DE7/22/3 S 61B 322386 Socket Termination 3
G DE7/22/3 S 1F 323307 Crossarm MK7 2
DE7/22/3 S 2A 323314 Crossarm Strap Mk14 4
DE7/22/3 S 5B 323394 Crossarm Spacer 2
’ - FOR REFERENCE ONLY
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» © trading as TasNetworks OR TRANSHITTED B ANY NEANS WITHOUT THE
i y ABN: 24 167 357 299 PRIOR PERMSSION OF TASNETWORKS
TITLE SCALE
-2 TasNetworks DEAD END 11kV OR 22kV NTS
< :(' ORAWN (5 PRO-SOLUTIONS MK7 [ROSSARM OPEN W‘RE
Z % DESIGNED BY ELECTRO MATER‘ALS UST
oz OBSOLETE AL
o C(HECKED BY H.WESTBURY
< APPROVED BY |- REVISION
DATE APPROVED | 24/MAY/19 D - O H [ - [ O 4 5 - S D - O O 2 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-10



Overhead Distribution Construction Manual - Miscellaneous

Section 3

3.4

Strain, Open Wire, Mk7 Crossarm (Obsolete)

1 | 2 | 3 | A 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A NED CD
F—= — \ / -
B
POSSUM GUARD
TO BE FITTED.
REFER TO DRG
D-0HC-G031-5D-001 _ OBSOLETE
C . - FOR REFERENCE
= = ONLY
6r 1 >
D NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
E
F SEE NOTE 2
SEE NOTE 1
NOTES
1. FOR POLES WITH
LARGE DIAMETERS
G PACK CROSSARMS
ENDS WITH ITEM
5B DURING ASSEMBLY.
2. FOR POLES WITH
SMALL DIAMETERS
— PACK CROSSARMS
WITH SPACERS
(S.I. No. 32.33.94)
AT POLE DURING
ASSEMBLY.
H
REFERENCE DRAWINGS APL Nos DIMENSIONS ARE IN MILLIMETRES
D-0HC-G031-SD-001 S7/11/1, S1/1/3, S1/22/1, S1/22/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
; STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
s trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
z ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o wt
2 TasNetworks e SCALE
— 2 STRAIN 1kV OR 22kV NTS
<|z g MK7 CROSSARM OPEN WIRE
DRAWN (5 PRO-SOLUTION!
x| = OBSOLETE
w = DESIGNED BY ELECTRO A["
= (e (HECKED BY H.WESTBURY
< e D - OHC - C043 - SD — 001
DATE APPROVED | 24/MAY/19 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-11



Overhead Distribution Construction Manual - Miscellaneous Section 3

Strain Open Wire Mk7 Crossarm - Material List (Osbolete)

1 | 2 | 3 [ 4 5
Unit_Assembly Store Type Iltem Ref Stock Item Description Quantity
S7/11/1 S 75M 032287 Bolt Hex M16 X 325 2
S7/11/1 S 77A 033770 Bolt Tow er M12 X 30 4
A S7/11/1 S 78A 033780 Bolt Tow er M16 X 35 6
S7/11/1 S 86B 065158 Washer Hs 16 2
S7/11/1 S 88A 066412 Washer Tow er 12 4
S7/11/1 S 88B 066413 Washer Tow er 16 6
S7/11/1 S 90B 066771 Washer Spring Spiral 16 1
. S7/11/1 S 60E 320531 Insulator,Pin 22/450 2
S7/11/1 S 60G 321260 Insulator,Disc 4
S7/11/1 S 61A 322056 Ball Clevis & Pin 4
S7/11/1 S 61D 322090 Kink Pin 4
S7/11/1 S 61B 322386 Socket Termination 4
S7/11/1 S 59A 322721 Pin,Insulator 22kv 2
B S7/11/1 S 1F 323307 Crossarm Mk7 2
S7/11/1 S 4 323311 L' Bracket Mk11 1
S7/11/1 S 2A 323314 Crossarm Strap Mk14 4
S7/11/1 S 5B 323394 Crossarm Spacer 2
| S7/11/3 S 75M 032287 Bolt Hex M16 X 325 2
S7/11/3 S 77A 033770 Bolt Tow er M12 X 30 4
S7/11/3 S 78A 033780 Bolt Tow er M16 X 35 6
S7/11/3 S 86B 065158 Washer Bs 16 2
S7/11/3 S 88A 066412 Washer Tow er 12 4
S7/11/3 S 88B 066413 Washer Tow er 16 6
C S7/11/3 S 90B 066771 Washer Spring Spiral 16 1
S7/11/3 S 60E 320531 Insulator,Pin 22/450 3
S7/11/3 S 60G 321260 Insulator,Disc 6
S7/11/3 S 61A 322056 Ball Clevis & Pin 6
S7/11/3 S 61D 322090 Kink Pin 6
— S7/11/3 S 61B 322386 Socket Termination 6
S7/11/3 S 59A 322721 Pin,Insulator 22kv 3
S7/11/3 S 1F 323307 Crossarm Mk7 2
S7/11/3 S 4 323311 L' Bracket Mk11 1
S7/11/3 S 2A 323314 Crossarm Strap Mk14 4
D S7/11/1 S 5B 323394 Crossarm Spacer 2
S7/22/1 S 75M 032287 Bolt Hex M16 X 325 2
S7/22/1 S 77A 033770 Bolt Tow er M12 X 30 4
S7/22/1 S 78A 033780 Bolt Tow er M16 X 35 6
S7/22/1 S 88A 066412 Washer Tow er 12 4
— S7/22/1 S 88B 066413 Washer Tow er 16 6
S7/22/1 S 90B 066771 __|Washer Spring Spiral 16 1
S7/22/1 S 60E 320531 Insulator,Pin 22/450 2
S7/22/1 S 60G 321260 Insulator,Disc 8
S7/22/1 S 61A 322056 Ball Clevis & Pin 4
S7/22/1 S 61D 322090 Kink Pin 6
E S7/22/1 S 61B 322386 Socket Termination 4
S7/22/1 S 59A 322721 Pin,Insulator 22kv 2
S7/22/1 S 1F 323307 Crossarm Mk7 2
S7/22/11 S 4 323311 L' Bracket Mk11 1
S7/22/1 S 2A 323314 Crossarm Strap Mk14 4
(S— S7/11/1 S 5B 323394 Crossarm Spacer 2
S7/22/3 S 75M 032287 Bolt Hex M16 X 325 2
S7/22/3 S 77A 033770 Bolt Tow er M12 X 30 4
S7/22/3 S 75M 032287 Bolt Hex M16 X 325 2
F S7/22/3 S 77A 033770 Bolt Tow er M12 X 30 4
S7/22/3 S 78A 033780 Bolt Tow er M16 X 35 6
S7/22/3 S 86B 065158 Washer Hs 16 2
S7/22/3 S 88A 066412 Washer Tow er 12 4
S7/22/3 S 88B 066413 Washer Tow er 16 6
— S7/22/3 S 60E 320531 Insulator,Pin 22/450 3
S7/22/3 S 60G 321260 Insulator,Disc 12
S7/22/3 S 61A 322056 Ball Clevis & Pin 6
S7/22/3 S 61D 322090 Kink Pin 9
S7/22/3 S 61B 322386 Socket Termination 6
G S7/22/3 S 59A 322721 Pin,Insulator 22kv 3
S7/22/3 S 1F 323307 Crossarm Mk7 2
S7/22/3 S 4 323311 L' Bracket Mk11 1
S7/2213 S 2A 323314 Crossarm Strap Mk14 4
S7/11/1 S 5B 323394 Crossarm Spacer 2
H FOR REFERENCE ONLY
- © Josmomian Networke PTY. LD e, e A s
OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z w ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
° 15 TILE STALE
- |2 TasNetworks STRAIN T1kV OR 22kV NTS
<|z MK7 CROSSARM OPEN WIRE
x |2 DRAWN (5 PRO-SOLUTIONS MATERIALS LIST
w |2 DESIGNED BY [ ELECTRO
4
: ° CHECKED BY H.WESTBURY OBSOLETE AA
< APPROVED BY | - REVISION
DATE APPROVED [ 24/MAY/19 D O H [ [ O [* 3 S D O O 2 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-12



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.5 Strain Underslung, Open Wire, Mk7 Crossarm (Obsolete)

1 | 2 | 3 | 4 | 5
NB ENSURE LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A o
+ \
° OBSOLETE
POSSUM GUARD
TO BE FITTED.
REFER TO DRG
D-0HC-GO31-SD-001
C
NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
o ©
D
E
o == .
n
75M o
=
23
L Al w
E =
=z
]
o
—
F
SEE NOTE 1
NOTES
SEE NOTE 2
1. FOR POLES WITH
— LARGE DIAMETERS
PACK CROSSARMS
ENDS WITH ITEM
5B DURING
ASSEMBLY.
G 2. FOR POLES WITH
SMALL DIAMETERS
PACK CROSSARMS
WITH SPACERS
(S.I. No. 32.33.94)
— AT POLE DURING
ASSEMBLY.
H
REFERENCE DRAWINGS APL Nos DIMENSIONS ARE IN MILLIMETRES
D-OHC-G031-SD-001 SU7/11/1, SUT/11/3, SUT/22/1, SUT/22/3 UNLESS OTHERWISE STATED
© Tasmanian Nefworks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
12 TasNetworks T SCALE
—|a STRAIN UNDERSLUNG 11kV OR 22kV NTS
<|z MK7 CROSSARM OPEN WIRE
ORAWN (S PRO-SOLUTIONS
x|z
w g DESIGNED BY ELECTRO OBSOLETE A[”
Ll =] (HECKED BY H.WESTBURY
-
< — D - OHC - (044 - SD = 007
DATE APPROVED | 24/MAY/19 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-13



Overhead Distribution Construction Manual - Miscellaneous

Section 3

Strain Underslung Open Wire, Mk7 Crossarm - Materials List (Obsolete)

1 | 2 | 3 | 4
Unit_Assembly Store Type Item Ref Stock Item Description Quantity
A SU7/11/1 S 75M 032287 Bolt Hex M16 X 325 2
SU7/11/1 S 77A 033770 Bolt Tow er M12 X 30 4
SU7/11/1 S 78A 033780 Bolt Tow er M16 X 35 6
SU7/11/1 S 86B 065158 Washer Els 16 2
SU7/11/1 S 88A 066412 Washer Tow er 12 4
] SuU7/11/1 S 88B 066413 Washer Tow er 16 6
SU7/11/1 S 90B 066771 Washer Spring Spiral 16 1
SU7/11/1 S 60G 321260 Insulator,Disc 4
SU7/11/1 S 61A 322056 Ball Clevis & Pin 4
SU7/11/1 S 61D 322090 Kink Pin 4
B SU7/11/1 S 61B 322386 Socket Termination 4
SuU7/11/1 S 1F 323307 Crossarm MK7 2
SU7/11/1 S 4 323311 L' Bracket Mk11 1
SU7/11/1 S 2A 323314 Crossarm Strap Mk14 4
SU7/11/3 S 75M 032287 Bolt Hex M16 X 325 2
SU7/11/3 S 77A 033770 Bolt Tow er M12 X 30 4
SU7/11/3 S 78A 033780 Bolt Tow er M16 X 35 6
SU7/11/3 S 86B 065158 Washer Els 16 2
C SU7/11/3 S 88A 066412 Washer Tower 12 4
SU7/11/3 S 88B 066413 Washer Tow er 16 6
SU7/11/3 S 90B 066771 Washer Spring Spiral 16 1
SU7/11/3 S 60E 320531 Insulator,Pin 22/450 1
SU7/11/3 S 60G 321260 Insulator,Disc 6
— SU7/11/3 S 61A 322056 Ball Clevis & Pin 6
SU7/11/3 S 61D 322090 Kink Pin 6
SU7/11/3 S 61B 322386 Socket Termination 6
SU7/11/3 S 59A 322721 Pin, Insulator 22kv 1
SU7/11/3 S 1F 323307 Crossarm Mk7 2
D SU7/11/3 S 4 323311 L' Bracket Mk11 1
SU7/11/3 S 2A 323314 Crossarm Strap Mk14 4
SuU7/22/1 S 75M 032287 Bolt Hex M16 X 325 2
L SU7/22/1 S 77A 033770 Bolt Tow er M12 X 30 4
SU7/22/1 S 78A 033780 Bolt Tow er M16 X 35 6
SuU7/22/1 S 88A 066412 Washer Tower 12 4
SU7/22/1 S 88B 066413 Washer Tow er 16 6
SU7/22/1 S 90B 066771 Washer Spring Spiral 16 1
E SU7/22/1 S 60G 321260 Insulator,Disc 8
SU7/22/1 S 61A 322056 Ball Clevis & Pin 4
SuU7/22/1 S 61D 322090 Kink Pin 6
SU7/22/1 S 61B 322386 Socket Termination 4
SU7/22/1 S 1F 323307 Crossarm Mk7 2
1 SuU7/22/1 S 4 323311 L' Bracket Mk11 1
SU7/22/1 S 2A 323314 Crossarm Strap Mk14 4
SU7/22/3 S 75M 032287 Bolt Hex M16 X 325 2
SU7/22/3 S 77A 033770 Bolt Tow er M12 X 30 4
F SU7/22/3 S 78A 033780 Bolt Tow er M16 X 35 6
SU7/22/3 S 86B 065158 Washer Hs 16 2
SU7/22/3 S 88A 066412 Washer Tow er 12 4
SU7/22/3 S 88B 066413 Washer Tow er 16 6
L SU7/22/3 S 60E 320531 Insulator,Pin 22/450 1
SuU7/22/3 S 60G 321260 Insulator,Disc 12
SU7/22/3 S 61A 322056 Ball Clevis & Pin 6
SU7/22/3 S 61D 322090 Kink Pin 9
SU7/22/3 S 61B 322386 Socket Termination 6
G SU7/22/3 S 59A 322721 Pin,Insulator 22kv 1
SU7/22/3 S 1F 323307 Crossarm MK7 2
SU7/22/3 S 4 323311 L' Bracket Mk11 1
SU7/22/3 S 2A 323314 Crossarm Strap Mk14 4
SU7/22/3 S 5B 323394 Crossarm Spacer 2
H - FOR REFERENCE ONLY
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» © trading as TasNetworks GRTRANSHITIED Y ANY-MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
°ls TasNetworks e SCALE
— |8 STRAIN UNDERSLUG 11kV OR 22kV NTS
<|z — Y™ MK7 CROSSARM OPEN WIRE
E g DESIGNED BY | ELECTRO MATERIALS LIST
1= 0BSOLETE AL
- CHECKED BY H.WESTBURY
< APPROVED BY | - REVISION
DATE APPROVED | 24/MAY/19 D-0HC - C O Lb - S D - O O Z A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-14



Overhead Distribution Construction Manual - Miscellaneous

Section 3

Right Angle Strain, Open Wire, Mk7 Crossarm (Obsolete)

1 | 2 | 3 | 4 | 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A (R B
/ o + \ —
REFER TO RELEVANT
— HV ARRANGEMENT
B NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
=
Sl
- 3|
]
°
e
C
NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
D
\
OBSOLETE (228 X
E POSSUM GUARD
FOR REFERENCE ReEcE Th. Rt
- REFER TO DRG
O N I_ Y D-0HC-G031-SD-001
[
| 3
]
F <EE NOTE | ] SEE NOTE 2
NOTES | |
1. FOR POLES WITH I
LARGE DIAMETERS D N T
PACK CROSSARMS T & [ © 5
— ENDS WITH ITEM =T ; _ -
5B DURING LN Al ——
ASSEMBLY. &
2. FOR POLES WITH ~ |,
SMALL DIAMETERS |
G PACK CROSSARMS 1
WITH SPACERS |
(S.l. No. 32.33.94) |
AT POLE DURING 1
ASSEMBLY. I
o]
(,
B
H
REFERENCE DRAWINGS APL Nos DIMENSIONS ARE IN MILLIMETRES
D-OHC-G031-SD-001 RS7/11/1, RST/11/3, RS7/22/1, RS1/22/3 UNLESS OTHERWISE STATED
© Tasmanian Nefworks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
. STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
w trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |w
2 TasNetworks T SCALE
— |3 RIGHT ANGLE STRAIN 11kV 0OR 22KV 1:30
ME . . MK7 CROSSARM OPEN WIRE
DRAWN (5 PRO-SOLUTION!
x|Z OBSOLETE
w | = DESIGNED BY ELECTRO AL
o
Ll =] CHECKED BY H.WESTBURY
- APPROVED BY REVISION
< — — — p—
DATE APPROVED | 24/MAY/19 D O H [ [ O A 6 S D O O W A
Page 3-15

Ver. 1.0

11/22 kV & SWER Constructions



Overhead Distribution Construction Manual - Miscellaneous Section 3

Right Angle Strain, Open Wire, Mk7 Crossarm - Material List (Obsolete)

1 | 2 | 3 | 4 5
Unit_Assembly Store Type | Item Ref | Stock Item Description Quantity
RS7/11/1 S 75M 032287 Bolt Hex M16 X 325 4
RS7/11/1 S 77A 033770 Bolt Tow er M12 X 30 8
A RS7/11/1 S 78B 033781 Bolt Tow er M16 X 40 8
RS7/11/1 S 86B 065158 Washer Hs 16 4
RS7/11/1 S 88A 066412 Washer Tower 12 8
RS7/11/1 S 88B 066413 Washer Tower 16 8
RS7/11/1 S 60E 320531 Insulator,Pin 22/450 2
| RS7/11/1 S 60G 321260 Insulator,Disc 4
RS7/11/1 S 61A 322056 Ball Clevis & Pin 4
RS7/11/1 S 61D 322090 Kink Pin 4
RS7/11/1 S 61B 322386 Socket Termination 4
B RS7/11/1 S 59A 322721 Pin, Insulator 22kv 2
RS7/11/1 S 1F 323307 Crossarm Mk7 4
RS7/11/1 S 2A 323314 Crossarm Strap Mk14 8
RS7/11/1 S 5B 323394 Crossarm Spacer 2
— RS7/11/3 S 75M 032287 Bolt Hex M16 X 325 4
RS7/11/3 S 77A 033770 Bolt Tow er M12 X 30 8
RS7/11/3 S 78B 033781 Bolt Tow er M16 X 40 8
RS7/11/3 S 86B 065158 Washer Hs 16 4
RS7/11/3 S 88A 066412 Washer Tow er 12 8
C RS7/11/3 S 38B 066413 Washer Tow er 16 8
RS7/11/3 S 60E 320531 Insulator,Pin 22/450 2
RS7/11/3 S 60G 321260 Insulator,Disc 6
RS7/11/3 S 61A 322056 Ball Clevis & Pin 6
— RS7/11/3 S 61D 322090 Kink Pin 6
RS7/11/3 S 61B 322386 Socket Termination 6
RS7/11/3 S 59A 322721 Pin,Insulator 22kv 2
RS7/11/3 S 1F 323307 Crossarm Mk7 4
RS7/11/3 S 2A 323314 Crossarm Strap Mk14 8
D RS7/11/3 S 5B 323394 Crossarm Spacer 2
RS7/22/1 S 75M 032287 Bolt Hex M16 X 325 4
RS7/22/1 S 77A 033770 Bolt Tow er M12 X 30 8
| RS7/22/1 S 78B 033781 Bolt Tow er M16 X 40 8
RS7/22/1 S 86B 065158 Washer Hs 16 4
RS7/22/1 S 88A 066412 Washer Tow er 12 8
RS7/22/1 S 88B 066413 Washer Tow er 16 8
RS7/22/1 S 60E 320531 Insulator,Pin 22/450 2
E RS7/22/1 S 60G 321260 Insulator,Disc 8
RS7/22/1 S 61A 322056 Ball Clevis & Pin 4
RS7/22/1 S 61D 322090 Kink Pin 4
RS7/22/1 S 61B 322386 Socket Termination 4
RS7/22/1 S 59A 322721 Pin,Insulator 22kv 2
| RS7/22/1 S 1F 323307 Crossarm Mk7 4
RS7/22/1 S 2A 323314 Crossarm Strap Mk14 8
RS7/22/1 S 5B 323394 Crossarm Spacer 2
F RS7/22/3 S 75M 032287 Bolt Hex M16 X 325 4
RS7/22/3 S 77A 033770 Bolt Tow er M12 X 30 8
RS7/22/3 S 78B 033781 Bolt Tow er M16 X 40 8
RS7/22/3 S 86B 065158 Washer Hs 16 4
RS7/22/3 S 88A 066412 Washer Tower 12 8
— RS7/22/3 S 88B 066413 Washer Tower 16 8
RS7/22/3 S 60E 320531 Insulator,Pin 22/450 2
RS7/22/3 S 60G 321260 Insulator,Disc 12
RS7/22/3 S 61A 322056 Ball Clevis & Pin 6
RS7/22/3 S 61D 322090 Kink Pin 6
G RS7/22/3 S 61B 322386 Socket Termination 6
RS7/22/3 S 59A 322721 Pin, Insulator 22kv 2
RS7/22/3 S 1F 323307 Crossarm Mk7 4
RS7/22/3 S 2A 323314 Crossarm Strap Mk14 8
— RS7/22/3 S 5B 323394 Crossarm Spacer 2
i - FOR REFERENCE ONLY
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» © trading as TasNetworks OR TRANSHITTED B ANY NEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMSSION OF TASNETWORKS
oy TILE SCALE
-2 TasNetworks RIGHT ANGLE STRAIN 11kV OR 22kV NTS
< :(' ORAWN (5 PRO-SOLUTIONS MK7 [ROSSARM OPEN W‘RE
Z % DESIGNED BY ELECTRO MATER‘ALS UST
oz OBSOLETE AL
o C(HECKED BY H.WESTBURY
< APPROVED BY |- REVISION
DATE APPROVED | 24/MAY/19 D - O H [ - [ O 4 6 - S D - 0 0 2 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-16



Overhead Distribution Construction Manual - Miscellaneous Section 3
3.7 Tee Off Open Wire, Mk7 Crossarm (Obsolete)
1 | 2 | 3 | 4 5

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

A % \ 7%
QAA, [F + ° ° ° + i}
— REFER TO RELEVANT
HV ARRANGEMENT
B —
NB CENTRE DISC INSULATORS
OMITTED FOR CLARITY
— 2
w >
g s
x| =
- &5
C E
D - FOR REFERENCE
\\_>
‘
POSSUM GUARD
TO BE FITTED. "
REFER TO DRG
- D-0HC-G031-SD-001 —
SEE NOTE
F
SEE NOTE 2
NOTES
1. FOR POLES WITH
LARGE DIAMETERS
PACK CROSSARMS
ENDS WITH ITEM
G 5B DURING
ASSEMBLY.
2. FOR POLES WITH
SMALL DIAMETERS
— PACK CROSSARMS
WITH SPACERS
(S.l. No. 32.33.94)
AT POLE DURING
ASSEMBLY.
H
REFERENCE DRAWINGS APL Nos DIMENSIONS ARE IN MILLIMETRES
D-OHC-G031-SD-001 17/11/1, T1/1/3, 11/22/1, T1/22/3 UNLESS OTHERWISE STATED
© Tasmanian Nefworks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
> TITLE SCALE
-2 TasNetworks TEE OFF 1kV OR 22KV 130
< :(' ORAWN (S PRO-SOLUTIONS MK7 [ROSSARM OPEN W‘RE
x |Z _
w g DESIGNED BY ELECTRO OBSOLETE A[”
: © (HECKED BY H.WESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 24/MAY/19 D O H [ [ O L 7 S D O O /‘ A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-17




Overhead Distribution Construction Manual - Miscellaneous Section 3
Tee Off Open Wire, Mk7 Crossarm - Material List (Obsolete)
1 | 2 | | L 5
Unit_Assembly |Store Type| Item Ref | Stock Iltem Description Quantity
T7/11/1 S 75M 032287 Bolt Hex M16 X 325 2
A T7/11/1 S 77A 033770 Bolt Tow er M12 X 30 4
T7/11/1 S 78B 033781 Bolt Tow er M16 X 40 4
T7/11/1 S 86B 065158 Washer Hs 16 2
T7/11/1 S 88A 066412 Washer Tower 12 4
T7/11/1 S 88B 066413 Washer Tow er 16 4
(— T7/11/1 S 60E 320531 Insulator,Pin 22/450 1
T7/11/1 S 60G 321260 Insulator,Disc 2
T7/11/1 S 61A 322056 Ball Clevis & Pin 2
T7/11/1 S 61D 322090 Kink Pin 4
T7/11/1 S 61B 322386 Socket Termination 2
B T7/11/1 S 59A 322721 Pin, Insulator 22kV 1
T7/11/1 S 1F 323307 Crossarm MKk7 2
T7/11/1 S 2A 323314 Crossarm Strap Mk14 4
T7/11/1 S 5B 323394 Crossarm Spacer 2
1 T7/11/3 S 75M 032287 Bolt Hex M16 X 325 2
T7/11/3 S 77A 033770 Bolt Tow er M12 X 30 4
T7/11/3 S 78B 033781 Bolt Tow er M16 X 40 4
T7/11/3 S 86B 065158 Washer Hs 16 2
T7/11/3 S 88A 066412 Washer Tow er 12 4
C T7/11/3 S 88B 066413 Washer Tow er 16 4
T7/11/3 S 60E 320531 Insulator,Pin 22/450 1
T7/11/3 S 60G 321260 Insulator,Disc 3
T7/11/3 S 61A 322056 Ball Clevis & Pin 3
] T7/11/3 S 61D 322090 Kink Pin 6
T7/11/3 S 61B 322386 Socket Termination 3
T7/11/3 S 59A 322721 Pin, Insulator 22kV 1
T7/11/3 S 1F 323307 Crossarm MK7 2
T7/11/3 S 2A 323314 Crossarm Strap Mk14 4
D T7/11/3 S 5B 323394 Crossarm Spacer 2
T7/22/1 S 75M 032287 Bolt Hex M16 X 325 2
T7/22/1 S 77A 033770 Bolt Tow er M12 X 30 4
T7/22/1 S 78B 033781 Bolt Tow er M16 X 40 4
— T7/22/1 S 86B 065158 Washer Hs 16 2
T7/22/1 S 88A 066412 Washer Tow er 12 4
T7/22/1 S 88B 066413 Washer Tow er 16 4
T7/22/1 S 60E 320531 Insulator,Pin 22/450 1
T7/22/1 S 60G 321260 Insulator,Disc 4
E T7/22/1 S 61A 322056 Ball Clevis & Pin 2
T7/22/1 S 61D 322090 Kink Pin 12
T7/22/1 S 61B 322386 Socket Termination 2
T7/22/1 S 59A 322721 Pin, Insulator 22kV 1
T7/22/1 S 1F 323307 Crossarm MKk7 2
| T7/22/1 S 2A 323314  |Crossarm Strap Mk14 4
T7/22/1 S 5B 323394 Crossarm Spacer 2
T7/22/3 S 75M 032287 Bolt Hex M16 X 325 2
F T7/22/3 S 77A 033770 Bolt Tow er M12 X 30 4
T7/22/3 S 78B 033781 Bolt Tow er M16 X 40 4
T7/22/3 S 86B 065158 Washer Hs 16 2
T7/22/3 S 88A 066412 Washer Tow er 12 4
T7/22/3 S 88B 066413 Washer Tow er 16 4
— T7/22/3 S 60E 320531 Insulator,Pin 22/450 1
T7/22/3 S 60G 321260 Insulator,Disc 6
T7/22/3 S 61A 322056 Ball Clevis & Pin 3
T7/22/3 S 61D 322090 Kink Pin 18
T7/22/3 S 61B 322386 Socket Termination 3
] T7/22/3 S 59A 322721 Pin,Insulator 22kV/ 1
T7/22/3 S 1F 323307 Crossarm Mk7 2
T7/22/3 S 2A 323314 Crossarm Strap Mk14 4
T7/22/3 S 5B 323394 Crossarm Spacer 2
) FOR REFERENCE ONLY
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» © g 8 Ykt o GR TRANSHITIED 87 ANY-MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |y TITLE SCALE
-2 TasNetworks TEE OFF 11kV OR 22kV NTS
< 2‘ ORAWN (5 PRO-SOLUTIONS MK7 [ROSSARM OPEN W‘RE
Z % DESIGNED BY ELECTRO MATER‘ALS L‘ST
1= OBSOLETE AL
. (HECKED BY H.WESTBURY
< APPROVED BY |- REVISION
DATE APPROVED | 24/MAY/19 D - O H [ - [ O 4 7 - S D - O O 2 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-18



Overhead Distribution Construction Manual - Miscellaneous

Section 3

3.8

Intermediate Double Pin, Horizontal Double Circuit, Open Wire
Mk4 Crossarm (Obsolete)

1

| 2 |

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

A
[® EY o
5 S
L = 5 N E—
v (778 (88A)
C ”
r = + o ° o + kil |
| w>
D &L
=
E
F
J L 75Z X 88B
‘| - OBSOLETE B
H
APL Nos DIMENSIONS ARE IN MILLIMETRES
DV/11/3/PLM, DV/22/3/PLM UNLESS OTHERWISE STATED
. Ol g TP B e s
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |w TITLE SCALE
[ TasNetworks DOUBLE PIN VERTICAL 11kV OR 22kV 130
<|z — DOUBLE CIRCUIT - MK4 CROSSARM OPEN WIRE
o % ORAWN (5 PRO-SOLUTION! OBSOLETE
w = DESIGNED BY ELECTRO AL
: © (HECKED BY H.WESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 27/MAY/19 D O H [ [ O 4 8 S D O O W A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-19



Overhead Distribution Construction Manual - Miscellaneous Section 3

Intermediate Double Pin, Horizontal Double Circuit, Open Wire - Material List (Obsolete)

1 | 2 | 3 | A | 5
A
| Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
DV/11/1/PLM and S 3 323310/ Strain Plate Mk10 6
DV/22/1/PLM 1D 323304 |Crossarm Mk4 6
B 59A 322721 |Pin,Insulator 22kV 12
60E 320531 |Insulator Pin 22/450 12
75M 32287 |Bolt Hex M16 X 325 6
752 32261|Bolt Hex M16 X 45 12
| 77B 33771|Bolt Tower M12 X 35 12
82A 40441 |Nut M16 12
86B 65158 |Washer Els 16 6
C 88A 66412 |Washer Tower 12 12
88B 66413 |Washer Tower 16 12
2A 323314 |Crossarm Strap Mk14 12

° - OBSOLETE
- FOR REFERENCE ONLY

E

F

G

H

: R | IR

= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS

o |w TITLE SCALE

-2 TasNetworks DOUBLE PIN VERTICAL 11kV OR 22kV NTS

<|2 DOUBLE CIRCUIT MKL CROSSARM OPEN WIRE

= |2 e ateRLs LT

|3 OBSOLETE AL

o (HECKED BY H.WESTBURY

< APPROVED BY - _ _ _ _ REVISION
DATE APPROVED | 27/MAY/19 D O H [ [ O 4 8 S D O O 2 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-20



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.9 Intermediate Double Pin, Horizontal Open Wire, Mk4 Crossarm
(Obsolete)

1 | 2 | 3 | L | 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
OR
s
Fx Il +0]
B
-
2
S
hez3 3 i [
C
e R
M 2=
wv
w3
o| X o
- 3ES
2lgs
o
=45
D
<5
54
E - =t
5= T
e
T | i
75t L 788 X 885
F
4 — i
5L L 788 X 88B
G
s
H
NOTES
1. ALTERNATE CENTRE PHASE BETWEEN OPPOSITE SIDES OF POLE IN ORDER TO  APL Nos: DCD/11/1, DCD/11/3, DIMENSIONS ARE IN MILLIMETRES
AVOID CONDUCTOR CLASHING. DCD/22/1, DCD/22/3 UNLESS OTHERWISE STATED
© Tasmanian Nefworks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
w trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
il TasNetworks T SCALE
— |3 DOUBLE CIRCUIT HORIZONTAL INTERMEDIATE NTS
ME - - DOUBLE PIN 1kV OR 22kV - MK&4 CROSSARM
DRAWN (5 PRO-SOLUTION!
o é DESIGNED BY ELECTRO OPEN W‘RE
w b4
Clz OBSOLETE AL
CHECKED BY H.WESTBURY
< SR ¥ D - OHC - C049 - SD - 001
DATE APPROVED | 27/MAY/19 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-21



Overhead Distribution Construction Manual - Miscellaneous Section 3

Double Pin Horizontal, Open Wire, Mk4 Crossarm - Material List (Obsolete)

1 | 2 | 3 | 4 | 5
A
Unit_ Assembly Store Type | Item Ref | Stock Item Description Quantity
DCD/11/3 S 75L 032286 Bolt Hex M16 X 300 4
— DCD/11/3 S 77A 033770 Bolt Tow er M12 X 30 8
DCD/11/3 S 78B 033781 Bolt Tow er M16 X 40 12
DCD/11/3 S 82A 040441 Nut M16 4
DCD/11/3 S 88A 066412  |Washer Tower 12 8
DCD/11/3 S 88B 066413 Washer Tow er 16 12
B DCD/11/3 S 60E 320531 Insulator,Pin 22/450 12
DCD/11/3 S 59A 322721 Pin,Insulator 22kv 12
DCD/11/3 S 1D 323304  |Crossarm Mk4 4
DCD/11/3 S 3 323310 Strain Plate Mk10 6
— DCD/11/3 S 2A 323314 Crossarm Strap Mk14 8
DCD/11/3 S 4 323311 L' Bracket Mk11 2
DCD/22/3 S 75L 032286 Bolt Hex M16 X 300 4
DCD/22/3 S 77A 033770 Bolt Tow er M12 X 30 8
C DCD/22/3 S 78B 033781 Bolt Tow er M16 X 40 12
DCD/22/3 S 82A 040441 Nut M16 6
DCD/22/3 S 88A 066412 Washer Tower 12 12
DCD/22/3 S 88B 066413  |Washer Tow er 16 12
— DCD/22/3 S 60E 320531 Insulator,Pin 22/450 12
DCD/22/3 S 59A 322721 Pin,Insulator 22kv 12
DCD/22/3 S 1D 323304  |Crossarm Mk4 4
DCD/22/3 S 3 323310 Strain Plate Mk10 6
DCD/22/3 S 2A 323314 Crossarm Strap Mk14 8
D DCD/22/3 S 4 323311 L' Bracket Mk11 2

- OBSOLETE
; - FOR REFERENCE ONLY

F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,

< trading as TasNetworks R TRASMITED B ANY MEAKS WTHDUT T
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w e SCALE
-2 TasNetworks DOUBLE CIRCUIT HORIZONTAL INTERMEDIATE NTS
<|= DOUBLE PIN 11kV OR 22kV MK4 CROSSARM
x|z TR i OPEN WIRE MATERIALS LIST
-3 OBSOLETE Ak
. CHECKED BY HWESTBURY
< APPROVED BY - _ _ _ _ REVISION

DATE APPROVED | 27/MAY/19 D O H [ [ O 4 9 S D O O 2 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-22



Overhead Distribution Construction Manual - Miscellaneous Section 3
3.1 MS HVABC Intermediate Single Suspension
1 \ 2 \ 3 \ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE
A
8
wn
B &
Lock NuT(824)
C
\
—
D CATENARY 19/2.00
OR
OR SUSPENSION CLAMPS TO SUIT
0R METALLIC SCREENED HVABC
- - 1kV 35mm
- 1kV 185mm"
- 22kV 35mm’
- 22kV 185mm’
E METALLIC SCREENED HVABC
F
G
APL Nos
H |/HVABC11.35/3/PLM
|/HVABC11.185/3/PLM
|/HVABC22.35/3/PLM DIMENSIONS ARE IN MILLIMETRES
|/HVABC22.185/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o frading as TasNetworks SR TRANBMTTED By ANY HEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w TITLE SCALE
-2 TasNetworks MS HVABC INTERMEDIATE SINGLE SUSPENSION NTS
z § DRAWN ELECTRO
w g DESIGNED BY B. MAYBERRY ALL
= e CHECKED BY K. GOSDEN
< APPROVED BY | MICHAEL COOPER REVISION
DATE APPROVED | FEB 2022 D - 0OHC - C093 - SD - 001 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-23



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC Intermediate Single Suspension - Material List

— -

1 \ 2 \ 3 \ b 5
A
B Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
D/HVABC11.35 S 75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 2
/3/PLM 82A 40441 Nut Hex M16 8
87D 65616 Washer NS M16 2
98D 149119 |HVABC Mounting Bracket 1
— T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mm2 (TYCO IBSH1050) 2
T222 145601 |HV ABC Suspension Hook M16 (TYCO HB16200) 2
T223A NEW Metallic Screen HV ABC Cable 11kV 35mm2 (Olex Product Code UJHA18AA003) 1
C Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
D/HVABC11.18 S 75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 2
5/3/PLM 82A 40441 Nut Hex M16 8
87D 65616 Washer NS M16 2
98D 149119 [HVABC Mounting Bracket 1
— T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mmz2 (TYCO IBSH1075) 2
T222 145601 |HV ABC Suspension Hook M16 (TYCO HB16200) 2
T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 1
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
D D/HVABC22.35 S 75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 2
/3/PLM 82A 40441 Nut Hex M16 8
87D 65616 Washer NS M16 2
98D 149119 |HVABC Mounting Bracket 1
— T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mm2 (TYCO IBSH1060) 2
T222 145601 |HV ABC Suspension Hook M16 (TYCO HB16200) 2
T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AA003) 1
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
E | [o/rvaBC22.18 S 75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 2
5/3/PLM 82A 40441 Nut Hex M16 8
87D 65616 Washer NS M16 2
98D 149119 |HVABC Mounting Bracket 1
[ T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 2
T222 145601 |HV ABC Suspension Hook M16 (TYCO HB16200) 2
T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 1
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o tradng as Tastetworks LD TV S1Te o e
= ABN: 2L 167 357 299 PRIOR PERMISSION OF TASNETWORKS
S TNLE SCALE
- |2 TasNetworks MS HVABC INTERMEDIATE, SINGLE SUSPENSION NTS
<|Z P e MATERIALS LIST
x| =
w |8 DESIGNED BY | B. MAYBERRY
Z S CHECKED BY | K. GOSDEN AA
< APPROVED BY  |MICHAEL COOPER REVISION
T D - 0OHC - (093 - SD - 002 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-24



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.2 MS HVABC Angle Double Hook Suspension
[ B

1 \ 2 \ 3 \ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE
A
B
o
w
C &
LOCK NUT
D
— Iy Gy e e
£
| — CATENARY 19/2.00
OR
— OR
OR
SUSPENSION CLAMPS TO SUIT
METALLIC SCREENED HVABC
F
- 1kV 35mm’
- MkV 185mm*
- 22kV 35mm’'
G - 22kV 185mm’
METALLIC SCREENED HVABC
APL Nos
H D/HVABC11.35/3/PLM
D/HVABC11.185/3/PLM
D/HVAB(C22.35/3/PLM DIMENSIONS ARE IN MILLIMETRES
D/HVAB(C22.185/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
E4 ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
2R TasNetworks TLE SCALE
A MS HVABC ANGLE DOUBLE HOOK SUSPENSION NTS
< |2
. <z( DRAWN ELECTRO
w g DESIGNED BY | BMAYBERRY
[a4
e CHECKED BY | K.GOSDEN AA
- APPROVED BY | MICHAEL COOPER REVISION
< — — — —
D - ORC - C094 - 50 - 001 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-25



Overhead Distribution Construction Manual - Miscellaneous Section 3

ﬂVLS HVABC Angle Double Hook Suspension - Material List —

1 \ 2 \ 3 \ b 5
A
B
Store Type [Item Ref| Stock Item [Stock Item Description Quantity
D/HVABC11.35 S 75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 2
C 13/PLM 82A 40441 Nut Hex M16 8
87D 65616 Washer NS M16 2
98D 149119 [HVABC Mounting Bracket 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
[ T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mmz2 (TYCO IBSH1050) 2
T222 145601  [HV ABC Suspension Hook M16 (TYCO HB16200) 2
T223A NEW Metallic Screen HV ABC Cable 11kV 35mmz2 (Olex Product Code UJHA18AA003) 1
Store Type [ltem Ref| Stock Item [Stock Item Description Quantity
D/HVABC11.18 S 75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 2
) 5/3/PLM 82A 40441 Nut Hex M16 8
87D 65616 Washer NS M16 2
98D 149119 [HVABC Mounting Bracket 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
[ T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 2
T222 145601 [HV ABC Suspension Hook M16 (TYCO HB16200) 2
T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 1
Store Type [Item Ref| Stock Item [Stock Item Description Quantity
D/HVABC22.35 S 75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 2
E /3/PLM 82A 40441 Nut Hex M16 8
87D 65616 Washer NS M16 2
98D 149119 [HVABC Mounting Bracket 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
[ T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mmz2 (TYCO IBSH1060) 2
T222 145601 |HV ABC Suspension Hook M16 (TYCO HB16200) 2
T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AAQ003) 1
Store Type [Item Ref| Stock Item [Stock Item Description Quantity
D/HVABC22.18 S 75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 2
F [s/3/PLm 82A 40441 Nut Hex M16 8
87D 65616 Washer NS M16 2
98D 149119 |HVABC Mounting Bracket 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
[ | T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 2
T222 145601  [HV ABC Suspension Hook M16 (TYCO HB16200) 2
T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 1
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v frading as TasNetworks OF TRANSHITTED BY. ANY HEANS WITHOUT THE
= ABN: 2L 167 357 299 PRIOR PERMISSION OF TASNETWORKS
SRS TITLE SCALE
- |2 TasNetworks MS HVABC ANGLE DOUBLE HOOK SUSPENSION NTS
<|Z P e MATERIALS LIST
x| =
w |8 DESIGNED BY | BMAYBERRY
Z S CHECKED BY | K.GOSDEN AA
< APPROVED BY  |MICHAEL COOPER REVISION
e LA D - OHC - (094 - SD - 002 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-26



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.3 MS HVABC Right Angle Strain Unjointed

1 \ 2 \ 3 \ L 5
NB ENSURE THAT LOCKNUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
B
C
D
CATENARY 19/2.00
T332A
— T3328 ) BUNDLE CLAMPS
TO SUIT METALLIC
SCREENED HVABC
£ - 1kV 35mm
- 11kV 185mm’
o - 22kV 35mm’ OR
- 22kV 185mm’ OR
— METALLIC SCREENED HVABC \_/ R 2210
SUSPENSION CLAMPS TO SUIT
METALLIC SCREENED HVABC
F
G
APL Nos
H RS/HVABC11.35/3/PLM
RS/HVAB(11.185/3/PLM
RS/HVAB(22.35/3/PLM DIMENSIONS ARE IN MILLIMETRES
RS/HVABC22.185/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=] TasNetworks e SCAE
A MS HVABC RIGHT ANGLE STRAIN UNJOINTED NTS
< |2
. <z( DRAWN ELECTRO
w |2 DESIGNED BY B.MAYBERRY
[a4
e CHECKED BY | K.GOSDEN AA
-
< APPROVED BY | MICHAEL COOPER _ _ _ _ REVISION
v v | FEB 2022 D - OHC - €099 - SD - 001 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-27



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC Right Angle Strain Unjointed - Material List
— -

1 \ 2 \ 3 \ b 5
Store Type [ltem Ref| Stock Item |Stock Item Description Quantity
A ||Rs/HVABC S T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
11.35/3/PL T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mm2 (TYCO IBSH1050) 2
M T223A NEW Metallic Screen HV ABC Cable 11kV 35mm2 (Olex Product Code UJHA18AAQ03) 1
T332A NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 11kV 35mm2 - ‘Protect’ Trefoil Clamp 2
80E 37263 Bolt Eye M20 x 375 2
| 86C 65159 Washer ELS M20 2
89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
87E 65617 Washer NS M20 2
82B 40442 Nut Hex M20 4
B 61A 322056 [Ball Clevis & Pin 16mm 2
61B 322386 |Socket Termination 16mm 2
61D 322090 _|W' Clip / Kink Pin 2
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 2
Store Type [ltem Ref| Stock Item |Stock Item Description Quantity
_{|RS/HVABC S T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
11.185/3/P T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 2
LM T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 1
T332B NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 11kV 185mm2 - 'Protect’ Trefoil Clamp 2
80E 37263 Bolt Eye M20 x 375 2
(C 86C 65159 Washer ELS M20 2
89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
87E 65617 Washer NS M20 2
82B 40442 Nut Hex M20 4
61A 322056 [Ball Clevis & Pin 16mm 2
] 61B 322386 |Socket Termination 16mm 2
61D 322090 _|W' Clip / Kink Pin 2
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 2
Store Type [ltem Ref| Stock Item |Stock Item Description Quantity
RS/HVABC S T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
D 22.35/3/PL T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mm2 (TYCO IBSH1060) 2
M T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AA003) 1
T332C NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 22kV 35mm2 - ‘Protect’ Trefoil Clamp 2
80E 37263 Bolt Eye M20 x 375 2
L 86C 65159 Washer ELS M20 2
89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
87E 65617 Washer NS M20 2
82B 40442 Nut Hex M20 4
61A 322056 [Ball Clevis & Pin 16mm 2
E 61B 322386 _|Socket Termination 16mm 2
61D 322090 _|W' Clip / Kink Pin 2
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 2
Store Type [ltem Ref| Stock Item |Stock Item Description Quantity
RS/HVABC S T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
—1|22.185/3/P T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 2
LM T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 1
T332D NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 22kV 185mm2 - ‘Protect’ Trefoil Clamp 2
80E 37263 Bolt Eye M20 x 375 2
86C 65159 Washer ELS M20 2
F 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
87E 65617 Washer NS M20 2
82B 40442 Nut Hex M20 4
61A 322056 [Ball Clevis & Pin 16mm 2
61B 322386 |Socket Termination 16mm 2
] 61D 322090 _|W' Clip / Kink Pin 2
55J 146857 | Conductor Connection Slit Bolt 'D' Brass Clamp 2
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v frading as TasNetworks OF TRANSHITTED BY. ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°l3 TasNetworks e Schie
Z|a MS HVABC RIGHT ANGLE STRAIN UNJOINTED NTS
<|Z P e MATERIAL LIST
e =
w |2 DESIGNED BY | BNAYBERRY
Z S CHECKED BY | K.GOSDEN AL
< APPROVED BY | MICHAEL COOPER REVISON
DATE APPROVED | FEB 2022 D B O H[ - [099 B SD B 002 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-28



Overhead Distribution Construction Manual - Miscellaneous Section 3
3.4 MS HVABC Strain Transition Open Wire Steel Crossarms
—

1 \ 2 \ 3 \ L \ 5

NB ENSURE THAT LOCKNUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.

A
COMPRESSION SLEEVES OR
CLAMP CONNECTORS TQ SUIT
CONDUCTOR SIZE/TYPE
B
HELICAL TERMINATIONS
TO SUIT CONDUCTOR 30.35.67
- iE
o C1337A
o (13378
T337C
NS
518
0R
19F ) or(_119G
HVABC SCREEN
EARTH TAILS
606 X 61A
NOTE 1
ol -
60K “
SUSPENSION CLAMPS ) ). N
T0 SUIT METALLIC A\\ “l yy
SCREENED HVABC &y §?v D)
= (S}
CATENARY _ & Y é’-/,/ 7 510
19/2.00 48 > T<R
N\ \ ’ o
N 0
=
d Al 0R OR 0R
i 1225A X T2258 X T225C X 12250 )
g‘il TERMINATIONS TO SUIT
L‘ METALLIC SCREENED HVABC
1
- \
22 BUNDLE CLAMPS
13328
0R TO SUIT METALLIC
F / 1332C ) SCREENED HVABC
© T3320 L1

19/2.14Cu EARTH
DOWN LEAD PVC

R T223A ) - 1kV 35mm’
0R 12238 ) - 11kV 185mm
R

T223C ) - 22kV 35mm’
T2230 ) - 22kV 185mm’

METALLIC SCREENED HVABC

NOTES:

1. HVABC SCREEN WIRES TO BE CONNECTED TO EARTH
DOWNLEAD ON SOURCE SIDE ONLY, TERMINATE THE SCREEN
H WIRES TO A COPPER LINK & TAPE ON AWAY SIDE & DO NOT
TERMINATE TO EARTH DOWNLEAD.

2. FIT INSULATION SLEEVING TQ ALL BRIDGING.

APL Nos

ST/HVABC11.35./3/PLM
ST/HVABC11.185/3/PLM
ST/HVAB(22.35/3/PLM
ST/HVAB(22.185/3/PLM

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,

v frading as TasNetworks OR TRANSHITTED 3Y ANY HEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TITLE SCALE
-2 TasNetworks MS HVABC STRAIN TRANSITION OPEN WIRE NTS
<|2 STEEL CROSS ARMS
x|= DRAWN ELECTRO
w |2 DESIGNED BY B. MAYBERRY
Z % CHECKED BY K. GOSDEN AA
< APPROVED BY | MICHAEL COOPER _ _ _ _ REVISION

DATE APPROVED | FEB 2022 D O H [ [ /‘ O 2 S D O O /‘ A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-29



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC Strain Transition Open Wire Steel Crossarms - Material List 1

— -

1 \ 2 \ 3 \ L 5
A
B Store Type [Item Ref| Stock Item |Stock Item Description Quantity
ST/HVABC S 4 323311 [L'Bracket 75 x 12 x 660, Flat Bar, Mark 11 2
11.35/3/PL 5 323310 _|Strain Double Pin Plate 65 x 12 x 678 Flat Bar, Mark 10 3
M 303567 303567 |Termination Bar for Surge Arresters & Stand Off insulator 6
- 1198B 225797 [Surge Diverter Base Mount 3
119F 225772 |Surge Diverter 10kA - 11kV 3
122A 33744 Bolt Tower M20 x 45 - Thread Length 24mm 6
1E 323305 |Crossarm 100 x 100 x 8, Galvanised Steel Angle, 2210 Long, Mark 5 2
2A 322214 [Crossarm Strap 40 x 5 x 700, Flat Bar, Mark 14 4
( 35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 16
35F 152476  |Lug Bi-Metal Compression Tinned M12 Hole 35mm2 Cable 3
51A 103208 _|Conductor Cu Insulated Hard Drawn 1c 16mm2, 7/1.70 12
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 24
[ 55J 146857 _ |Conductor Connection Slit Bolt 'D' Brass Clamp 2
60G 321260 _|Insulator Disc Porcelain 16mm 70Kn 146mm 6
60J 320452 Insulator, Synthetic 11kV Stand Off 3
61A 322056 __|Ball Clevis & Pin 16mm 4
61B 322386 __|Socket Termination 16mm 4
D 61D 322090 |W' Clip / Kink Pin 10
62G 225771 |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 6
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 3
752 32261 Bolt Hex M16 x 45 - Thread Length 24mm
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 16
[ 80D 37261 _ |Bolt Eye M20 x 350 1
82A 40441 Nut Hex M16 9
82B 40442 Nut Hex M20 8
82C 40440 |Nut Hex M12 20
E 86C 65159 Washer ELS M20 2
87C 65615  |Washer NS M12 12
87D 65616 Washer NS M16 3
87E 65617  |Washer NS M20 6
88A 66412 Washer Tower M12 4
— T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mm2 (TYCO IBSH1050) 1
T223A NEW Metallic Screen HV ABC Cable 11kV 35mm2 (Olex Product Code UJHA18AA003) 1
T225A NEW Metallic Screen HV ABC Cable Termination 11kV 35mmz2, 3x1C, 19/2.00-10mm Dia Gal Catenary 3
F T330 144959  |Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 3
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 5
T332A NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 11kV 35mm2 - ‘Protect’ Trefoil Clamp 1
T337A 141410 _ |Ferrule - Copper, Cable Links for MS HVABC Cable 11kV 35mm2 Screen Wires - CSA 13.62mm2 3
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v frading as TasNetworks OF TRANSHITTED BY. ANY HEANS WITHOUT THE
= ABN: 2L 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TITLE SCALE
- |2 TasNetworks MS HVABC STRAIN TRANSITION OPEN WIRE NTS
< |2 STEEL CROSS ARMS
o |2 DRAWN ELECTRO
z MATERIAL LIST - 35mm2 1KV ABC
w |2 DESIGNED BY | B. MAYBERRY A[+
Z © CHECKED BY | K. GOSDEN
< APPROVED BY | MICHAEL COOPER REVISION
YT — D- OHC - (102 - SD - 002 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-30



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC Strain Transition Open Wire Steel Crossarms - Material List 2

— -

1 \ 2 \ 3 \ L 5
A
Store Type |Iltem Ref| Stock Item |Stock Item Description Quantity
ST/HVABC S 4 323311 |L' Bracket 75 x 12 x 660, Flat Bar, Mark 11 2
11.185/3/P 5 323310 _|Strain Double Pin Plate 65 x 12 x 678 Flat Bar, Mark 10 3
B [|lLm 303567 303567 | Termination Bar for Surge Arresters & Stand Off insulator 6
119B 225797 |Surge Diverter Base Mount 3
119F 225772 |Surge Diverter 10kA - 11kV 3
122A 33744 Bolt Tower M20 x 45 - Thread Length 24mm 6
[ | 1E 323305 |Crossarm 100 x 100 x 8, Galvanised Steel Angle, 2210 Long, Mark 5 2
2A 322214 |Crossarm Strap 40 x 5 x 700, Flat Bar, Mark 14 4
35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 16
35K 152482 |Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 3
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 12
C 51D 103212 | Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 24
55J 146857 | Conductor Connection Slit Bolt 'D' Brass Clamp 2
60G 321260 _|Insulator Disc Porcelain 16mm 70Kn 146mm 6
60J 320452 |Insulator, Synthetic 11kV Stand Off 3
61A 322056 __|Ball Clevis & Pin 16mm 4
[ 61B 322386 [Socket Termination 16mm 4
61D 322090 _|W' Clip / Kink Pin 10
62G 225771 _|Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 6
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 3
D 752 32261 Bolt Hex M16 x 45 - Thread Length 24mm 3
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 16
80D 37261 [Bolt Eye M20 x 350 1
82A 40441 Nut Hex M16 9
82B 40442 |Nut Hex M20 8
[ 82C 40440 Nut Hex M12 20
86C 65159  [Washer ELS M20 2
87C 65615 Washer NS M12 12
87D 65616 |Washer NS M16 3
E 87E 65617 Washer NS M20 6
88A 66412 Washer Tower M12 4
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 1
T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJIHA25AA003) 1
— T225B NEW Metallic Screen HV ABC Cable Termination 11kV 185mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 3
T330 144959  |Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 3
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 5
T332B NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 11kV 185mm2 - 'Protect’ Trefoil Clamp 1
F T337B 141412 |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 3
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. STORED IN A RETRIEVAL STSTEN N ANY FORM.
v frading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 2L 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TITLE SCALE
- |2 TasNetworks MS HVABC STRAIN TRANSITION OPEN WIRE NTS
< |2 STEEL CROSS ARMS
< DRAWN ELECTRO
=5 MATERIAL LIST - 185mm2 11KV ABC
w |2 DESIGNED BY | B. MAYBERRY A[+
Z © CHECKED BY | K. GOSDEN
< APPROVED BY | MICHAEL COOPER REVISION
DATE APPROVED | FEB 2022 D-0HC - C102 - SD - 003 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-31



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC Strain Transition Open Wire Steel Crossarms - Material List 3

— -

1 \ 2 \ 3 \ L 5
A
Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
ST/HVABC S 4 323311 |L' Bracket 75 x 12 x 660, Flat Bar, Mark 11 2
22.35/3/PL 5 323310 |Strain Double Pin Plate 65 x 12 x 678 Flat Bar, Mark 10 3
M 303567 303567 | Termination Bar for Surge Arresters & Stand Off insulator 6
B 1198B 225797 |Surge Diverter Base Mount 3
119G 225773 |Surge Diverter 10kA - 22kV 3
122A 33744 Bolt Tower M20 x 45 - Thread Length 24mm 6
1E 323305 [Crossarm 100 x 100 x 8, Galvanised Steel Angle, 2210 Long, Mark 5 2
[ 2A 322214 |Crossarm Strap 40 x 5 x 700, Flat Bar, Mark 14 4
35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 16
35F 152476  |Lug Bi-Metal Compression Tinned M12 Hole 35mm2 Cable 3
51B 103209 | Conductor Cu Insulated Hard Drawn 1c 25mm2, 19/1.35 12
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 24
( 55J 146857 _ |Conductor Connection Slit Bolt ‘D' Brass Clamp 2
60G 321260 _|Insulator Disc Porcelain 16mm 70Kn 146mm 6
60K 320453 Insulator, Synthetic 22kV Stand Off 3
61A 322056 |Ball Clevis & Pin 16mm 4
61B 322386 __|Socket Termination 16mm 4
[ 61D 322090 _|W' Clip / Kink Pin 10
62G 225771 |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 6
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 3
752 32261 Bolt Hex M16 x 45 - Thread Length 24mm 3
D 77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 16
80D 37261 Bolt Eye M20 x 350 1
82A 40441 |Nut Hex M16 9
82B 40442 Nut Hex M20 8
82C 40440 |Nut Hex M12 20
[ | 86C 65159 Washer ELS M20 2
87C 65615  |Washer NS M12 12
87D 65616 Washer NS M16 3
87E 65617  |Washer NS M20 6
E 88A 66412 Washer Tower M12 4
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mm2 (TYCO IBSH1060) 1
T223C NEW Metallic Screen HV ABC Cable 22kV 35mmz2 (Olex Product Code ULHA18AAQ03) 1
T225C NEW Metallic Screen HV ABC Cable Termination 22kV 35mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 3
1 T330 144959  |Conductor Clamp Cu Par/Groove 16-95mmz2 (TE Connectivity HEL-3030 Prod Code 831160-000) 3
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 5
T332C NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 22kV 35mm?2 - ‘Protect’ Trefoil Clamp 1
T337C 141414 |Ferrule - Copper, Cable Links for MS HVABC Cable 22kV 35mm2 Screen Wires - CSA 22.7mm2 3
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v frading as TasNetworks OF TRANSHITTED BY. ANY HEANS WITHOUT THE
= ABN: 2L 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TITLE SCALE
- |2 TasNetworks MS HVABC STRAIN TRANSITION OPEN WIRE NTS
< |2 STEEL CROSS ARMS
< DRAWN ELECTRO
=5 MATERIAL LIST - 35mm2 22KV ABC
w |2 DESIGNED BY | B. MAYBERRY A[+
Z © CHECKED BY | K. GOSDEN
< APPROVED BY | MICHAEL COOPER REVISION
Y —— D- 0OHC - (102 - SD - 00& A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-32



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC Strain Transition Open Wire Steel Crossarms - Material List 4

— -

1 \ 2 \ 3 \ L 5
A
B Store Type |ltem Ref| Stock Item |Stock Item Description Quantity
ST/HVABC S 4 323311 |L'Bracket 75 x 12 x 660, Flat Bar, Mark 11 2
22.185/3/P 5 323310 |Strain Double Pin Plate 65 x 12 x 678 Flat Bar, Mark 10 3
LM 303567 303567 |Termination Bar for Surge Arresters & Stand Off insulator 6
1198 225797 |Surge Diverter Base Mount 3
1 119G 225773 _|Surge Diverter 10kA - 22kV 3
122A 33744 Bolt Tower M20 x 45 - Thread Length 24mm 6
1E 323305 |Crossarm 100 x 100 x 8, Galvanised Steel Angle, 2210 Long, Mark 5 2
2A 322214 |Crossarm Strap 40 x 5 x 700, Flat Bar, Mark 14 4
35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 16
( 35K 152482 |Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 3
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 12
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 24
55J 146857  |Conductor Connection Slit Bolt ‘D' Brass Clamp 2
— 60G 321260 _|Insulator Disc Porcelain 16mm 70Kn 146mm 6
60K 320453 |Insulator, Synthetic 22kV Stand Off 3
61A 322056 |Ball Clevis & Pin 16mm 4
61B 322386 __|Socket Termination 16mm 4
61D 322090 |W' Clip / Kink Pin 10
D 62G 225771 |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 6
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 3
752 32261 Bolt Hex M16 x 45 - Thread Length 24mm 3
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 16
[ 80D 37261 Bolt Eye M20 x 350 1
82A 40441 |Nut Hex M16 9
82B 40442 Nut Hex M20 8
82C 40440 |Nut Hex M12 20
86C 65159 Washer ELS M20 2
£ 87C 65615  |Washer NS M12 12
87D 65616 Washer NS M16 3
87E 65617  |Washer NS M20 6
88A 66412 Washer Tower M12 4
L T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 1
T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 1
T225D NEW Metallic Screen HV ABC Cable Termination 22kV 185mm2, 3x1C 19/2.00-10mm Dia Gal Catenary 3
T330 144959  |Conductor Clamp Cu Par/Groove 16-95mmz2 (TE Connectivity HEL-3030 Prod Code 831160-000) 3
F T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 5
T332D NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 22kV 185mm2 - 'Protect’ Trefoil Clamp 1
T337B 141412  |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 3
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v frading as TasNetworks OF TRANSHITTED BY. ANY HEANS WITHOUT THE
= ABN: 2L 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TITLE SCALE
- |2 TasNetworks MS HVABC STRAIN TRANSITION OPEN WIRE NTS
< |2 STEEL CROSS ARMS
< DRAWN ELECTRO
=5 MATERIAL LIST - 185mm2 22KV ABC
w |2 DESIGNED BY | B. MAYBERRY A[+
Z © CHECKED BY | K. GOSDEN
< APPROVED BY | MICHAEL COOPER REVISION
DATE APPROVED | FEB 2022 D - O H [ - [ w O 2 S D - OO 5 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-33



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.5 MS HVABC Dead End FRP Crossarm
B ]

1 \ 2 \ 3 \ L 5
NB ENSURE THAT LOCKNUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE. NOTE: EARTH CABLES RUNS UNDER THE
CROSSARM TO EACH SURGE DIVERTER.
A
T arreral(: Y
(1225A Y 12258 Y T225¢ )( 12250 ST O0R
o
TERMINATIONS TO SUIT /j _ 19F
METALLIC SCREENED HVABC
B
DL
T226A 51D
— T229A A 1227
2298
C
SUSPENSION CLAMPS
TO SUIT METALLIC
SCREENED HVABC
oR T221A
. WG
0R T221C
- 10
T337A T200E
T337B
£ 7337C
COPPER LINKS TO
SUIT MSHVABC
C kY 35mm SCREENED WIRES
- 11kV 185mm’
- 22kV 35mm’
0 - 22kV 185mm’
T332¢ OR METALLIC SCREENED HVABC
; )™
BUNDLE CLAMPS \
TO SUIT METALLIC \m
SCREENED HVABC U EARTH
DOWN LEAD PVC
q
APL Nos
H| NOTES DE/HVABC11.35/FRP
1. TERMINATE HVABC SCREEN WIRES TO A COPPER LINK & TAPE. DE/HVABC11.185/FRP
2. THIS ARRANGEMENT CAN BE IN BIRD PROBLEM AREAS. DE/HVABC22.35/3/FRP DIMENSIONS ARE IN MILLIMETRES
DE/HVABC22.185/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading ds lasNerworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN- 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
= TasNetworks TLe SUALE
-2 MS HVABC DEAD END NTS
< |z FRP CROSSARM
o |2 DRAWN ELECTRO
w |8 DESIGNED BY | BMAYBERRY AL
o
e CHECKED BY | K.GOSDEN
.
- APPROVED BY | MICHAEL COOPER REVISION
DATE APPROVED | FEB 2022 D - OHC = €103 - SD - 001 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-34



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC Dead End FRP Crossarm - Material List 1

[ 1

1 | 2 | 3 4 5
A
~ |Store Ty| ~ |Item R ~ | Stock Itel ~ [Stock Item Description * |Quant ~
I ||DE/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
11.35/3/FRP 119F 225772 [Surge Diverter 10kA - 11kV 3
35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 4
35F 152476  |Lug Bi-Metal Compression Tinned M12 Hole 35mm2 Cable 3
B 51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm?2, 19/2.14 15
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp
61A 322056 |Ball Clevis & Pin 16mm
61B 322386 |Socket Termination 16mm
61D 322090 |W' Clip / Kink Pin
— 62G 225771 |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm
75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm
80E 37263 Bolt Eye M20 x 375
C 82A 40441 Nut Hex M16
82B 40442 Nut Hex M20
82C 40440 Nut Hex M12
86B 65158 Washer ELS M16
86C 65159 Washer ELS M20
1 87C 65615 Washer NS M12
87D 65616 Washer NS M16
87E 65617 Washer NS M20

T200E 323223 [CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM

T203A 323316 [XARM BRACE - 716x40x8

D T206C 325639 [M16 EYE BOLT 500 - Thread Length 75mm

T208B 323307 [GAIN BLOCK 125mm

T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm.
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975)

| T221A NEW Metallic Screen HV ABC Suspension Clamp 11kV 35mm2 (TYCO IBSH1050)

T223A NEW Metallic Screen HV ABC Cable 11kV 35mm2 (Olex Product Code UJHA18AA003)
T225A NEW Metallic Screen HV ABC Cable Termination 11kV 35mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary
T226A 323368 Bracket,stand off mounting FRP crossarm EDO
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm

E T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick)
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm)
T330 144959 |Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000)
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm
T332A NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 11kV 35mm2 - 'Protect' Trefoil Clamp

wlk[s[rlo|w|w|w|w|k |k |k |k ke e R e s ok v e [N |o e ol e ok e e s

— T337A 141410 |Ferrule - Copper, Cable Links for MS HVABC Cable 11kV 35mm2 Screen Wires - CSA 13.62mm2

F
G
H

DIMENSIONS ARE IN MILLIMETRES

UNLESS OTHERWISE STATED

© Tasmanian Netwarks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM N ANY FORM,
v trading as TasNetworks OR TRANSMTTED BY ANY MEANS WITHOUT THE
ES ABN: 2L, 167 357 299 PRIOR PERMSSION OF TASNETWORKS
o |w
1R TasNetworks e SCALE
-2 MS HVABC DEAD END NTS
< |2 FRP CROSSARM
o |2 DRAWN ELECTRO
z MATERIAL LIST - 35mm2 11KV ABC
w = DESIGNED BY B.MAYBERRY AL
: o CHECKED BY K.GOSDEN
< APPROVED BY MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED |FEB 2022 D O H [ [ W O 3 S D OO 2 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-35



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC Dead End FRP Crossarm - Material List 2

[ 1

1 | 2 | 3 4 5
A
Store Type|ltem Ref| Stock Item [Stock Item Description Quantity
DE/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
11.185/3/FR 119F 225772 |Surge Diverter 10kA - 11kV 3
P 35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 4
B 35K 152482 |Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 3
51D 103212 _|Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 15
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 2
61A 322056 |Ball Clevis & Pin 16mm 1
| 61B 322386 [Socket Termination 16mm 1
61D 322090 (W' Clip / Kink Pin 1
62G 225771 [Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 1
C 77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 3
80E 37263 Bolt Eye M20 x 375 1
82A 40441 Nut Hex M16 5
82B 40442 Nut Hex M20 2
82C 40440 Nut Hex M12 3
1 86B 65158 Washer ELS M16 2
86C 65159 Washer ELS M20 1
87C 65615 Washer NS M12 3
87D 65616 Washer NS M16 4
87E 65617 Washer NS M20 1
D T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 [XARM BRACE - 716x40x8 1
T205A NEW M16 Spring Washer - Galvanised Spring Steel DIN127B (OD: 27mm, ID: 16.2 - 17.0mm, Thickness: 3.5) 2
T206C 325639 [M16 EYE BOLT 500 - Thread Length 75mm 1
T208B 323307 [GAIN BLOCK 125mm 1
| T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 1
T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 1
E T225B NEW Metallic Screen HV ABC Cable Termination 11kV 185mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 3
T226A 323368 |Bracket,stand off mounting FRP crossarm EDO 3
1227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 6
— T330 144959 |Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 1
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 4
T332B NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 11kV 185mmz2 - ‘Protect’ Trefoil Clamp 1
T337B 141412 |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 3
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w O et a3 Toshatworss OF TRANSHITTED BY. ANY LEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TITLE SCALE
- |2 TasNetworks MS HVABC DEAD END NTS
< |z FRP CROSSARM
o |2 DRAWN ELECTRO
z MATERIAL LIST - 185mm2 11KV ABC
w8 DESIGNED BY | B.NAYBERRY AL
: © CHECKED BY | K.GOSDEN
< APPROVED BY | MICHAEL COOPER REVISION
DATE APPROVED | FEB 2022 D - O H [ - [ W O 3 - S D - OO 3 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-36



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC Dead End FRP Crossarm - Material List 3

[ 1

1 | 2 | 3 4 5
A
Store Type |ltem Ref| Stock Item |Stock Item Description Quantit
B DE/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
22.35/3/FRP 119G 225773 [Surge Diverter 10kA - 22kV 3
35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 4
35F 152476  |Lug Bi-Metal Compression Tinned M12 Hole 35mm2 Cable 3
| 51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 15
55J 146857 | Conductor Connection Slit Bolt 'D' Brass Clamp 2
61A 322056 [Ball Clevis & Pin 16mm 1
61B 322386 [Socket Termination 16mm 1
61D 322090 |W' Clip / Kink Pin 1
C 62G 225771 [Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 1
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 3
80E 37263 Bolt Eye M20 x 375 1
— 82A 40441 Nut Hex M16 5
82B 40442 Nut Hex M20 2
82C 40440 Nut Hex M12 3
86B 65158 Washer ELS M16 2
86C 65159  |Washer ELS M20 1
D 87C 65615 Washer NS M12 3
87D 65616 Washer NS M16 4
87E 65617 Washer NS M20 1
T200E 323223 [CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 1
| T205A NEW M16 Spring Washer - Galvanised Spring Steel DIN127B (OD: 27mm, ID: 16.2 - 17.0mm, Thickness: 3.5) 2
T206C 325639 |M16 EYE BOLT 500 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
E T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mm2 (TYCO IBSH1060) 1
T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AA003) 1
T225C NEW Metallic Screen HV ABC Cable Termination 22kV 35mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 3
T226A 323368 |Bracket,stand off mounting FRP crossarm EDO 3
— T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 6
T330 144959 |Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 1
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 4
F T337C 141414 |Ferrule - Copper, Cable Links for MS HVABC Cable 22kV 35mm2 Screen Wires - CSA 22.7mm2 1
T337C 141414 |Ferrule - Copper, Cable Links for MS HVABC Cable 22kV 35mm2 Screen Wires - CSA 22.7mm2 3
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w O et a3 Toshatworss OF TRANSHITTED BY. ANY LEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TITLE SCALE
- |2 TasNetworks MS HVABC DEAD END NTS
< |z FRP CROSSARM
o |2 DRAWN ELECTRO
z MATERIAL LIST - 35mm2 22KV ABC
w8 DESIGNED BY | B.NAYBERRY AL
: © CHECKED BY | K.GOSDEN
< APPROVED BY [ MICHAEL COOPER REVISION
DATE APPROVED | FEB 2022 D- 0OHC - (103 - SD - 004 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-37



Overhead Distribution Construction Manual - Miscellaneous Section 3
MS HVABC Dead End FRP Crossarm - Material List 4
1 | 2 | 3 [ 5
A
B
Store Type|ltem Ref| Stock Item |Stock Item Description Quantity
DE/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
— |22.185/3/FR 119G 225773 _|Surge Diverter 10kA - 22kV 3
P 35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 4
35K 152482 |Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 3
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 15
55J 146857 _|Conductor Connection Slit Bolt 'D' Brass Clamp 2
( 61B 322386 [Socket Termination 16mm 1
61D 322090 ‘W' Clip / Kink Pin 1
62G 225771 _|Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75N 32287 Bolt Hex M16 X 350 - Thread Length 57mm 1
| 77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 3
80E 37263 Bolt Eye M20 x 375 1
82A 40441 Nut Hex M16 5
82B 40442 Nut Hex M20 2
D 82C 40440 Nut Hex M12 3
86B 65158 Washer ELS M16 2
86C 65159  |Washer ELS M20 1
87C 65615 Washer NS M12 3
87D 65616 Washer NS M16 4
— 87E 65617 Washer NS M20 1
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 1
T205A NEW M16 Spring Washer - Galvanised Spring Steel DIN127B (OD: 27mm, ID: 16.2 - 17.0mm, Thickness: 3.5) 2
T206C 325639 |M16 EYE BOLT 500 - Thread Length 75mm 1
E T208B 323307 [GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 1
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 1
T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 1
| T225D NEW Metallic Screen HV ABC Cable Termination 22kV 185mm2, 3x1C 19/2.00-10mm Dia Gal Catenary 3
T226A NEW Surge Arrester/Stand Off Insulator/EDO Mounting Bracket - Crossarm Mounted (‘L' Bracket 360 x 52x10) 3
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 6
F T330 NEW Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 1
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 4
T332D NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 22kV 185mm2 - 'Protect’ Trefoil Clamp 1
T337B 141412 |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 3
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» O g o Yekaeares SR TRANSHTIED By ANY NEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
° |y TILE SCALE
-2 TasNetworks MS HVABC DEAD END NTS
< |2 FRP CROSSARM
o |Z DRAWN ELECTRO
z MATERIAL LIST - 185mm2 22KV ABC
wg DESIGNED BY | B.MAYBERRY A[}
: 4 CHECKED BY | K.GOSDEN
< APPROVED BY | MICHAEL COOPER REVISION
DATE APPROVED [ FEB 2022 D-0HC- (€103 = SD - 005 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-38



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.6 MS HVABC 185mm? Strain with Tee-off

1 \ 2 \ 3 \ L 5
NB ENSURE THAT LOCKNUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
oR(T223A ) - TV 35
A or (12238 ) - 11kV 185mm’
or G 12230 ) - 22kV 35’
20 72230 ) - 22kV 185mm’
METALLIC SCREENED HVABC
B
opCT221A
— orC_T2218
oRGT221C
7221
SUSPENSION CLAMPS CATENARY 19/2.00
TO SUIT METALLIC
C SCREENED HVABC (CBoe (828 ) 8o )(87E )89 )
7220
D
3
HVABC SCREEN S, 2
EARTH TAILS NOTE 1 Q ]
N
‘ QR
‘,‘/ oR oR / 5 g (13378
C L T337C
s 13374 X_13378 X_T1337C "?
COPPER LINKS TO SUIT 3 'f OR
MS HVABC SCREEN WIRES i 7330 INEEED),
(13328) > 51C
8§ T3328 331 \*\~\/’
N QEETTS \ g
73320 OR ::‘J; i <
BUNDLE CLAMPS TO SUIT
METALLIC SCREENED HVABC 600A ELBOW TERMINATION (T3408)
TO SUIT 185mm  MS HVABC
F
G
1 19/2.14Cu EARTH
\¥/ DOWN LEAD PVC
G
NOTES
1. HVABC SCREEN WIRES TO BE CONNECTED TO EARTH
H DOWNLEAD ON SOURCE SIDE ONLY, TERMINATE THE SCREEN
WIRES TO A COPPER LINK & TAPE ON AWAY SIDE AL N
0s
& DO NOT TERMINATE TO EARTH DOWNLEAD. STO/HVABC11.185/3/PLM DIMENSIONS ARE IN MILLIMETRES
STO/HVAB(22.185/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
wn trading as TasNetworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
g OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
212 TasNetworks Time STALE
A MS HVABC 185mm2 STRAIN WITH TEE-OFF NTS
< |
o |2 DRAWN ELECTRO
uwi @ DESIGNED BY B.MAYBERRY
[a4
= o CHECKED BY K.GOSDEN AA
=
< APPROVED BY | MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED | FEB 2022 D OHC 106 SD 001 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-39



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC 185mm? Strain with Tee-off - Material List

—

1 \ 2 \ 3 b 5
A Store Type|ltem Ref| Stock Item |Stock Item Description Quantit
STO/HVABC S T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 3
11.185/3/PL T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 3
M T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 3
— T332B NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 11kV 185mm2 - 'Protect' Trefoil Clamp 3
T337B 141412 |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 9
T340A 149311 |[Bracket, Tee Support, Pole Mounted 185mm2_MS HVABC Cable Tee Joints - AusNet Dwg. VX14/433/4. 1
T341A 165270  |600A Bolted Elbow Termination 3-Way 11kV 185mm2 MS HVABC Cable. AusNet Dwg. EVX9/140/44. 3
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 11
B T340B 149313 [Clamp, Band Suits 35 & 185mm2_ MS HVABC Cable Tee Joint Brackets - AusNet Dwg. VX14/298. 1
80E 37263 Bolt Eye M20 x 375 3
86C 65159 Washer ELS M20 3
82B 40442 Nut Hex M20 6
89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 3
] 87E 65617 Washer NS M20 3
61A 322056 _|Ball Clevis & Pin 16mm 3
61B 322386 |Socket Termination 16mm 3
61D 322090 _|W' Clip / Kink Pin 3
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 8
¢ 35E 141363 [Lug Crimp Cu M12 Hole 70mm2 Cable 1
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 12
T330 NEW Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
55J 146857 |Conductor Connection Slit Bolt 'D' Brass Clamp 6
[ Store Type|ltem Ref| Stock Item |Stock Item Description Quantit
STO/HVABC S T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 3
22.185/3/PL T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 3
M T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 3
T332D NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 22kV 185mm2 - 'Protect’ Trefoil Clamp 3
D T337B 141412 |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 9
T340A 149311 [Bracket, Tee Support, Pole Mounted 185mm2 MS HVABC Cable Tee Joints - AusNet Dwg. VX14/433/4. 1
T341B 165272 [600A Bolted Elbow Termination 3-Way 22kV 185mm2 MS HVABC Cable. AusNet Dwg. EVX9/140/44 3
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 11
T340B 149313 |Clamp, Band Suits 35 & 185mm2 MS HVABC Cable Tee Joint Brackets - AusNet Dwg. VX14/298. 1
— 80E 37263 Bolt Eye M20 x 375 3
86C 65159 Washer ELS M20 3
82B 40442 Nut Hex M20 6
89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 3
87E 65617 Washer NS M20 3
E 61A 322056 __|Ball Clevis & Pin 16mm 3
61B 322386 [Socket Termination 16mm 3
61D 322090 |W' Clip / Kink Pin 3
51C 94180 Conductor Cu Insulated Hard Drawn 1¢c 50mm?2, 19/1.78 8
35E 141363 [Lug Crimp Cu M12 Hole 70mm2 Cable 1
[ | 51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 12
T330 NEW Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 4
55J 146857 | Conductor Connection Slit Bolt 'D' Brass Clamp 6
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o tradng as TosNetarks IO TR ST L A0 oy
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=] TITLE SCALE
- |2 TasNetworks MS HVABC 185mm2 STRAIN WITH TEE-OFF NTS
<|Z P e MATERIAL LIST
e =
w |2 DESIGNED BY | B.NAYBERRY
Z S CHECKED BY | K.GOSDEN AA
< APPROVED BY | MICHAEL COOPER REVISION
DATE APPROVED | FEB 2022 D N OH[ B [/‘06 N SD N 002 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-40



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.7 MS HVABC to Open Wire Right Angle Transition FRP Crossarm
[ B

1 \ 2 \ 3 \ L \ 5
NB ENSURE THAT LOCKNUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
SUSPENSION CLAMPS
TO SUIT METALLIC
SCREENED HVABC
L orC_T221A
oR(1E0 g
OR A
B
i NGETD
CABLE CLEAT 13328
R
TO SUIT MS HVABC CATENARY 0R 1332€
SINGLE CORE 19/2.00 73320
L + EARTH TAILS BUNDLE CLAMPS
TO SUIT METALLIC
R & '/ "\_HVABC SCREEN
or(C_T3338 ) EARTH TAILS SCREENED HVABC
NOTE 1
OR oRGT223A ) - TikV 35mm’
C R (T2238) - 11kv 185mm’
OR OR - 22kV 35mm’
0R 0R 0R 518 - 22kV 185mm’
(7225A (12258 )( 1225 X T225D
— TERMINATIONS TO SUIT
METALLIC SCREENED HVABC
D
g
°
Q
2
Q
t 51D
S
=
S
COMPRESSION SLEEVES OR
S CLAMP CONNECTORS TO
SUIT CONDUCTOR SIZE/TYPE
F 113
g
o
I
1227 N
7228 82C X 87C
T229A T200E 778 X_35E 8
12298 7226A X 51D
G T206A =
870 X 82A
HELICAL TERMINATIONS TO
SUIT CONDUCTOR SIZE/TYPE
51D
NOTES 19/2.14 CU EARTH
1. HVABC SCREEN WIRES TO BE CONNECTED TO EARTH DOWN LEAD PVC
DOWNLEAD ON SOURCE SIDE ONLY, TERMINATE THE SCREEN APL N
H | WIRES TO A COPPER LINK & TAPE ON AWAY SIDE RST /HV ABCTI.35/3/FRP
& DO NOT TERMINATE TO EARTH DOWNLEAD. RST/HVABCI1 1853 /FRP
2. FIT INSULATION SLEEVING TO ALL BRIDGING. RST/HVAB(22.35/3/FRP DIMENSIONS ARE IN MILLIMETRES
RST/HVABC22.185/3/FRP UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
wn trad T Net K STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as lasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
212 TasNetworks Time STALE
-4 MS HVABC TO OPEN RIGHT ANGLE NTS
<|2 TRANSITION
o | = DRAWN ELECTRO
z FRP CROSSARM
uwi = DESIGNED BY B.MAYBERRY AA
= o CHECKED BY K.GOSDEN
o
< APPROVED BY | MICHAEL COOPER _ _ _ _ REVISION
DATE APPROVED | FEB 2022 D O H[ [/‘O 9 S D OO/‘ A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-41



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC to Open Wire Right Angle Transition, FRP Crossarm - Material List 1
— -

1 \ 2 \ 3 \ L \ 5
A
Store Type [ltem Ref| Stock Item |Stock Item Description Quantity
STO/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 2
22.185/3/FR 113 0 Expulsion Drop Out Fuse Element AK1 - Size as Required 3
B P 303567 303567 | Termination Bar for Surge Arresters & Stand Off insulator 3
119G 225773 |Surge Diverter 10kA - 22kV 3
30C 235501 |Fuse Tube EDO, Suits NGK and ABB Fuse Carriers 3
35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 13
[ ] 35K 152482  |Lug Bi-Metal Compression Tinned M12 Hole 185mmz2 Cable 6
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 12
51D 103212 |Conductor Cu Insulated Hard Drawn 1c 70mm?2, 19/2.14 35
55J 146857 _ |Conductor Connection Slit Bolt 'D' Brass Clamp 4
60G 321260 _|Insulator Disc Porcelain 16mm 70Kn 146mm 6
(C 61A 322056 |Ball Clevis & Pin 16mm 5
61B 322386 |Socket Termination 16mm 5
61D 322090 ‘W' Clip / Kink Pin 11
62G 225771 |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
63M 236323 |Switch Fuse EDO 24kV 8kA 3
— 75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 9
77C 33772 Bolt Tower M12 x 40 - Thread Length 20mm 3
D 78C 33782 Bolt Tower M16 x 45 - Thread Length 24mm 3
80E 37263 Bolt Eye M20 x 375 2
82A 40441 Nut Hex M16 12
82B 40442 Nut Hex M20 4
[ 82C 40440 Nut Hex M12 12
85B 50250 Coach Screw M12x100 1
86B 65158 Washer ELS M16 3
86C 65159 Washer ELS M20 2
87C 65615 Washer NS M12 12
E 87D 65616 Washer NS M16 9
87E 65617 Washer NS M20 2
88B 66413 Washer Tower M16 3
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 1
— T206A 325628 |M16 EYE BOLT 150 - Thread Length 60mm 2
T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 2
F T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mmz2 (TYCO IBSH1085) 2
T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 2
T225D NEW Metallic Screen HV ABC Cable Termination 22kV 185mm2, 3x1C 19/2.00-10mm Dia Gal Catenary 6
T226A NEW Surge Arrester/Stand Off Insulator/EDO Mounting Bracket - Crossarm Mounted (L' Bracket 360 x 52x10) 6
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
| 1228 40448 [Nut Hex M24 (36mm across Flats, 21mm Thick) 3
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
T330 NEW Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 5
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 9
G T332D NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 22kV 185mm2 - 'Protect' Trefoil Clamp 2
T333H NEW Ellis Cable Cleat Pole Mnted for MS HVABC Cable 22kV 185mm2 Cable + Earths - 'Emperor’ Trefoil Cleat 1
T337B 141412 |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 6
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o tradng as TosNetarks IO TR ST L A0 oy
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=] TITLE SCALE
- |2 TasNetworks MS HVABC TO OPEN WIRE RIGHT ANGLE NTS
< | TRANSITION FRP CROSSARM
o |2 DRAWN ELECTRO
S MATERIAL LIST - 35mm2 1KV ABC
w |2 DESIGNED BY | B.NAYBERRY A[+
Z © CHECKED BY | K.GOSDEN
< APPROVED BY | MICHAEL COOPER REVISON
DATE APPROVED | FEB 2020 D - O H [ - [ /‘ O 9 - S D - O 02 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-42



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC to Open Wire Right Angle Transition, FRP Crossarm - Material List 2
— -

1 \ 2 \ 3 \ L \ 5
A
Store Type|ltem Ref| Stock Item [Stock Item Description Quantity
B RST/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
11.185/3/FR 113 0 Expulsion Drop Out Fuse Element AK1 - Size as Required 3
P 303567 303567 | Termination Bar for Surge Arresters & Stand Off insulator 3
119F 225772 |Surge Diverter 10kA - 11kV 3
30C 235501 |Fuse Tube EDO, Suits NGK and ABB Fuse Carriers 3
[ 35E 141363 [Lug Crimp Cu M12 Hole 70mm2 Cable 13
35K 152482 [Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 3
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 12
51D 103212 [Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 35
55J 146857 __|Conductor Connection Slit Bolt 'D' Brass Clamp 2
( 60G 321260 _|Insulator Disc Porcelain 16mm 70Kn 146mm 6
61A 322056 _[Ball Clevis & Pin 16mm 4
61B 322386 |Socket Termination 16mm 4
61D 322090 ‘W' Clip / Kink Pin 10
62G 225771 _[Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
— 63M 236323 [Switch Fuse EDO 24kV 8kA 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 9
D 77C 33772 Bolt Tower M12 x 40 - Thread Length 20mm 3
78C 33782 Bolt Tower M16 x 45 - Thread Length 24mm 3
80E 37263 Bolt Eye M20 x 375 1
82A 40441 Nut Hex M16 12
82B 40442 Nut Hex M20 2
— 82C 40440 Nut Hex M12 9
85B 50250 Coach Screw M12x100 2
86B 65158 Washer ELS M16 3
86C 65159 Washer ELS M20 1
87C 65615 Washer NS M12 9
E 87D 65616 | Washer NS M16 9
87E 65617 Washer NS M20 1
88B 66413  |Washer Tower M16 3
T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 [XARM BRACE - 716x40x8 1
[ | T206A 325628 |[M16 EYE BOLT 150 - Thread Length 60mm 2
T206F 325638 |[M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T220 149110 [HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
F T221B NEW Metallic Screen HV ABC Suspension Clamp 11kV 185mm2 (TYCO IBSH1075) 1
T223B NEW Metallic Screen HV ABC Cable 11kV 185mm2 (Olex Product Code UJHA25AA003) 1
T225B NEW Metallic Screen HV ABC Cable Termination 11kV 185mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 3
T226A NEW Surge Arrester/Stand Off Insulator/EDO Mounting Bracket - Crossarm Mounted (‘L' Bracket 360 x 52x10) 6
[ T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
1228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
T330 NEW Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 5
T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 9
G T332B NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 11kV 185mm2 - 'Protect’ Trefoil Clamp 1
T333B NEW Ellis Cable Cleat Pole Mnted for MS HVABC Cable 11kV 185mm2 Cable Cores, Emperor Single Core Cleat 2
T337B 141412  |[Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 3
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o tradng as TosNetarks IO TR ST L A0 oy
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=] TITLE SCALE
- |2 TasNetworks MS HVABC TO OPEN EWIRE RIGHT ANGLE NTS
< | TRANSITION FRP CROSSARM
< DRAWN ELECTRO
=5 MATERIAL LIST - 185mm2 11KV ABC
w |2 DESIGNED BY | BNAYBERRY A[+
Z © CHECKED BY K.GOSDEN
< APPROVED BY | MICHAEL COOPER REVISION
DATE APPROVED | FEB 2022 D - OHC - (109 - SD - 003 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-43



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC to Open Wire Right Angle Transition, FRP Crossarm - Material List 3
— -

1 \ 2 \ 3 \ L \ 5
A
B Store Type |ltem Ref| Stock Item |Stock Item Description Quantit;
RST/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
22.35/3/FRP 113 0 Expulsion Drop Out Fuse Element AK1 - Size as Required 3
303567 303567 | Termination Bar for Surge Arresters & Stand Off insulator 3
119G 225773 _|Surge Diverter 10kA - 22kV 3
— 30C 235501 |Fuse Tube EDO, Suits NGK and ABB Fuse Carriers 3
35E 141363 [Lug Crimp Cu M12 Hole 70mm2 Cable 13
35F 152476 [Lug Bi-Metal Compression Tinned M12 Hole 35mm2 Cable 3
51B 103209 [Conductor Cu Insulated Hard Drawn 1c 25mmz2, 19/1.35 12
51D 103212 [Conductor Cu Insulated Hard Drawn 1c 70mmz2, 19/2.14 35
C 55J 146857 [Conductor Connection Slit Bolt ‘D' Brass Clamp 2
60G 321260 _|Insulator Disc Porcelain 16mm 70Kn 146mm 6
61A 322056 _|Ball Clevis & Pin 16mm 4
61B 322386 |Socket Termination 16mm 4
61D 322090 ‘W' Clip / Kink Pin 10
[ 62G 225771 |Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
63M 236323 _|Switch Fuse EDO 24kV 8kA 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
D 77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 9
77C 33772 Bolt Tower M12 x 40 - Thread Length 20mm 3
78C 33782 Bolt Tower M16 x 45 - Thread Length 24mm 3
80E 37263 Bolt Eye M20 x 375 1
L 82A 40441 |Nut Hex M16 12
82B 40442 Nut Hex M20 2
82C 40440 Nut Hex M12 9
85B 50250 Coach Screw M12x100 2
86B 65158 Washer ELS M16 3
E 86C 65159 Washer ELS M20 1
87C 65615 Washer NS M12 9
87D 65616 Washer NS M16 9
87E 65617 Washer NS M20 1
88B 66413 Washer Tower M16 3
— T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 1
T206A 325628 |M16 EYE BOLT 150 - Thread Length 60mm 2
T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
F T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221C NEW Metallic Screen HV ABC Suspension Clamp 22kV 35mmz2 (TYCO IBSH1060) 1
T223C NEW Metallic Screen HV ABC Cable 22kV 35mm2 (Olex Product Code ULHA18AA003) 1
T225C NEW Metallic Screen HV ABC Cable Termination 22kV 35mm2, 3x1C, 19/2.00-10mm Dia Gal Catenary 3
[ T226A NEW Surge Arrester/Stand Off Insulator/EDO Mounting Bracket - Crossarm Mounted ('L’ Bracket 360 x 52x10) 6
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
T330 NEW Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 5
G T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 9
T332C NEW Ellis Bundle Clamp for Metallic Screen HVABC Cable 22kV 35mm2 - 'Protect’ Trefoil Clamp 1
T333C NEW Ellis Cable Cleat Pole Mnted for MS HVABC Cable 22kV 35mm2 Cable Cores, Emperor Single Core Cleat 2
T337C 141414 |Ferrule - Copper, Cable Links for MS HVABC Cable 22kV 35mm2 Screen Wires - CSA 22.7mm2 3
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o tradng as TosNetarks IO TR ST L A0 oy
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=] TITLE SCALE
- |2 TasNetworks MS HVABC TO OPEN WIRE RIGHT ANGLE NTS
< | TRANSITION FRP CROSSARM
< DRAWN ELECTRO
=5 MATERIAL LIST - 35mm2 22KV ABC
w |2 DESIGNED BY | B.NAYBERRY A[+
Z © CHECKED BY | K.GOSDEN
< APPROVED BY | MICHAEL COOPER REVISION
DATE APPROVED | FEB 2022 D - O H [ - [ /‘ O 9 - S D - O O[*' A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-44



Overhead Distribution Construction Manual - Miscellaneous Section 3

MS HVABC to Open Wire Right Angle Transition FRP Crossarm - Material List 4

—

1 \ 2 \ 3 \ L \ 5
A
1 Store Type [ltem Ref| Stock Item |Stock Item Description Quantity
B | |RST/HVABC S 89 66803 M20 ELS-V Square Washer 75 x 75 x 5.0mm, Diagional 106.1mm. (Also used on Transformer Installations) 1
22.185/3/FR 113 0 Expulsion Drop Out Fuse Element AK1 - Size as Required 3
P 303567 303567 | Termination Bar for Surge Arresters & Stand Off insulator 3
119G 225773 _|Surge Diverter 10kA - 22kV 3
30C 235501 |Fuse Tube EDO, Suits NGK and ABB Fuse Carriers 3
[ 35E 141363 |Lug Crimp Cu M12 Hole 70mm2 Cable 13
35K 152482  |Lug Bi-Metal Compression Tinned M12 Hole 185mm2 Cable 3
51C 94180 Conductor Cu Insulated Hard Drawn 1c 50mm2, 19/1.78 12
51D 103212 [Conductor Cu Insulated Hard Drawn 1c 70mm2, 19/2.14 35
C 55J 146857 | Conductor Connection Slit Bolt 'D' Brass Clamp 2
60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 6
61A 322056 _|Ball Clevis & Pin 16mm 4
61B 322386 |Socket Termination 16mm 4
61D 322090 ‘W' Clip / Kink Pin 10
1 62G 225771 [Surge Diverter Cover Moulded with Nylon Bolts M5 x 12mm 3
63M 236323 | Switch Fuse EDO 24kV 8kA 3
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75P 32288 Bolt Hex M16 X 375 - Thread Length 75mm 1
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
D 77B 33771 Bolt Tower M12 x 35 - Thread Length 20mm 9
77C 33772 Bolt Tower M12 x 40 - Thread Length 20mm 3
78C 33782 Bolt Tower M16 x 45 - Thread Length 24mm 3
80E 37263 Bolt Eye M20 x 375 1
82A 40441 Nut Hex M16 12
| 82B 40442 Nut Hex M20 2
82C 40440 Nut Hex M12 9
85B 50250 Coach Screw M12x100 2
86B 65158 Washer ELS M16 3
86C 65159 Washer ELS M20 1
E 87C 65615 Washer NS M12 9
87D 65616 Washer NS M16 9
87E 65617 Washer NS M20 1
88B 66413 Washer Tower M16 3
[ | T200E 323223 |CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A 323316 | XARM BRACE - 716x40x8 1
T206A 325628 |M16 EYE BOLT 150 - Thread Length 60mm 2
T206F 325638 |M16 EYE BOLT 375 - Thread Length 75mm 1
T208B 323307 |GAIN BLOCK 125mm 1
F T209D 66807 M16 ELS-V Square Washer 50 x 50 x 4.0mm, Diagional 70.7mm. 2
T220 149110 |HV ABC Catenary Termination (Dead End) 19/2.00 (TYCO SGG0975) 1
T221D NEW Metallic Screen HV ABC Suspension Clamp 22kV 185mm2 (TYCO IBSH1085) 1
T223D NEW Metallic Screen HV ABC Cable 22kV 185mm2 (Olex Product Code ULHA25AA003) 1
T225D NEW Metallic Screen HV ABC Cable Termination 22kV 185mm2, 3x1C 19/2.00-10mm Dia Gal Catenary 3
— T226A NEW Surge Arrester/Stand Off Insulator/EDO Mounting Bracket - Crossarm Mounted (‘L' Bracket 360 x 52x10) 6
T227 32334 Bolt Hex M24 X 180 - Thread Length 75mm 3
T228 40448 Nut Hex M24 (36mm across Flats, 21mm Thick) 3
T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
T330 NEW Conductor Clamp Cu Par/Groove 16-95mm2 (TE Connectivity HEL-3030 Prod Code 831160-000) 5
G T331 NEW Nylon Cable Tie UV Stabilised, Fixing 19/2.14 CU PVC S/Arrester Earth Lead to FRP X-Arm 9
T332D NEW Ellis Bundle Clamp for Metallic Screen HYABC Cable 22kV 185mm2 - 'Protect’ Trefoil Clamp 1
T333D NEW Ellis Cable Cleat Pole Mnted for MS HVABC Cable 22kV 185mm2 Cable Cores, Emperor Single Core Cleat 2
T337B 141412 |Ferrule - Copper, Cable Links for MS HVABC Cable 11/22kV 185mm2 Screen Wires - CSA 54.39mm2 3
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 tradng as TosNetarks ST TS ST A o
= ABN: 2L 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=] TITLE STALE
- |2 TasNetworks MS HVABC TO OPEN WIRE RIGHT ANGLE NTS
< | TRANSITION FRP CROSSARM
o |2 DRAWN ELECTRO
z MATERIAL LIST - 185mm2 22KV ABC
w |2 DESIGNED BY | B.MAYBERRY A[+
e CHECKED BY [ K.GOSDEN
= APPROVED BY | MICHAEL COOPER REVISION
<<
D- OHC - C109 - SD - 005 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-45




Overhead Distribution Construction Manual - Miscellaneous Section 3

NON-METALLIC SCREENED HVABC (OBOLETE)

3.8 NMS HVABC Intermediate, Single Suspension (Obsolete)

1 | 2 | 3 | 4 | 5

98D

Lock NuT(82A ' Y

¢ 0 /
|
|
|

\
A

" ,

D
ld( | __— CATENARY
 — 1
or(95F
SUSPENSION CLAMPS TO SUIT AN NON - METALLIC
NON-METALLIC SCREENED (W7F) SCREENED HVABC
E HVABC (NOW OBSOLETE) LTE)OR

(NOW OBSOLETE)

- OBSOLETE

" FOR REFERENCE ONLY
APL Nos
H 1/HVABC11.50/3/PLM
1/HVABC11.185/3/PLM
1/HVAB(22.35/3/PLM DIMENSIONS ARE IN MILLIMETRES
1/HVAB(22.185/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |y SCALE
Z 12 TasNetworks T
— 8 NMS HVABC INTERMEDIATE SINGLE SUSPENSION NTS
< |= OBSOLETE
'~ <z( ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
o
Ll K5 CHECKED BY H.WESTBURY A[”
-
< — D - OHC — €050 - SD - 001
DATE APPROVED | 05/JUN/19 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-46



Overhead Distribution Construction Manual - Miscellaneous Section 3
NMS HVABC Intermediate, Single Suspension - Material List (Obsolete)
1 | 2 | 3 | A 5
A
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
| I/[HVABC11.50/3/PLM S 75N 32288 |BoltHexM16 X350 2
95F 149113 [Suspension Clamp 35mm? 22kV HVABC 1
98D 149119 |HVABC bracket standard 1
B 82A 40441 |NutM16 4
86B 65158 [Washer Els 16 2
I/HVABC11.185/PLM S 75N 32288 |BoltHexM16 X350 2
] 95G 149114 |Suspension Clamp 185mm? 22kV HVABC 1
98D 149119 [HVABC bracket standard 1
82A 40441 |NutM16 4
C 86B 65158 [Washer Els 16 2
I/[HVABC22.35/3/PLM S 75N 32288 |BoltHexM16 X350 2
95F 149113 |Suspension Clamp 35mm? 22kV HVABC 1
— 98D 149119 [HVABC bracket standard 1
82A 40441 |NutM16 4
86B 65158 [Washer Els 16 2
D
I/HVABC22.185/3/PLM S 75N 32288 |BoltHexM16 X350 2
95G 149114 |Suspension Clamp 185mm?22kV HVABC 1
98D 149119 |HVABC bracket standard 1
| 82A 40441 |NutM16 4
86B 65158 |Washer Els 16 2
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 frading s Tasahvarks SRS S
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |w
2 TasNetworks T SCALE
— |8 NMS HVABC INTERMEDIATE SINGLE SUSPENSION NTS
<|Z - n MATERIALS LIST
ORAWN (5 PRO-SOLUTION:
B OBSOLETE
w = DESIGNED BY ELECTRO AA
: o (HECKED BY H.WESTBURY
< APPROVED BY REVISION
DATE APPROVED | 27/MAY/19 D - O H [ - [ O 5 O - S D - O O 2 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-47



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.9 NMS HVABC Angle, Double Suspension (Obsolete)

1 | 2 | 3 | A | 5
. 5
- G /a
NS /
LOCK NUT (82A ' J
B /
¢

| — CATENARY
SUSPENSION CLAMPS TO

SUIT NON - METALLIC
p | Screenep nvasc OR

(NOW OBSOLETE)

NON - METALLIC SCREENED HVABC
OR (NOW OBSOLETE)

E
F
DOUBLE HOOK SUSPENSION

G
H APL Nos

D/HVABC11.185/3/PLM

D/HVAB(C22.35/3/PLM DIMENSIONS ARE IN MILLIMETRES

D/HVAB(C22.185/3/PLM UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o trading as TasNetworks GR TRANSHITTED BY. ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
oy SCALE

=] TITLE
- |2 TasNetworks NMS HVABC ANGLE DOUBLE HOOK SUSPENSION NTS
<|= 0BSOLETE
x|Z DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
= g C(HECKED BY HWESTBURY AL
2 APPROVED BY REVISION
< - —_— —_— —_— —_—
DATE APPROVED | 05/JUN/19 D O H [ [ O 5 W S D O O W A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-48



Overhead Distribution Construction Manual - Miscellaneous Section 3
NMS HVABC Angle, Double Suspension — Material List (Obsolete)
1 | 2 | 3 | A 5
A Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
D/HVABC11.185/PLM S 75N 32288 Bolt Hex M16 X 350 2
95G 149114 |Suspension Clamp 185mm? 22kV HVABC 2
98D 149119 |HVABC bracket standard 1
82A 40441 Nut M16 8
86B 65158 |Washer Els 16 2
B
D/HVABC22.35/3/PLM s 75N 32288 |Bolt Hex M16 X 350 2
95F 149113 [Suspension Clamp 35mm? 22kV HVABC 2
— 98D 149119 |HVABC bracket standard 1
82A 40441 Nut M16 8
86B 65158 |Washer Els 16 2
C D/HVABC22.185/3/PLM S 75N 32288 Bolt Hex M16 X 350 2
95G 149114 [Suspension Clamp 185mm? 22kV HVABC 2
98D 149119 |HVABC bracket standard 1
— 82A 40441 Nut M16 8
868 65158 |Washer Els 16 2
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 trating as Tasherwarks i
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
oy TITLE SCALE
- |2 TasNetworks NMS HVABC ANGLE DOUBLE HOOK SUSPENSION NTS
< :(' ORAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
B - OBSOLETE
w = DESIGNED BY ELECTRO AA
: o (HECKED BY H.WESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 27/MAY/19 D O H [ [ O 5 w S D O O 2 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-49



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.10 NMS HVABC Angle, High Lift, Double Suspension (Obsolete)

1 | 2 | 3 | 4 | 5
A
[ LOCK NUT @
g
=
'
H /
~ ]
C |
@) \tP7k\\\\¥ﬂB@Bﬂm
SUSPENSION CLAMPS TO SUIT |
L NON - METALLIC SCREENED H
HVABC (NOW OBSOLETE) |
NON - METALLIC SCREENED
/_@>OR HVABC (NOW OBSOLETE)
D
]
'
1
1
E i
1
1
]

- OBSOLETE
G - FOR REFERENCE ONLY

H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
" trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |w
2 TasNetworks e SCALE
-2 NMS HVABC HIGH LIFT ANGLE NTS
<|2 e DOUBLE SUSPENSION
ORAWN (5 PRO-SOLUTION
® (= OBSOLETE
w = DESIGNED BY ELECTRO A[”
= [ (HECKED BY H.WESTBURY
-
< APPROVED BY | - _ _ _ _ REVISION
OATE APPROVED | 05/JUN/19 D O H [ [ O 6 2 S D 0 O /‘ A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-50



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.11 NMS HVABC Angle, High Lift, Single Hook Suspension (Obsolete)

1 | 2 | 3 | L | 5

A
Lock NuT (82A)
o
)
B /
=
o
S
C
SUSPENSION CLAMPS TO SUIT
NON - METALLIC SCREENED
HVABC (NOW OBSOLETE) NON - METALLIC SCREENED
\/ HVABC (NOW OBSOLETE)
N
D
E

F N

— - OBSOLETE
- FOR REFERENCE ONLY

G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o w
e 3 TasNetworks T SCALE
— 8 NMS HIGH LIFT SUSPENSION INTERMEDIATE NTS
< |2 OBSOLETE
o ; ORAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
o
Ll K= (HECKED BY H.WESTBURY AL
-
< —F D - OHC = €060 - SD - 007
OATE APPROVED | 05/JUN/19 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-51



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.12 NMS HVABC Angle, High Lift, Double Hook Suspension (Obsolete)

1 | 2 | 3 | A | 5
A
LOCK NUT
B 2
/
- s
S
c /
SUSPENSION CLAMPS T0 SUIT
NON - METALLIC SCREENED
HVABC (NOW OBSOLETE)
NON - METALLIC SCREENED
D HVABC (Now oBsOLeTE)  (LTFIORCALTED
E
F v
¢ FOR REFERENCE ONLY
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED.
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
- TasNetworks TTLE
-2 NMS HVABC HIGH LIFT ANGLE NTS
<z DOUBLE HOOK SUSPENSION
ORAWN (5 PRO-SOLUTIONS
e E] OBSOLETE
w = DESIGNED BY ELECTRO AA
Ll K= (HECKED BY H.WESTBURY
-
< = D - OHC - (€063 - SD - 001
DATE APPROVED | 05/JUN/19 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-52



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.13 NMS HVABC Angle, High Lift, Double Suspension (Obsolete)

1 | 2 | 3 | 4 | 5
A
-
B /
98A / a
NS
Lock nuT (B2A -
C
— 75N X 868
D
CATENARY
E /
or G
SUSPENSION CLAMPS TO SUIT =
NON - METALLIC SCREENED
HVABC (NOW OBSOLETE)
F NON - METALLIC SCREENED
7E)0R (BTF) yyase (NOW OBSOLETE)
’ FOR REFERENCE ONLY
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
& trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o w
> TasNetworks e SCALE
|8 NMS HVABC ANGLE DOUBLE SUSPENSION NTS
< |z OBSOLETE
o ; ORAWN (S PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
o
: © (HECKED BY H.WESTBURY AL
< — D - OHC - C061 - SD - 001
DATE APPROVED | 05/JUN/19 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-53



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.14 NMS HVABC Strain, Unjointed (Obsolete)

1 | 2 | 3 | A 5
A
61D X 618
(53aR)0R(5348)
O
- / S
’ ﬁ//
B
) 2}z
A 2177/~
//”/’/
B “4
— /1/\ :
RS b/ ) /
C / / CATENARY
D
NON - METALLIC SCREENED
E OR HVABC (NOW OBSOLETE)
F
G
- OBSOLETE
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o trading as TasNetworks SR TRANSMITIED B ANY NEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TITLE SCALE
-2 TasNetworks NMS HVABC - STRAIN - UNJOINTED NTS
<|2 OBSOLETE
x |Z DRAWN (5 PRO-SOLUTIONS
w |9 DESIGNED BY ELECTRO
: g (HECKED BY H.WESTBURY AA
< APPROVED BY | - _ _ _ _ REVISION
DATE APPROVED | 05/JUN/19 D O H [ [ O 6 A S D O O w A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-54



Overhead Distribution Construction Manual - Miscellaneous Section 3
3.15 NMS HVABC Strain, Jointed (Obsolete)
[ CAUTION : Prin’redldocumen’r is uncorllfrolled. | | ]
1 2 3 L 5
A (53AR)0R(53AB)
61A X 61D 61B
3
] fi};//
NS>

|
},/

7 ‘
e

B
— @ ’;’\? {// CATENARY
N
%
Q

'//// N

i /
Y.

=
120C ) OR
) 2 (@0
N
AL
"'II
<7
7= E
1 Q
\/ o
GROORERD) =
o
E =
o
47E)OR(47F)
NON - METALLIC SCREENED
HVABC
| (NOW OBSOLETE) o
I
O
T
F M
I
M
| N S
Ui
o~ NO
~ I
=
56 - OBSOLETE %
=
5 - FOR REFERENCE ONLY .
< (a>)
— (ww)
(W)
'_
=
= APL Nos DIMENSIONS ARE IN MILLIMETRES D
o SJ/HVAB(C22.185/3 UNLESS OTHERWISE STATED =<
— (© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
2w fradng as TosNerworks SRR B ST b AT |
[T =z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS <<
x|°|% TITLE SCALE
ikl TasNetworks NMS HVABC STRAIN JOINTED NTS
L ; g DRAWN (5 PRO-SOLUTIONS OBSOLETE j>
E w g DESIGNED BY ELECTRO AL
N F e CHECKED BY HWESTBURY
= : APPROVED BY REVISION
E DATE APPROVED | 05/JUN/19 D - O H [ - [ O 5 2 - S D - O O /‘ A
| DWG STATUS CONSTRUCTION N
Ver. 1.0 11/22 kV & SWER Constructions Page 3-55



Overhead Distribution Construction Manual - Miscellaneous Section 3

NMS HVABC Strain, Jointed - Material List (Obsolete)

1 | 2 | 3 4 5
A Store Stock
Unit Assembly Type Iltem Ref Item Stock Item Description Quantity
SJ/HVABC22.185/3 S 102A 325842 |Thimble Eye Nut M20 1
120C 149115 |JointKit 35/185mm? 22kV HVABC 1
| Cond Term Hel 19/3.65 catenary for 150/185
53AB 149112 HVABC 2
53AD 149121 |Bundled restraint 185mm? 22kV HVABC 2
B 55D 144950 |Parallel groove clamp (7.0-16.3mm Al) 1
61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386 |Socket Termination 16mm 2
61D 322090 |Kink Pin 16mm 2
- 80C 37260 |BoltEye M20 X325 1
86C 65159 |Washer Els 20 1
C
’ FOR REFERENCE ONLY
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMSSION OF TASNETWORKS
o |Ww
=] TasNetworks e SCALE
gl I NMS HVABC STRAIN JOINTS NTS
<|z prrs MATERIALS LIST
ORAWN (5 PRO-SOLUTION
x|z OBSOLETE
w = DESIGNED BY ELECTRO A[”
Ll =] (HECKED BY H.WESTBURY
< atl D- OHC - €052 - SD - 002 | w
DATE APPROVED | 27/MAY/19 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-56



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.16 NMS HVABC Right Angle Strain, Unjointed

1 \ 2 \ 3 \ 4 5
A
B
CATENARY
S3AA) OR(53AB
C
0 OR(53AD
NON - METALLIC SCREENED
HVABC (NOW OBSOLETE)
£
F
G
H APL Nos
RS/HVAB(11.185/PLM
RS/HVAB(22.35/3/PLM DIMENSIONS ARE IN MILLIMETRES
RS/HVAB(C22.185/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
213 TasNetworks THLE SCALE
— 14 NMS HVABC RIGHT ANGLE STRAIN UNJOINTED NTS
< |2 OBSOLETE
o | = DRAWN €5 PRO-SOLUTIONS
[}
w |2 DESIGNED BY | ELECTRO A L
i CHECKED BY H.WESTBURY
=
< APPROVED BY | - _ _ _ REVISION
DATE APPROVED | 05/JUN/19 D O H [ [ O 5 5 S D 0 0 /‘ A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-57



Overhead Distribution Construction Manual - Miscellaneous Section 3

NMS HVABC Right Angle Strain, Unjointed - Material List (Obsolete)

1 | 2 | 3 | 4 5
Store Stock
A Unit Assembly Type Item Ref Item Stock Item Description Quantity
RS/HVABC11.185/PLM S 53AB 149112 |Cond Term Hel 19/3.65 catenary for 150/185 HVABC 2
53AD 149121 |Bundled restraint 185mm? 22kV HVABC 2
55D 144950 |Parallel groove clamp (7.0-16.3mm Al) 1
] 61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386 |Socket Termination 16mm 2
61D 322090 |Kink Pin 16mm 2
B 80C 37260 |Bolt Eye M20 X325 2
86C 65159 |Washer Els 20 2
RS/HVABC22.185/3/PLM S 53AB 149112 |Cond Term Hel 19/3.65 catenary for 150/185 HVABC 2
] 53AD 149121 |Bundled restraint 185mm? 22kV HVABC 2
55D 144950 |Parallel groove clamp (7.0-16.3mm Al) 1
61A 322056 |Ball Clevis & Pin 16mm 2
C 61B 322386 |Socket Termination 16mm 2
61D 322090 |Kink Pin 16mm 2
80C 37260 |Bolt Eye M20 X325 2
86C 65159 |Washer Els 20 2
] RS/HVABC22.35/3/PLM S 53AA 149111 |Cond Term Hel 6/4.75 7/1.60 or 7/5.00 catenary for 35/50 HVABC 2
53AC 149122 |Bundled restraint 35smm? 22kV HVABC 2
55D 144950 |Parallel groove clamp (7.0-16.3mm Al) 1
D 61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386 |Socket Termination 16mm 2
61D 322090 |Kink Pin 16mm 2
80C 37260 |Bolt Eye M20 X325 2
] 86C 65159 |Washer Els 20 2

E
F
G
H

DIMENSIONS ARE IN MILLIMETRES

UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» trading as TasNetworks OF TRANSMITTED BY. ANY NEAVS WITROUT TFE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TIILE SCALE
-2 TasNetworks NMS HVABC RIGHT ANGLE STRAIN UNJOINTED NTS
<|2 — MATERIALS LIST
o % DRAWN (5 PRO-SOLUTION O B S O L E T E
w = DESIGNED BY ELECTRO A[”
e CHECKED BY H.WESTBURY
-
< APPROVED BY REVISION
DATE APPROVED | 27/MAY/19 D - O H [ - [ O 5 5 - S D - O O 2 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-58



Overhead Distribution Construction Manual - Miscellaneous Section 3
3.17 NMS HVABC Right Angle Strain Jointed
1 [ 2 [ 3 [ L 5
A
B ,\5@
CATENARY
(G3a8) 0R (53B)
C
D
NON - METALLIC SCREENED
HVABC (NOW OBSOLETE)
3
F
. - FOR REFERENCE ONLY
H
APL Nos
RSJ/HVAB(22.35/PLM DIMENSIONS ARE IN MILLIMETRES
RSJ/HVAB(22.185/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
» frading as TasNetworks OR TRANSHITTED By ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=] SCALE
-2 TasNetworks | ™\MS HVABC RIGHT ANGLE STRAIN JOINTED NTS
<| OBSOLETE
- <Z( DRAWN (5 PRO-SOLUTIONS
i @ DESIGNED BY ELECTRO
z % (HECKED BY H.WESTBURY A[*'
< APPROVED BY REVISION
DATE APPROVED | 05/JUN/19 D - O H [ - [ O 5 6 - S D - O O /‘ A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-59




Overhead Distribution Construction Manual - Miscellaneous Section 3

NMS HVABC Right Angle Strain, Jointed - Material List (Obsolete)

1 | 2 | 3 | A 5
A
Store Stock
Unit Assembly Type Item Ref Item Stock Item Description Quantity
| RSJ/HVABC22.185/PLM N 120C 149115 |Joint Kit 35/185mm2 22kV HVABC 3
53AB 149112 |Cond Term Hel 19/3.65 catenary for 150/185 HVABC 2
53AD 149121 |Bundled restraint 185mm? 22kV HVABC 2
55D 144950 |Parallel groove clamp (7.0-16.3mm Al) 1
B 61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386 |Socket Termination 16mm 2
61D 322090 |Kink Pin 16mm 2
L 80C 37260 |Bolt Eye M20 X 325 2
86C 65159 |Washer Els 20 2
RSJ/HVABC22.35/PLM S 120C 149115 |Joint Kit 35/185mm2 22kV HVABC 3
53AA 149111 |Cond Term Hel 6/4.75 7/1.60 or 7/5.00 catenary for 35/50 HVABC 2
C 53AC | 149122 |Bundled restraint 35mm?” 22kV HVABC 2
55D 144950 |Parallel groove clamp (7.0-16.3mm Al) 1
61A 322056 |Ball Clevis & Pin 16mm 2
61B 322386 |Socket Termination 16mm 2
— 61D 322090 |Kink Pin 16mm 2
80C 37260 |Bolt Eye M20 X 325 2
86C 65159 |Washer Els 20 2
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
i trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |y SCALE
s TITLE
-2 TasNetworks NMS HVABC RIGHT ANGLE STRAIN JOINTED NTS
< 2‘ DRAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
x|z - OBSOLETE
w = DESIGNED BY ELECTRO AA
: o (HECKED BY H.WESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 21/MAY/19 D O H [ [ O 5 6 S D 0 O 2 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-60



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.18 NMS HVABC Open Wire Strain Transition

1 | 2 | 3 | 4 | 5

NO CONTACT WITH 61D X 61A X 61B X 60G
(s C61a)C618 (600 G REGD)

PVC COPPER TAILS

A
(208) 0R (1208)
(8e0) Y
L] s 7
ELUET A2 (B0 ~(53AA) 0R (S3ABN_ ) ’i};Li)’}’
(G
626G /
B [
BEND PVC COPPER
AT 90° REFER
HVABC/2.2/12
85 X(86A)
.
[: )
i
P2\ 4
&G D \Eé’
NS
D
-
s
E
2
3
Fl o @D 3
O0R -
=5

™
G
HV SURGE DIVERTER
AND CATENARY

EARTH
N

- OBSOLETE
- FOR REFERENCE ONLY

H
APL Nos
B/HVABC22.35/3/PLM DIMENSIONS ARE IN MILLIMETRE
sS SIONS S
SSB/HVAB(22.185/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
. STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
i trading as TasNetworks OR TRANSMTTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
12 TasNetworks T SIALE
— |2 NMS HVABC TO OPEN WIRE RIGHT ANGLE NTS
<|Z : . STRAIN TRANSITION
DRAWN (5 PRO-SOLUTION:
x|z OBSOLETE
w8 DESIGNED BY | ELECTRO AL
e CHECKED BY [ H.WESTBURY
-
< APPROVED BY | - _ _ _ _ REVISION
DATE APPROVED [ 05/JuN/%9 D OHC C059 SD 001 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-61



Store Stock
A Unit Assembly Type Item Ref Item Stock Item Description Quantity
SSB/HVABC22.35/3/PLM S 89 66803 |Washer 75 x 75 x 6 (M20 Hole) 2
119G 225773 |Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs 3
120A 149116 | Termination kit 35mm ® 22kV HVABC 2
1D 323304 |Crossarm Mk4 2
29K 323401 |Service Fuse Bracket 3 ph Michaud 1
2B 323317 |Crossarm Strap Mk17 1
358 145653 |Lug Preinsuled LVABC 95mm? 4
35F 152476 |Lug Crimp Bimetal 35mm? M12 6
35P 141299 |Lug Bolted 16mm? 12 hole 9
B 36C 141304 |QLUG bolted 50 70mm? tinned copper 6
41B 157877 |Sleeving 6 ID 2 Wall 6
53AA 149111 |Cond Term Hel 6/4.75 7/1.60 or 7/5.00 catenary for 35/50 HVABC 2
53AC 149122 |Bundled restraint 35mm? 22kV HVABC 2
59A 322721 |Pin,Insulator 22kV 1
60E 320531 |Insulator Pin 22/450 1
60H 320735 | Insulator Raychem standoff 24kV set of 3 1
62F 144620 |Bushing Cover 22kV 3
63M 236323 |Switch Fuse EDO 24KV single phase 3
64F 236247 |LVABC Switch Fuse Box- 160A 1ph (6-95 Cu or Al) 3
6A 323315 |Insulator Bracket Mk15 1
C 75D 32276 |BoltHexM16 X 150 3
75N 32288 |BoltHexM16 X 350 2
75P 32289 |BoltHexM16 X 375 2
752 32261 |BoltHex M16 X 45 3
76C 32340 |Bolt Hex M20 X 400 2
— 828 40442 |NutM20 4
85B 50250 |Coach Screw M12 X100 2
86B 65158 |Washer Els 16 4
88B 66413 |Washer Tower 16 3
51E 103217 |Wire Electrical Cu 16mm? 1c Black (U/V Resistant) 2
D 2A 323314 |Crossarm Strap Mk14 4
15F 323449 |T/F Mounting Brackets - 63 to 315kVA Bolt Fixed Transformers 1
SSB/HVABC22.185/PLM S 89 66803 |Washer 75 x 75 x 6 (M20 Hole) 2
119G 225773 |Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs 3
ghtning p
120B 149117 |Termination kit 185mm?® 22kV HVABC 2
1 1D 323304 |Crossarm Mk4 2
29K 323401 |Service Fuse Bracket 3 ph Michaud 1
2B 323317 |Crossarm Strap Mk17 1
35B 145653 |Lug Preinsuled LVABC 95mm? 4
35P 141299 |Lug Bolted 16mm? 12 hole 9
E 36C 141304 |Q LUG bolted 50 70mm? tinned copper 6
41B 157877 |Sleeving 6 ID 2 Wall 6
53AB 149112 |Cond Term Hel 19/3.65 catenary for 150/185 HVABC 2
53AD 149121 |Bundled restraint 185mm? 22kV HVABC 2
59A 322721 |Pin,Insulator 22kV 1
— 60E 320531 | Insulator Pin 22/450 1
60H 320735 |Insulator Raychem standoff 24kV set of 3 1
62F 144620 |Bushing Cover 22kV 3
63M 236323 |Switch Fuse EDO 24KV single phase 3
64F 236247 |LVABC Switch Fuse Box - 160A 1ph (6-95 Cu or Al) 3
F 6A 323315 | Insulator Bracket Mk15 1
75D 32276 |Bolt HexM16 X 150 3
75N 32288 |Bolt Hex M16 X 350 2
75P 32289 |BoltHexM16 X 375 2
752 32261 |Bolt Hex M16 X 45 3
— 76C 32340 |Bolt Hex M20 X 400 2
82B 40442 |Nut M20 4
85B 50250 |Coach Screw M12 X100 2
86B 65158 |Washer Els 16 4
88B 66413 |Washer Tower 16 3
G #REF! 152482 |Lug Crimp Bimetal 185mm?M12 6
51E 103217 |Wire Electrical Cu 16mm2 1c Black (U/V Resistant) 2
2A 323314 |Crossarm Strap Mk14 4
15F 323449 |T/F Mounting Brackets - 63 to 315kVA Bolt Fixed Transformers 1
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
wn © trading as TasNetworks STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
9 OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |y SCALE
. TasNetworks TITE
— 148 NMS HVABC TO OPEN WIRE RIGHT ANGLE NTS
<|z STRAIN TRANSITION
ORAWN (5 PRO-SOLUTIONS
- % DESIGNED BY ELECTRO MATER‘ALS L‘ST
w = I
= OBSOLETE Ak
C(HECKED BY HWESTBURY
)
APPROVED BY REVISION
< — — — —
DATE APPROVED | 27/MAY/19 D O H [ [ O 5 9 S D O O 2 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-62




Overhead Distribution Construction Manual - Miscellaneous Section 3
3.19 NMS HVABC Dead End (Obsolete)
1 | 2 | 3 4 5

A ' (19F)0R ((1196)
OR
B
>
Z ‘|’
- £
N——
= e
—
~~_ = 3
S <
C }:}WF W\ a“
2 s /,,
N/
> V) e;ap
‘UI s
- Av S
= =
Sh e
% &S "/41\/
> SEAN
D
NO CONTACT WITH
m PVC COPPER TAILS
| NMS HVABC
(NOW 0BSOLETE)
GIY (e1a X606 X610 )
0R OR 618 X 80C
;
= CATENARY
ég
=4
24
OR
F _/ S
HV SURGE DIVERTER
— AND CATENARY EARTH
G DEAD END
H APL Nos
DE/HVAB(C11.185/PLM
DE/HVAB(22.35/3/PLM DIMENSIONS ARE IN MILLIMETRES
DE/HVABC(C22.185/PLM UNLESS OTHERWISE STATED
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y THLE SCALE
-2 TasNetworks NMS HVABC DEAD END NTS
<|= OBSOLETE
o 2 DRAWN (5 PRO-SOLUTIONS
w |9 DESIGNED BY ELECTRO
: g CHECKED BY H.WESTBURY AL
< D - OHC - C057 - SD - 001
DATE APPROVED | 11/JUN/19 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-63



Overhead Distribution Construction Manual - Miscellaneous Section 3
NMS HVABC Dead End - Material List (Obsolete)
1 | 2 | 3 A 5
Store Stock
Unit Assembly Type | Item Ref Item Stock Item Description Quantity
DE/HVABC11.185/PLM S 3 323310 |Strain Plate Mk10 3
A 4 323311 |L Bracket Mk11
119F 225772 |Lightning Arrester (NOT L/L TESTED) ABB 11kV 10kA c/w bird cap & M12 studs 3
120B 149117 |Termination kit 185mm? 22kV HVABC 1
1E 323305 |Crossarm MKS 2
53AB 149112 |Cond Term Hel 19/3.65 catenary for 150/185 HVABC 1
— 53AD 149121 |Bundled restraint 185mm’ 22kV HVABC 1
60G 321260 |Insulator Disc Porcelain 16mm 70kN 146mm 1
60H 320735 |Insulator Raychem standoff 24kV set of 3 1
61A 322056 |Ball Clevis & Pin 16mm 1
61B 322386 |Socket Termination 16mm 1
B 61D 322090 |Kink Pin 16mm 1
73F 32191 |BoltHexM10 X100 3
75M 32287 |BoltHexM16 X 325 2
752 32261 | BoltHexM16 X45 3
80C 37260 |Bolt Eye M20 X 325 1
| 828 40442 |Nut M20 1
86C 65159 |Washer Els 20 1
#NIA 40439 |NutM10 6
303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC 3
t #REF! 152482 |Lug Crimp Bimetal 185mm? M12 3
2A 323314 |Crossarm Strap Mk14 4
DE/HVABC22.35/3/PLM S 3 323310 |Strain Plate Mk10 3
4 323311 |L Bracket Mk11 2
119G 225773 |Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs 3
— 120A 149116 |Termination kit 35mm? 22kV HVABC 1
1E 323305 |Crossarm Mk5 2
35F 152476 |Lug Crimp Bimetal 35mm? M12 3
53AA 149111 |Cond Term Hel 6/4.75 7/1.60 or 7/5.00 catenary for 35/50 HVABC 1
53AC 149122 |Bundled restraint 35mm? 22kV HVABC 1
D 60G 321260 |Insulator Disc Porcelain 16mm 70kN 146mm 1
60H 320735 |Insulator Raychem standoff 24kV set of 3 1
61A 322056 |Ball Clevis & Pin 16mm 1
61B 322386 |Socket Termination 16mm 1
61D 322090 |Kink Pin 16mm 1
| 73F 32191 [Bolt HexM10 X 100 3
75M 32287 |BoltHexM16 X 325 2
752 32261 |BoltHexM16 X45 3
80C 37260 |Bolt Eye M20 X 325 1
E 82B 40442 |NutM20 1
86C 65159 |Washer Els 20 1
#NIA 40439 |NutM10 6
303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC 3
2A 323314 |Crossarm Strap Mk14 4
— DE/HVABC22.185/PLM S 3 323310 |Strain Plate Mk10 3
4 323311 |L Bracket Mk11 2
119G 225773 |Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs 3
1208 149117 |Termination kit 185mm? 22kV HVABC 1
1E 323305 |Crossarm MkS 2
F 53AB 149112 |Cond Term Hel 19/3.65 catenary for 150/185 HVABC 1
53AD 149121 |Bundled restraint 185mm? 22kV HVABC 1
60G 321260 |Insulator Disc Porcelain 16mm 70kN 146mm 1
60H 320735 |Insulator Raychem standoff 24kV set of 3 1
61A 322056 |Ball Clevis & Pin 16mm 1
| 61B | 322386 |Socket Termination 16mm 1
61D 322090 |Kink Pin 16mm 1
73F 32191 |BoltHexM10 X100 3
75M 32287 |BoltHexM16 X325 2
G 75Z 32261 |BoltHexM16 X45 3
80C 37260 | Bolt Eye M20 X 325 1
82B 40442 |NutM20 1
86C 65159 |Washer Els 20 1
#NIA 40439 |NutM10 6
—l 303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC 3
152482 |Lug Crimp Bimetal 185mm? M12 3
2A 323314 |Crossarm Strap Mk14 4
H - OBSOLETE
- FOR REFERENCE ONLY DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |y TITLE SCALE
212 TasNetworks NMS HVABC DEAD END NTS
<= ORAWN (5 PRO-SOLUTIONS MATERIALS LIST
«|= OBSOLETE
w = DESIGNED BY ELECTRO A [”
=|e C(HECKED BY HWESTBURY
< D - OHC - €057 - SD - 002 | ‘A
DATE APPROVED | 27/MAY/19

Ver. 1.0

11/22 kV & SWER Constructions

Page 3-64



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.20 NMS HVABC Dead End — Underground Cable Transition (Obsolete)

1 | 2 | 3 | L | 5

\ b
BN
> “‘*\O\ N
= NS %
r \\‘5""\\‘\ \ \[ABLE SUPPORT
D \b( ! Y BRACKET
OR CGRINGD \ N

2

150

-
=]
N
E
I HV CATENARY EARTH &
SURGE DIVERTER
4
- 3 U/G CABLE e
3 \

- OBSOLETE
G - FOR REFERENCE ONLY

H APL Nos:
DEC/HVABC1.185/PLM
DE/HVABC22.35UG/3/PLM DIMENSIONS ARE IN MILLIMETRES
DE/HVAB(22.185UG/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
A STORED N A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o [T}
e TasNetworks T SCALE
— 8 NMS HVABC DEAD END UG CABLE TRANSITION NTS
< |= OBSOLETE
o ; DRAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
o
Ll K= CHECKED BY H.WESTBURY A["
-
< — D - OHC - (058 - SD - 007
DATE APPROVED | 05/JUN/19 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-65



Overhead Distribution Construction Manual - Miscellaneous Section 3
NMS HVABC Dead End — Underground Transition — Material List (Obsolete)
1 | 2 | 3 | 4 5
Store Stock
A Unit Assembly Type | Item Ref Item Stock Item Description Quantity
DEC/HVABC11.185/PLM S 119F 225772 |Lightning Arrester (NOT L/L TESTED) ABB 11kV 10kA c/w bird cap & M12 studs 3
120B 149117 |Termination kit 185mm? 22kV HVABC 1
53AB 149112 |Cond Term Hel 19/3.65 catenary for 150/185 HVABC 1
— 53AD 149121 |Bundled restraint 185mm? 22kV HVABC 1
55E 144955 |Parallel groove clamp (7.5-17.5mm Bi metal) 1
61A 322056 |Ball Clevis & Pin 16mm 1
61B 322386 |Socket Termination 16mm 1
B 73F 32191 |BoltHexM10 X100 3
75P 32289 |BoltHexM16 X375 2
80C 37260 |Bolt Eye M20 X325 1
9C 322063 |Standoff insulator bracket for u/g cables 1
L #N/IA 40439 |NutM10 6
303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HYABC 3
152482 |Lug Crimp Bimetal 185mm? M12 3
DE/HVABC22.35UG/3 S 119G 225773 |Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs 3
120A 149116 |Termination kit 35mm? 22kV HVABC 1
C 35F 152476 |Lug Crimp Bimetal 35mm? M12 3
53AA 149111 |Cond Term Hel 6/4.75 7/1.60 or 7/5.00 catenary for 35/50 HVABC 1
53AC 149122 |Bundled restraint 35mm? 22kV HVABC 1
55E 144955 |Parallel groove clamp (7.5-17.5mm Bi metal) 1
| 60G 321260 |Insulator Disc Porcelain 16mm 70kN 146mm 1
61A 322056 |Ball Clevis & Pin 16mm 1
61B 322386 |Socket Termination 16mm 1
61D 322090 |Kink Pin 16mm 1
D 80C 37260 |Bolt Eye M20 X325 1
82B 40442 |Nut M20 1
86C 65159 |Washer Els 20 1
9C 322063 |Standoff insulator bracket for u/g cables 1
— #NIA 303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC 3
DE/HVABC22.35/3/PLM S 3 323310 |Strain Plate Mk10 3
4 323311 |L Bracket Mk11l 2
119G 225773 |Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs 3
E 120A 149116 |Termination kit 35mm? 22kV HVABC 1
1E 323305 |Crossarm Mk5 2
35F 152476 |Lug Crimp Bimetal 35mm? M12 3
53AA 149111 |Cond Term Hel 6/4.75 7/1.60 or 7/5.00 catenary for 35/50 HVABC 1
— 53AC 149122 |Bundled restraint 35mm? 22kV HVABC 1
60G 321260 |Insulator Disc Porcelain 16mm 70kN 146mm 1
60H 320735 |Insulator Raychem standoff 24kV set of 3 1
61A 322056 |Ball Clevis & Pin 16mm 1
F 61B 322386 |Socket Termination 16mm 1
61D 322090 |Kink Pin 16mm 1
73F 32191 |BoltHexM10 X 100 3
75M 32287 |BoltHexM16 X325 2
L 75Z 32261 |BoltHexM16 X45 3
80C 37260 |Bolt Eye M20 X325 1
82B 40442 |Nut M20 1
86C 65159 |Washer Els 20 1
#N/IA 40439 |NutM10 6
G 303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HYABC 3
2A 323314 |Crossarm Strap Mk14 4
H - FOR REFERENCE ONLY
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
i NO PART OF THIS DRAWING MAY BE REPRODUCED,
o O g a3 Tamarvarce 1> Gy Pl B e
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o5 TasNetworks e SCALE
— |2 NMS HVABC DEAD END UG CABLE TRANSITION NTS
: <_zi' DRAWN €5 PRO-SOLUTIONS gégg FééLES LIST
w g DESIGNED BY [ ELECTRO AL
: © CHECKED BY H.WESTBURY
APPROVED BY REVISION
h DATE APPROVED | 27/MAY/19 D - O H [ - [ O 5 8 - S D - O O 2 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-66



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.21 NMS HVABC Strain with Tee-Off (Obsolete)

1 | 2 | 3 | 4 5
53AD) OR (53AC
A XN
\\\\tk\
AR
AV
.
C
iz
E
g
F
HV CATENARY AND
STEELWORK EARTH
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
: STORED IN A RETRIEVAL SYSTEM IN ANY FORM,

v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |w
12 TasNetworks e SCALE
— 8 NMS HVABC STRAIN WITH TEE - OFF NTS
<|2 OBSOLETE
B ORAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY | ELECTRO

[-4
Ll ] CHECKED BY | HWESTBURY AL
- — D - OHC - (065 - SD - 001 | A

DATE APPROVED | 06/JUN/19 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-67



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.22 NMS HVABC Strain, Transformer TeeOff with SDs & EDOs (Obsolete)

1 \ 2 \ 3 \ 4 \ 5

A 119F)oR(1196)

(53A0) 0R(53AD c

BEND PVC COPPER
B TAIL AT 90° TO HVABC

N

C
D &5
\ 2 ), &)Y 4

= 86B

- STRIP 150mm PVC
E 2 FOR OPERATIONAL

< 53AC)OR(53AD EARTH CONNECTION

N
\ TRANSFORMER HV
& CATENARY EARTH

F

N

G - OBSOLETE
- FOR REFERENCE ONLY

H
APL Nos
SSB/HVABC(22.35/PLM DIMENSIONS ARE IN MILLIMETRES
SSB/HVAB(22.185/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
s trad TasNetwork STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as lasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°ls TasNetworks e SCLE
— 14 NMS HVABC STRAIN WITH TRANSFORMER TEE-OFF| y1g
< |2 INCLUDING SURGE DIVERTERS & EDOs
< S S
DRAWN €5 PRO-SOLUTION
x|Z OBSOLETE
w |2 DESIGNED BY | ELECTRO A A
i CHECKED BY H.WESTBURY
< APPROVED BY | - _ _ _ REVISION
DATE APPROVED | 05/JUN/19 D O H [ [ O 5 [* S D 0 0 /‘ A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-68



Overhead Distribution Construction Manual - Miscellaneous

Section 3

NMS HVABC Strain, Transformer Tee-Off, SDs and EDOs — Material List (Obsolete)

2

| 3 | 4

Store Stock
Unit Assembly Type item Ref ltem | Stock Iltem Description Quantity
SSB/HVABC22.35/3/PLM S 89 66803 |Washer 75 x 75 x 6 (M20 Hole) 2
119G 225773 |Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs
120A 149116 |Termination kit 35mm? 22kV HVABC
1D 323304 |Crossarm Mk4
29K 323401 |Service Fuse Bracket 3 ph Michaud
2B 323317 |Crossarm Strap Mk17
35B 145653 |Lug Preinsuled LVABC 95mm?*
35F 152476 |Lug Crimp Bimetal 35mm? M12
35P 141299 |Lug Bolted 16mm? 12 hole
36C 141304 |Q LUG bolted 50 70mm? tinned copper
41B 157877 |Sleeving 6 ID 2 Wall
53AA 149111 |Cond Term Hel 6/4.75 7/1.60 or 7/5.00 catenary for 35/50 HVABC
53AC 149122 |Bundled restraint 35mm ® 22kV HVABC
59A 322721 |Pin,Insulator 22kV/
60E 320531 |Insulator Pin 22/450
60H 320735 |Insulator Raychem standoff 24kV set of 3
62F 144620 |Bushing Cover 22kV
63M 236323 |Switch Fuse EDO 24KV single phase
64F 236247 |LVABC Switch Fuse Box - 160A 1ph (6-95 Cu or Al)
6A 323315 |Insulator Bracket Mk15
75D 32276 |Bolt HexM16 X150
75N 32288 |Bolt Hex M16 X 350
75P 32289 |BoltHexM16 X375
752 32261 |BoltHexM16 X 45
76C 32340 | Bolt Hex M20 X 400
82B 40442 |Nut M20
85B 50250 |Coach Screw M12 X100
86B 65158 |Washer Els 16
88B 66413 |Washer Tower 16
51E 103217 |Wire Electrical Cu 16mm® 1c Black (UM Resistant)
2A 323314 |Crossarm Strap Mk14
15F 323449 | T/F Mounting Brackets - 63 to 315kVA Bolt Fixed Transformers
SSB/HVABC22.185/PLM S 89 66803 |Washer 75 x 75 x 6 (M20 Hole)

119G 225773 | Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA c/w bird cap & M12 studs
120B 149117 |Termination kit 185mm? 22kV HVABC

1D 323304 Crossarm Mk4

29K 323401 |Service Fuse Bracket 3 ph Michaud

2B 323317 |Crossarm Strap Mk17

358 145653 |Lug Preinsuled LVABC 95mm?

35P 141299 |Lug Bolted 16mm? 12 hole

36C 141304 |QLUG bolted 50 70mm? tinned copper
41B 157877  Sleeving 6 ID 2 Wall

53AB 149112 |Cond Term Hel 19/3.65 catenary for 150/185 HVABC
53AD 149121 |Bundled restraint 185mm * 22kV HVABC

rlaivolwlsvsvevivolkrloloorerNvN o olos|klrivvovesvo svsvevivolrloloorrrbvNolololo|skirivb o

D - OHC = (054 -

DATE APPROVED | 27/MAY/19

59A 322721 |Pin,Insulator 22kV/
— 60E 320531 |Insulator Pin 22/450
60H 320735 |Insulator Raychem standoff 24kV set of 3
62F 144620 | Bushing Cover 22kV
63M 236323 | Switch Fuse EDO 24KV single phase
64F 236247 |LVABC Switch Fuse Box- 160A 1ph (6-95 Cu or Al)
F 6A 323315 |Insulator Bracket Mk15
75D 32276 | BoltHexM16 X150
75N 32288 | BoltHexM16 X350
75P 32289 |BoltHexM16 X375
752 32261 | BoltHexM16 X45
— 76C 32340 | BoltHexM20 X400
82B 40442  |NutM20
85B 50250 |Coach Screw M12 X 100
86B 65158 |Washer Els 16
88B 66413 | Washer Tower 16
G HREF! 152482 | Lug Crimp Bimetal 185mm? M12
51E 103217 | Wire Electrical Cu 16mm?2 1c Black (U/V Resistant)
2A 323314 Crossarm Strap Mk14
15F 323449 | T/F Mounting Brackets - 63 to 315kVA Bolt Fixed Transformers
H FOR REFERENCE ONLY
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
i NO PART OF THIS DRAWING MAY BE REPRODUCED,
- © ;I'usdn)unlun #efv&orfks TY’ LTD. STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as lTasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
e TasNetworks TITLE
— |3 NMS HVABC STRAIN WITH TRANSFORMER TEE-OFF| \75
<|Z INCLUDING SURGE DIVERTERS & EDOs
ORAWN (5 PRO-SOLUTIONS
-5 DESIGNED BY | ELECTRO MATERIALS LIST
w | =
gl OBSOLETE AL
CHECKED BY H.WESTBURY
-
< APPROVED BY REVISION

sSD

002 A

Ver. 1.0

11/22 kV & SWER Constructions

Page 3-69



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.23 NMS HVABC Strain, Transformer Tee Off with EDOs (Obsolete)

1 | 2 | 3 | A | 5
A
Do D
L] (53A00R(3AD) o5
;}?!','
s
7,
BEND PVC COPPER TAIL ) /
AT 90° TO HVABC >
B SEE HVABC/2.2/12 7
868 ) 102A
o
c /
4/
/
D
i
2
E STRIP 150mm PVC
FOR OPERATIONAL
EARTH CONNECTION
] s
53AC) OR
F
\ TRANSFORMER HV
& CATENARY EARTH
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |Ww
12 TasNetworks i SCALE
—|a NMS HVABC STRAIN WITH TRANSFORMER NTS
<|z TEE - OFF INCLUDING EDGs
ORAWN (S PRO-SOLUTIONS
x|z OBSOLETE
w = DESIGNED BY ELECTRO A[”
Ll =] (HECKED BY H.WESTBURY
< — D - OHC - C068 - SD - 001
DATE APPROVED | 06/JUN/19 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-70



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.24 NMS HVABC Strain, Transformer Tee-Off (Obsolete)

1 | 2 | 3 | L | 5

A GIDLLGTY)

47
;fl"};’

] o /@Lf'

///
BEND PVC COPPER TAIL
AT 90° TO HVABC
B SEE HVABC/2.2/12 61A
/
A /
C
51D

S
5
> =g
&
-
3 75M
2 908
STRIP 150mm PVC
E FOR OPERATIONAL
EARTH CONNECTION
3
EDRED
\ TRANSFORMER HV
F & CATENARY EARTH
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Nefworks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
=] TasNetworks T SCALE
—|a NMS HVABC STRAIN WITH TRANSFORMER NTS
<[z —_ YT TEE - OFF EXCLUDING EDOs & SURGE DIVERTERS
x|z - OBSOLETE
w = DESIGNED BY ELECTRO A[”
: © (HECKED BY H.WESTBURY
< — D - OHC - (069 - SD - 001
DATE APPROVED | 06/JUN/19 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-71



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.25 NMS HVABGC, Strain Vertical Tee-Off to Open Wire (Obsolete)

1 | 2 | 3 | L | 5

A (53A0) 0R(S3AC

] (53A8) 0R(534B

N>
60C X 61A X 61D X 61B
NO CONTACT WITH
PVC COPPER TAILS

B 80C X 86C X102A
N>
C ) 55D
2 120A)0R(1208
= €3)
35F 35K
: A OR
DD craveL
g 150X50X920
A
—¥ A\l
D
60K
2 4
L
L )
51D
o [
ﬁ N
5
E 1D
2
PVC COPPER LEAD PROSPECT 3WAY
LUG & VERMIN
COVER
 I— (=] &
IS
S
2A
o
N s
F 62G :§§§§§§
119G )OR( 19F
\
\ 2
— \ =
G

N

- OBSOLETE
H - FOR REFERENCE ONLY

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

© Tasmanian Nefworks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,

n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w

=] TasNetworks T SCALE
—|a NMS HVABC STRAIN WITH VERTICAL TEE - OFF NTS
< :(' ORAWN (S PRO-SOLUTIONS T O O P E N w ‘ R E
x|z - OBSOLETE
w = DESIGNED BY ELECTRO A[”
Ll =] (HECKED BY H.WESTBURY
< — D - OHC - (067 - SD - 001

DATE APPROVED | 06/JUN/19 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-72



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.26 NMS HVABC Strain, Tee-Off to Open Wire (Obsolete)

1 | 2 | 3 | 4 | 5

NO CONTACT WITH
PVC COPPER TAILS

o
o

GDRGEO
BEND PVC COPPER
AT 90° REFER

HVABC/2.2/12 ‘
— 2

X/

N0

PVC COPPER TAILS

- |
460 L60
o
Q
S
460 460

™
HV SURGE DIVERTER
N AND CATENARY EARTH
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
. STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
w trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR P OF TASNETWORKS
o |w
— 2 TasNetworks T SCALE
— |3 NMS HVABC STRAIN WITH OPEN WIRE TEE - OFF NTS
ME OBSOLETE
x |[Z DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO
o

: © CHECKED BY H.WESTBURY AL
- D - OHC - C066 - SD - 001 | &

DATE APPROVED | 11/JUN/19 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-73




Overhead Distribution Construction Manual - Miscellaneous

Section 3

3.27 NMS HVABC Open Wire Right Angle Strain Transition (Obsolete)

1 | 2 | 3 | 4 | 5
626
A 610
35F ) OR (S No. 15.24.82 )
|| /*\ (9P 0r(1196)
. A
~. “
~ -’ |
) -
A 2
B = ~
—
N/ /
= / ~
s / '~
— \‘ N N
\~
C
D
NO CONTACT WITH
NMS HVABC PVC COPPER TAILS
i (NOW OBSOLETE)
OR
E
F
1 COPPER SURGE DIVERTER
AND CATENARY HV EARTH
- SEE SECTION ?7?
NOTE:
G THIS CONSTRUCTION SHOULD BE USED IN
CONJUNCTION WITH EITHER DE/11/3/PLM
OR DE/22/3/PLM TO INCLUDE CROSSARMS ETC.
APL Nos
H S/HVAB(C11.35.B/PLM
S/HVAB(22.35.B/PLM
S/HVABC(C11.185.B/PLM DIMENSIONS ARE IN MILLIMETRES
S/HVAB(22.185.B/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
® trading as TasNetworks OR TRANSMITTED Y ANY NEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |y SCALE
> TITLE
-2 TasNetworks NMS HVABC STRAIN TRANSITION OPEN WIRE NTS
<|= OBSOLETE
o 2 ORAWN (5 PRO-SOLUTIONS
[ = DESIGNED BY ELECTRO
o
Lol K= CHECKED BY H.WESTBURY AA
< e D - OHC - €053 - SD - 001
DATE APPROVED | 11/JUN/19 A
Ver. 1.0 11/22 kV & SWER Constructions Page 3-74



Overhead Distribution Construction Manual - Miscellaneous Section 3

NMS HVABC Open Wire Right Angle Strain Transition — Material List (Obsolete)

Store Stock
Unit Assembly Type | Item Ref | Item |Stock Item Description Quantity
S/HVABC11.35.B/PLM S 119F 225772 |Lightning Arrester (NOT L/L TESTED) ABB 11kV 10kA c/w bird cap & M12 studs 3
A 120A 149116 | Termination kit 35mm® 22kV HVABC
35E 141363 |Lug Crimp 70mm? tinned copper

35F 152476 | Lug Crimp Bimetal 35mm2 M12

53AB 149112 | Cond Term Hel 19/3.65 catenary for 150/185 HVABC

53AC 149122 |Bundled restraint 35mm? 22kV HVABC

i 55C 146618 Dee Clamp for 7.5 to 16.25mm Dia. AL ACSR/GZ (19/2.00 Cu Tail) - 3565mm Long

55E 144955 | Parallel groove clamp (7.5-17.5mm Bi metal)
60G 321260 |Insulator Disc Porcelain 16mm 70kN 146mm
60H 320735 |Insulator Raychem standoff 24kV set of 3
61A 322056 |Ball Clevis & Pin 16mm
618 322386 |Socket Termination 16mm
B 61D 322090 |Kink Pin 16mm
73F 32191 |BoltHexM10 X100
778 33771 |Bolt Tower M12 X 35
80C 37260 |Bolt Eye M20 X325
#NIA 40439 |NutM10
(I 303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC

S/HVABC11.185B/PLM | S 119F | 225772 |Lightning Arrester (NOT L/L TESTED) ABB 11kV 10kA ciw bird cap & M12 studs
120B | 149117 |Termination kit 185mm? 22KV HVABC
35E 141363 |Lug Crimp 70mm? tinned copper

53AB | 149112 |Cond Term Hel 19/3.65 catenary for 150/185 HVABC

53AD | 149121 |Bundled restraint 185mm? 22KV HVABC

C 55C 146618 |Dee Clamp for 7.5 to 16.25mm Dia. AL ACSR/GZ (19/2.00 Cu Tail) - 355mm Long
55E 144955 | Parallel groove clamp (7.5-17.5mm Bi metal)

60G 321260 |Insulator Disc Porcelain 16mm 70kN 146mm

60H 320735 |Insulator Raychem standoff 24kV set of 3

61A 322056 |Ball Clevis & Pin 16mm

L 618 322386 |Socket Termination 16mm
61D 322090 |Kink Pin 16mm
73F 32191 |Bolt HexM10 X100
778 33771 |Bolt Tower M12 X35
80C 37260 |Bolt Eye M20 X325
#NIA 40439 |NutM10
D 303569 |Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC
152482 |Lug Crimp Bimetal 185mm? M12
SIHVABC22.35B/PLM | S 119G 225773 | Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA cAw bird cap & M12 studs
120A 149116 Termination kit 35mm? 22kV HVABC
35E 141363 |Lug Crimp 70mm? tinned copper
35F 152476|Lug Crimp Bimetal 35mm? M12
| 53AA 149111 |Cond Term Hel 6/4.75 7/1.60 or 7/5.00 catenary for 35/50 HVABC
53AC 149122|Bundled restraint 35mm? 22KV HVABC
55C 146618|Dee Clamp for 7.5 to 16.25mm Dia. AL ACSR/GZ (19/2.00 Cu Tail) - 355mm Long
55E 144955 Parallel groove clamp (7.5-17.5mm Bi metal)
60G 321260 | Insulator Disc Porcelain 16mm 70kN 146mm
E 60H 320735 | Insulator Raychem standoff 24kV set of 3
61A 322056 |Ball Clevis & Pin 16mm
618 322386 | Socket Termination 16mm
61D 322090 Kink Pin 16mm
73F 32191 Bolt Hex M10 X 100
778 33771|Bolt Tower M12 X35
| 80C 37260/ Bolt Eye M20 X 325
#NIA 40439 |Nut M10
303569 | Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC
SIHVABC22.185B/PLM | S 119G 225773 | Lightning Arrester (NOT L/L TESTED) ABB 22kV 10kA cAw bird cap & M12 studs
1208 149117 | Termination kit 185mm? 22kV HVABC
F 35 141363 |Lug Crimp 70mm” inned copper
53AB 149112|Cond Term Hel 19/3.65 catenary for 150/185 HVABC
53AD 149121 |Bundled restraint 185mm? 22KV HVABC
55C 146618|Dee Clamp for 7.5 to 16.25mm Dia. AL ACSR/GZ (19/2.00 Cu Tail) - 355mm Long
55E 144955  Parallel groove clamp (7.5-17.5mm Bi metal)
60G 321260 Insulator Disc Porcelain 16mm 70kN 146mm
1 60H 320735 |Insulator Raychem standoff 24kV set of 3
61A 322056 |Ball Clevis & Pin 16mm
618 322386 Socket Termination 16mm
61D 322090 Kink Pin 16mm
73F 32191 |Bolt Hex M10 X 100
G 778 33771 Bolt Tower M12 X35
80C 37260 |Bolt Eye M20 X 325
#NIA 40439 |Nut M10

303569 | Copper "T" Bar for S/Off Insulators or L/A's to HV Cables or HVABC
152482|Lug Crimp Bimetal 185mm?M12

- OBSOLETE
- FOR REFERENCE ONLY

olwlo|klwlewrkrlrlklelkrlelrirlelrlo|lolorlelolklrlrlelrlelelelrlololrlololwlor|lelwlrrlrielklelklelrlolklo|lelor|e olklrlelelereleleelo|lo-

NOTE:

CHECKED BY HWESTBURY

THESE APLS NEED TO BE USED IN CONJUNCTION WITH A DE/22/3/PLM DIMENSIONS ARE IN MILLIMETRES
DEAD END CONSTRUCTION TO INCLUDE CROSSARMS ETC. UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,

v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
o |y TITLE SCALE
- |2 TasNetworks NMS HVABC STRAIN TRANSITION OPEN WIRE NTS
< 3‘ DRAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
© = - OBSOLETE
w | = DESIGNED BY ELECTRO AA
- |&
-
<<

APPROVED BY REVISION

DATE APPROVED | 21/MAY/19 D - OHC - C O 53 - S D - O O 2 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-75



Overhead Distribution Construction Manual - Miscellaneous Section 3
3.28 Transposition 4 Intermediate, Rolling Mk4 Crossarm
1 | 2 | 3 | 4 | 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE. ‘ FRP CROSSARMS PREFERRED‘
TIE TO SUIT CONDUCTOR SIZE/TYPE
A
ALTERNATIVE INSULATOR
POSITION
1 |Rid +
| §[
— g Y o s o +
ALTERNATIVE INSULATOR
POSITION
‘ N
D ED)
. 86B
@)
D
E
|
F
|
|
G
|
H
APL Nos
TR4/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
TRL/22/3/PLM UNLESS OTHERWISE STATED
2] T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
ol 2| e © g s Takarvore LA O, e
=z w ix( E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=] 5 ol | g 5 SCALE
- 1918 | QFEeLLS TasNetworks | ™12 ANSPOSITION 4 - INTERMEDIATE ‘ROLLING' NTS
<|3|® " BEaEEs 1V OR 22kV MK& CROSSARM OPEN WIRE
x |5 & DRAWN (5 PRO-SOLUTIONS
w x|*- DESIGNED BY ELECTRO
: : E [==] CHECKED BY HWESTBURY AL
<< g APPROVED BY A KETLEY REVISION
= DATE APPROVED | 22/MAY/19 D - OH[ - [O/‘é - SD - OO/‘ B
Ver. 1.0 11/22 kV & SWER Constructions Page 3-76



Overhead Distribution Construction Manual - Miscellaneous Section 3

Transposition 4, Intermediate Rolling, MK4 Crossarm - Material List

1 | 2 | 3 | L 5
A
B
Store Stock
Unit Assembly Type Item Ref tem | Stock Item Description Quantity
| |TR4/113/PLMand S 4 323311 |BRACKET,RIGHT ANGLE 75X 12MM GAL 1
TR4/22/3/PLM 1D | 323304 |CROSSARM,STEEL 75X 75 X 2210MM MK4 GAL 2
59A | 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 3
¢ 60E | 320531 |INSULATOR,PIN 22KV AERO PORCELAIN 3
75M | 32287 |BOLT,HEX HEAD M16 X 325MM GAL. C/W NUT 4
778 | 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
- 82A | 40441 |NUT,HEX M16 THREAD GALANISED STEEL 8
86B | 65158 |WASHER,FLATROUND M16 X S5OMM GAL 4
88A | 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 4
0 2A | 323314 |BRACE,CROSSARM 40X 700 X 5MM THICK GAL 4
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
2 R A ST T N
=z ABN. 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |5 SCALE
-2 TasNetworks | ™1 R ANSPOSITION & - INTERMEDIATE ‘ROLLING' NTS
<|z 11kV OR 22kV MK4 CROSSARM OPEN WIRE
o % ORAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
w = DESIGNED BY ELECTRO AL
= |e CHECKED BY H.WESTBURY
APPROVED BY A KETLEY REVISION
h DATE APPROVED | 22/MAY/19 D - O H [ - [ O /‘ 6 - S D - 0 O 2 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-77



Overhead Distribution Construction Manual - Miscellaneous Section 3

3.29 Transposition 5, Intermediate, Inner & Outers, Mk4 Crossarm

—

1 | 2 | 3 | L | 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A | FRP_CROSSARMS PREFERRED |
TIE TO SUIT CONDUCTOR SIZE/TYPE
B + ° ° 9 + i}
C [ 5+ o © ° + kil |
N
D T
S e
86B
D
(@ = — —  +»  — — — — — < 777%:77(@
E
F
G
H
APL Nos
TR5/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
TR5/22/3/PLM UNLESS OTHERWISE STATED
[} .
2 © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
< " STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v @ ] trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
z |u|Z H ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°\3la 2k § § TasNetworks e SCiLe
= 2 § 5122 3.3 TRANSPOSITION 5 - INTERMEDIATE INNER & QUTER| NTg
@ |28l 8
< g = EEoEafs 1MkV OR 22kV MK4 CROSSARM OPEN WIRE
x |5 & DRAWN (5 PRO-SOLUTIONS
w - X% N DESIGNED BY | ELECTRO AL
: <|Z | L EELE CHECKED BY | HWESTBURY
S 2 a APPROVED BY | A KETLEY REVISION
<< = = 3 p— —_ . .
= 2 ES|= DATE APPROVED [ 22/MAY/19 D OHC Co17 SO 001 B

Ver. 1.0 11/22 kV & SWER Constructions Page 3-78



Overhead Distribution Construction Manual - Miscellaneous Section 3

Transposition 5, Intermediate Rolling, Inner & Outers, MK4 Crossarm - Material List

1 | 2 | 3 | L | 5
A
- Store Stock
Unit Assembly Type ltem Ref Item Stock Item Description Quantity
TR5/11/3/PLM and S 1D 323304/ CROSSARM,STEEL 75 X 75 X 2210MM MK4 GAL 2
B| |TR5/22/3/PLM 59A 322721/ PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 3
60E 320531/ INSULATOR,PIN 22KV AERO PORCELAIN 3
75M 32287 BOLT,HEX HEAD M16 X 325MM GAL. C/W NUT 4
— 778 33771/ BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
82A 40441 NUT,HEX M16 THREAD GALANISED STEEL 8
868 65158 WASHER, FLAT ROUND M16 X 50MM GAL 4
C 88A 66412 WASHER, FLAT ROUND M12 X 24MM GAL 4
2A 323314/ BRACE,CROSSARM 40 X 700 X SMM THICK GAL 4
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v O g o Yarmrorns STORED N A RETREVAL STSTEN AN fon,
=z ABN. 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy SCALE
-2 TasNetworks | ™ 1R ANSPOSITION 5 - INTERMEDIATE INNER & OUTER| s
<|z 11kV OR 22kV MKL CROSSARM OPEN WIRE
o % ORAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
[ = DESIGNED BY ELECTRO AL
e CHECKED BY HMWESTBURY
: APPROVED BY | A KETLEY REVISION
DATE APPROVED | 23/MAY/19 D - O H [ - [ O /‘ 7 - S D - O O 2 A

Ver. 1.0 11/22 kV & SWER Constructions Page 3-79



Overhead Distribution Construction Manual - Miscellaneous

Section 3

3.30 Transposition 6, Intermediate, Two Outers, Mk4 Crossarm

-

|

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
ET
B <
o ALTERNATIVE INSULATOR
POSITION
| [F 5 o
C -
&
— ] - + °
ALTERNATIVE INSULATOR
POSITION a
D N
L
3
I 868
@r—=——— F— () E—— T®
"
F
G
H
APL Nos
TR6/11/3/PLM DIMENSIONS ARE IN MILLIMETRES
TR6/22/3/PLM UNLESS OTHERWISE STATED
v .
2 © Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
: STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
i g S trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
Zlwl E ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
218 4 > TasNetworks TLE SCALE
- 2 § % TRANSPOSITION 6 - INTERMEDIATE TWO QUTERS NTS
-
<= v = 1MkV OR 22kV - MK4 CROSSARM OPEN WIRE
Z|( o DRAWN (5 PRO-SOLUTIONS
wgl o DESIGNED BY | ELECTRO AL
el £ | CHECKED BY | HWESTBURY
- w
= REVISON
= 5 APPROVED BY [ A KETLEY _ _ _ -
= DATE APPROVED [ 23/MAY/19 D OHC c018 SO 001 B
Ver. 1.0 11/22 kV & SWER Constructions Page 3-80



Overhead Distribution Construction Manual - Miscellaneous Section 3

Transposition 6, Intermediate, Two Outers, MK4 Crossarm - Material List

1 | 2 | 3 | L 5
A
Store Stock
8 Unit Assembly Type Item Ref Item Stock Item Description Quantity
TR6/11/3PLM and s 4 323311 |BRACKET,RIGHT ANGLE 75X 12MM GAL 1
TR6/22/3/PLM 1D | 323304 |CROSSARM,STEEL 75X 75 X 2210MM MK4 GAL 2
] 50A | 322721 |PIN,INSULATOR 20MM DIA X 22KV GAL STEEL 3
60E | 320531 |INSULATOR,PIN 22KV AERO PORCELAIN 3
75M | 32287 |BOLT,HEX HEAD M16 X 325MM GAL. C/W NUT 6
c 778 | 33771 |BOLT,HEX HEAD M12 X 35MM GAL. C/W NUT 4
82A | 40441 |NUT,HEX M16 THREAD GALANISED STEEL 8
86B | 65158 |WASHER,FLAT ROUND M16 X 50MM GAL 4
] 88A | 66412 |WASHER,FLAT ROUND M12 X 24MM GAL 4
2A | 323314 |BRACE,CROSSARM 40 X 700 X 5MM THICK GAL 4
D
E
F
G
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T Nefworks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v O g o Yarmrorns STORED N A RETREVAL STSTEN AN fon,
=z ABN. 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy SCALE
-2 TasNetworks | ™ 1R ANSPOSITION 6 - INTERMEDIATE TWO OUTERS | s
<|2 11kV OR 22kV - MK4 CROSSARM OPEN WIRE
o % ORAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
[ = DESIGNED BY ELECTRO AL
e CHECKED BY HMWESTBURY
: APPROVED BY A KETLEY D _ O H [ _ [ O /‘8 _ S D _ 002 RE\/EUN
DATE APPROVED | 23/MAY/19

Ver. 1.0 11/22 kV & SWER Constructions Page 3-81



Overhead Distribution Construction Manual - Miscellaneous Section 3

Ver. 1.0 11/22 kV & SWER Constructions Page 3-82



SECTION 4 — 33kV & 66kV
CONSTRUCTIONS



Overhead Distribution Construction Manual - Miscellaneous Section 4

Ver. 1.0 33kV & 66kV Constructions Page 4-2



Overhead Distribution Construction Manual - Miscellaneous Section 4

4 SECTION 4 —33kV & 66kV CONSTRUCTIONS

4 SECTION 4 — 33kV & 66KV CONSTRUCTIONS ....eiiiieiie ittt 3
MISCELLANEOUS CONSTRUCTIONS - REFERENCE ONLY ........cccoiiiiiiiiiiiieieeeeeeeee e 4

BE6KV FRP CONSTRUCTIONS ...ttt bbbttt 4
4.1 Intermediate Delta 66KV FRP CroSSarmM ....ccuiiiiiiiiiiiiiieie st 4
4.2 Dead ENd 66KV FRP CrOSSAIMN ...ttt 6
4.3 Strain 66KV FRP CrOSSAIMN ..ottt 8
4.4 Strain Right Angle 66KV FRP CroSSarm .....ccviiiiiiiiiieeciee et 10
4.5 Tee Off Open Wire 66KV FRP CrOSSAIM ....iiiiiiiieieie ettt 12
4.6 Double Pole Strain 66kV — S&C FUSE = FrONT VIEW......ioiiiiiiiiciieie e 14
Double Pole Strain 66kV — S&C FUSE = Sid@ VIEW ......ovuiiiiiiiiiiiieieceee e 15
Double Pole Strain 66KV — S&C FUSE = TOP VIEW ...iiviiiiiiiiieiiecie et 16
Double Pole Strain 66kV — S&C Fuse — Material List ......cooieiiiiieiieie e 17
4.7 Double Pole Strain — 66kV with NGK Stranger Fuse — Front VIieW..........cccoccveevieiieeiiecicee 18
Double Pole Strain — 66kV with NGK Dropout Fuse — Side VIEW ......ccccoveiiieiiieiiecieeeecee e 19
Double Pole Strain — 66kV with NGK Dropout Fuse — TOP VIEW ......cooviiiiiiiieiieciecieeeee e 20
4.8 66kV Double Strain — Crossarm Beam SteelWork .........ccocieiiiiiiiiieceee e 21
66kV Double Strain — EDO Beam STEEIWOIK........ccoiiiiiiiiiiic 22
66kV Crossarm Beam — Standoff INSUIATOr ..o 23
4.9 66KV Line POSE INSUIGTON ....iiiiiiiiiiiiii e 24
66KV Line POSt INSUIGTOT STUA ..o 25
Assembled 66KV Line POST INSUITON.......ciiiiiiiiiiii e 26
Ver. 1.0 33kV & 66kV Constructions Page 4-3



Overhead Distribution Construction Manual - Miscellaneous Section 4

MISCELLANEOUS CONSTRUCTIONS - REFERENCE ONLY

66KV FRP CONSTRUCTIONS
4.1 Intermediate Delta 66kV FRP Crossarm

1 2 3 | 4 5

NB ENSURE THAT LOCK NUTS ARE INSTALLED
ON ALL BOLTS PASSING THROUGH THE POLE

A
5
B 2

CAPTIVE NUT

FOR INSULATOR PIN
CUNSDE RSER T T
1355 1355

"
S
( -
505 460
T200C ' i

| I |

LB N R

D

t

<

.

TITAN POLYMER
CONCRETE POLE

(5 CONDUCTOR TEES 10 SuiT
_/_.EONDUETDR SIZE/TYPE

T200G
B SRR 75Y X 82A X_871D T208A T205A
uo’f
G T203A
B EEEEEEIERT o T205A
 — =
H
APL Nos: DIMENSIONS ARE IN MILLIMETRES
DELTA 1/66/3/FRP UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. N O T DRAWR MY, B REFRODUCED.
M4 trading as TasNetworks o8 TRANSHITTED Be" ANY, MEANS WITHOUT THE
z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
28 TasNetworks e stae
Zla INTERMEDIATE DELTA 66KV 1.25
<= FRP CROSSARM
=2 DRAWN ELECTRD
w |2 DESIGNED BY | BMAYBERRY AL
(=4
e (HECKED BY | KGOSDEN
-
« “APPROVED BY _ _ _ _ Revisio
D - OHC - P001 - SD - 001 A
Rev. 1.0 33kV & 66kV Constructions Page 15-4



Overhead Distribution Construction Manual - Miscellaneous Section 4
Intermediate Delta 66kV FRP Crossarm Material List
1 2 3 4 5
A
B
Unit'Assembly|Store: Type [Item Ref|Stock Item:~|Stock [tem Descriptiol s : & - |Quantity
DELTA S T343 NEW 66kV Tie Top Line Post Insulator, Stud Type (Morlynn H11167/IS87) 3
/66/3/FRP 75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
75T 32293 Bolt Hex M16 X475 - Thread Length 75mm 1
C 75Y 32298 Bolt Hex M16 X 600 - Thread Length 75mm 1
82A 40441 Nut Hex M16 5
870 65616 Washer NS M16 6
T200C NEW CF XARM - 2840x100x 100 - CA-100 SHS 2.834m ARM 1
T202 NEW CF DELTA RISER - AOA01555 - 1833x100x100 - CA-100 SHS 1.824 RISER 1
— T203A NEW XARM BRACE - 716x40x8 1
T204C NEW STUD M24, INSULATOR - (G.V.KINSMAN- 15-10885\) 180mm stem - 39mm head 3
T208A NEW GAIN BLOCK 100mm 1
T205A NEW M16 Spring Washer - Galvanised Spring Steel DIN1278 (OD: 27mm, ID: 16.2 - 17.0mm, Thickness: 3.5) 3
T228 NEW M24 Nut Hex (36mm across Flats, 21mm Thick) 4
D T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 2
T342 NEW M24 Lock/Half Nut - Thickness 7.0 - 9.0mm 3
T2208 NEW M24 Spring Washer - Galvanised Spring Steel DIN1278 (OD: 40mm, ID: 24.5 - 25.5mm, Thickness: 5.0) 2
E
E
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o rang 53 Taeiware L
z ABN: 24 167 357 299 PRIOR PERMISSIDN OF TASNETWORKS
bl = TasNetworks TE SULE
. INTERMEDIATE DELTA 66KV NTS
M E ORAWN ELECTRD FRP CROSSARM
@ |2 MATERIAL LIST
w |9 DESIGNED BY | BMAYBERRY AL
: °© CHECKED BY | K.GOSDEN
< APPROVED BY _ _ _ _ REVISION
oy D - OHC - P00T - SD - 002
Rev. 2.0 33kV & 66kV Constructions Page 4-5



Overhead Distribution Construction Manual - Miscellaneous

Section 4

4.2 Dead End 66kV FRP Crossarm

1 2 | 3 | L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
j
3
e
A
T200F
B
TITAN POLYMER
CONCRETE POLE
| L
C
D :{)::D::l)::()::b: 82A T208B
Y
HELICAL TERMINATIONS TO SUIT °
CONDUCTOR SIZE/TYPE 8
750 7058
E e/
1355 1355
[
F
* °
G
H
NOTES
APL Nos: DIMENSIONS ARE IN MILLIMETRES
1. FIT INSULATION SLEEVING TO ALL BRIDGING DE/6573/FRP UNLESS DTHERWISE STATED
(© Tesmanian Networks PTY. LTD. ~ NO PART OF THIS DRAWING MAY BE REPRODUCED,
o g a3 Tosharuorss S ) S S e
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
213 TasNetworks TLE S
-2 DEAD END 66KV 130
<|z FRP CROSSARM
x |Z DRAWN ELECTRD
w |2 DESIGNED BY B.HAYBERRY All'
(=9
: ° (HECKED BY | KGOSDEN
=4 APPROVED BY REVISION
D - OHC - P002 - SD - 001 A
Rev. 2.0 33kV & 66kV Constructions Page 4-6



Overhead Distribution Construction Manual - Miscellaneous

Section 4

Dead End 66kV FRP Crossarm — Material List

1 2 3 4 5
A
8
Unit Assembly [Store Type | itém Ref| Stock Item [Stock 1tam Description . Ry SR a0 quantity
DE/66/3/FRP S 60G 321260 _|Insulator Dis¢ Porcelain 16mm 70Kn 146mm 15
B1A 322056  |Ball Clevis & Pin 16mm 3
¢ 618 | 322386 |Sooket Termination 16mm 3
61D 322090 ‘W' Clip / Kink Pin 18
75E 32278 Bolt Hex M16 X 180 - Thread Length 57mm 1
75Q 32290 Bolt Hex M16 X 400 - Thread Length 75mm 1
1 82A 40441 Nut Hex M16 9
868 65158 |Washer ELS M16 1
87D 65616 |Washer NS M16 9
T200E NEW CF XARM - 2840x125x 125 - CA-125 SHS 2.834m ARM 1
D T203A NEW XARM BRACE - 716x40x8 1
T206A NEW M16 EYE BOLT 150 - Thread Length 60mm 2
T206H NEW M16 EYE BOLT 400 - Thread Length 75mm 1
T208B NEW GAIN BLOCK 125mm 1
L 66806 66806  |Curved Washer 75mm x 75mm x 5.0mm Thick to Fit M16 3
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 1
T205A NEW M18 Spring Washer - Gaivanised Spring Steel DIN127B (OD: 27mm, ID: 16.2 - 17.0mm, Thickness: 3.5) 6
E
F
G
H
© Tasmanian Nefworks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
f STORED N A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITIED BY ANY MEANS WITHOUT THE
= ABN: 2L 167 357 299 PRIOR PERMISSIDN OF TASNETWORKS
o |w
213 TasNetworks TIRE SME
Cla DEAD END 66KV NTS
<|g - s FRP CROSSARM
AWN .
o 2 a MATERIAL LIST
w |2 DESIGNED BY | BHAYBERRY A IA
:- o HECKED BY | K.GOSDEN
<t APPROVED 8Y REVISION
pYErpv— D - OHC P002 SD 002
Rev. 2.0 33kV & 66kV Constructions Page 4-7



Overhead Distribution Construction Manual - Miscellaneous

Section 4

4.3 Strain 66kV FRP Crossarm

1 2 3 4 | 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH POLE.
A
w
P
| 3
B T200E :
:\ UNDERSLUNG BRIDGING
MAY BE USED ON OUTER
TITAN POLYMER __— PHASES IF PREFERRED
- CONCRETE POLE il
72088 X 66806 X T205A
CONDUCTOR TIES TO SUIT —7 COMPRESSION SLEEVES OR
CONDUCTOR SIZE/TYPE WEDGE CONNECTORS T0
C SUIT CONDUCTOR SIZE/TYPE
UNDERSLUNG BRIDGING
HELICAL TERMINATIONS TO SUIT MAY BE USED ON DUTER
D CONDUCTOR SIZE/TYPE PHASES IF PREFERRED
CEDEILD, L]
1355
643
3
F
G
H1 wores
APL Nos: DIMENSIONS ARE IN MILLIMETRES
1. FIT INSULATION SLEEVING TO ALL BRIDGING e ERp ONLESe DTHERWISE STATED
© Tosmanian Networks PTY. LTD. STORED K A RETREVAL SYSTEM I ARY FORM.
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
2 asNetworks TRE
-2 TasNetw STRAIN 66KV 130
< |2 FRP CROSSARM .
P = DRAWN ELECTRD
S
(e} = DESNED BY B.MAYBERRY A['
-|e CECKED BY | KGOSDEN
=
APPROVED BY REVISION
R s —_ _ —_ -
o D - OHC - P003 - SD - 001 A
Rev. 2.0 33kV & 66kV Constructions Page 4-8



Overhead Distribution Construction Manual - Miscellaneous Section 4
Strain 66kV FRP Crossarm — Material List
1 2 3 4L 5
A
B
Unit Ass Store Type [Item Ref[Stock Iterm - [Stock ltem Description. Quantity.
S5/66/3/FRP S T343 NEW 66kV Tie Top Line Post Insulator, Stud Type (MorJynn H11167/ISS7) 3
| 60G 321260 _{Insulator Dis¢ Porcelain 16mm 70Kn 146mm 30
61A 322056 |Ball Clevis & Pin 16mm 6
618 322386  |Socket Termination 16mm 6
61D 322080 'W' Clip / Kink Pin 36
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 1
( 75Q 32290 Bolt Hex M16 X400 - Thread Length 75mm 1
82A 40441 Nut Hex M16 9
86B 65158 Washer ELS M16 1
87D 65616 |Washer NS M16 9
T200E NEW CF XARM - 2840x125x 125 - CA-125 SHS 2.834m ARM 1
1 T203A NEW XARM BRACE - 716x40x8 1
T204C NEW STUD M24, INSULATOR - (G.V.KINSMAN- 1S-10885\) 180mm stem - 39mm head 3
T2086B NEW  -|M16 EYE BOLT 180 - Thread Length 60mm 2
T206P NEW M16 EYE BOLT 425 - Thread Length 75mm 1
T207B NEW M16 EYE NUT 3
D T208B NEW GAIN BLOCK 125mm 1
66806 66806  |Curved Washer 75mm x 75mm x 5.0mm Thick to Fit M16 3
75V 32285  |Bolt Hex M16 X 525 - Thread Length 75mm 1
T205A NEW M16 Spring Washer - Galvanised Spring Steel DIN1278 (OD: 27mm, ID: 16.2 - 17.0mm, Thickness: 3.5) 6
T228 NEW M24 Nut Hex (36mm across Fiats, 21mm Thick) 6
— T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
T342 NEW M24 Lock/Haif Nut - Thickness 7.0 - 9.0mm 3
T2298 NEW M24 Spring Washer - Galvanised Spring Steel DIN127B (OD: 40mm, ID: 24.5 - 25.5mm, Thickness: 5.0) 3
E
F
G
H
© Tasmanian Networks PTY, LTD. ND PART OF THIS DRAWING MAY BE REPRODUCED.
" STORED N A RETRIEVAL SYSTEM IN ANY FORM.
v trading as TasNetworks OR TRANSHITTED BY ARY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
213 TasNetworks e SLE
w
Il I% STRAIN 66KV NTS
<|z o e FRP CROSSARM
i LI
ol MATERIAL LIST
w2 DESIGNED BY [ B. MAYBERRY . A L}
o
: © CHECKED BY [ K. GOSDEN
< APPROVED BY REVISION
D - OHC - P003 - SD - 002 A
Rev. 2.0 33kV & 66kV Constructions Page 4-9



Overhead Distribution Construction Manual - Miscellaneous

Section 4

4.4 Strain Right Angle 66kV FRP Crossarm

1 2 3 L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED
ON ALL BOLTS PASSING THROUGH POLE.
A .
65 1355 1355 65
- L Lo.
©
<
[ee]
B 1
(=]
o0
© [=}
— S
(=}
¢
N
C
HELICAL TERMINATIONS TO }
SUIT CONDUCTOR SIZE/TYPE 3
<
CONDUCTOR TIES %
L} 1o suIT ConDUCTOR
SIZE/TYPE
D TITAN POLYMER
CONCRETE POLE
o
(2]
N
[=]
$ COMPRESSION SLEEVES OR
WEDGE CONNECTORS TO SUIT
CONDUCTOR SIZE/TYPE
E
F
82A X 87D X _1205A X T206A
G
610 X 618 X 61A X 606G
H1 vores
APL Nos: DIMENSIONS ARE IN MILLIME TRES
1. FIT INSULATION SLEEVING TO ALL BRIDGING L s P O emCiF ‘ararts
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
5 STORED N A RETRIEVAL SYSTEM IN ANY FORM,
«n trading as TasNetworks DR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 2& 167 357 299 PRIDR PERMISSION OF TASNETWORKS
2z TasNetworks e SCLE
— |5 STRAIN RIGHT ANGLE 66kV 140
< |z FRP CROSSARM
x |Z DRAWN ELECTRD
w (2 DESIGNED BY B.MAYBERRY Al}
o
= e CHECKED BY K.GOSDEN
=
<€ APPROVED BY _ _ _ _ REVISION
pyCra—s D - OHC PO0L SD 001 A
Rev. 2.0 33kV & 66kV Constructions Page 4-10



Overhead Distribution Construction Manual - Miscellaneous Section 4

Strain Right Angle 66kV FRP Crossarm — Material List

i 1 2 3 4 5
A
B
— Unit Assembly | Store Type |item Ref| Stock ltem |Stock Itém Desciiption ~~ ; G R B PR ; iS Quantity
RS/66/3/FRP S T343 NEW  [66kV Tie Top Line Post insulator, Stud Type (Moriynn H11167/ISS7) 2
60G 321260 [Insutator Disc Porcelain 16mm 70Kn 146mm 30
61A 322056 |Ball Clevis & Pin 16mm 6
¢ 618 322386 |Socket Termination 16mm 6
61D 322090 "W Clip / Kink Pin 36
75E 32279 Bolt Hex M16 X 180 - Thread Length 57mm 2
75Q 32290  [Bolt Hex M16 X400 - Thread Length 75mm 2
— 82A 40441 Nut Hex M16 18
86B 65158  |Washer ELS M16 2
87D 65616 Washer NS M16 ) 18
T200E NEW CF XARM - 2840x125x 125 - CA-125 SHS 2.834m ARM 2
D T203A NEW XARM BRACE - 716x40x8 2
T204C NEW STUD M24, INSULATOR - (G.V.KINSMAN- 1S-10885\) 180mm stem - 39mm head 2
T206A NEW M16 EYE BOLT 150 - Thread Length 60mm 4
T206H NEW M16 EYE BOLT 400 - Thread Length 75mm 2
| 12088 NEW GAIN BLOCK 125mm 2
66806 66806 [Curved Washer 75mm x 75mm x 5.0mm Thick to Fit M16 6
75V 32295 Bolt Hex M16 X525 - Thread Length 75Smm 2
T205A NEW M16 Spring Washer - Galvanised Spring Steel DIN1278 (OD: 27mm, ID: 16.2 - 17.0mm, Thickness: 3.5) 12
T228 NEW M24 Nut Hex (36mm across Flats, 29mm Thick) 4
2 T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 2
T342 NEW M24 Lock/Half Nut - Thickness 7.0 - 9.0mm 2
T229B NEW M24 Spring Washer - Galvanised Spring Steel DIN127B (OD: 40mm, ID: 24.5 - 25.5mm, Thickness: 5.0) 2
F
6
H
i ND PART OF THIS DRAWING MAY BE REPRODUCED.
- Ot aorss e B SR
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°lz TasNetworks T : ) SCALE
Zla STRAIN RIGHT ANGLE 66kV NTS
<= DRAVIN ELECTRD FRP CROS5ARM
x|Z MATERIAL LIST
w |9 DESIGNED BY | BMAYBERRY A ['
: © CHECKED BY | K.GOSDEN
< APPROVED BY REVISION
pya— D - OHC - PO0L - SD - 002 A

Rev. 2.0 33kV & 66kV Constructions Page 4-11



Overhead Distribution Construction Manual - Miscellaneous Section 4

4.5 Tee Off Open Wire 66kV FRP Crossarm

1 | 2 3 [ L 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED
ON ALL BOLTS PASSING THROUGH POLE.
s S
A - <
(2]
®
B
2
CONDUCTOR TIES TO SUIT a1
| CONDUCTOR SIZE/TYPE
CLAMP/WEDGE CONNECTORS TO
SUIT CONDUCTOR SIZE/TYPE
¢ GDGD
TITAN POLYMER
CONCRETE POLE
D
0
©
% HELICAL TERMINATION TO SuUIT
E CONDUCTOR SIZE/TYPE
— T200E
F
A,
8680 [T |
T200C
G (2000 )
~
&
- J
-
H 82A 87D T205A T206A
NOTES
APL Nos: ‘ DIMENSIONS ARE IN MILLIMETRES
1. FIT INSULATION SLEEVING TO ALL BRIDGING. 176673/ FRP UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
- STORED N A RETRIEVAL SYSTEM IN ANY FORM,
s trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
213 TasNetworks e st
—|a TEE OFF 66KV OPEN WIRE 1-30
<|z FRP CROSSARM
|2 DRAWN ELECIRD
w 5 DESIGNED BY | BHAYBERRY Al'
e CHECKED BY | K.GOSDEN
-
< APPROVED BY _ _ _ _ REVISION
prerap—— D - OHC P00S SD 001 A

Rev. 2.0 33kV & 66kV Constructions Page 4-12



Overhead Distribution Construction Manual - Miscellaneous Section 4

Tee Off Open Wire 66kV FRP Crossarm — Material List

1 2 3 L 5
A
B
Unit/Assembly | Store Type |item Ref| Stock it |Stock Itéin Description: : 5 R T T 2ot | Quiantity
T/66/3/FRP S T343 NEW  |66kV Tie Top Line Post Insulator, Stud Type (Morlynn H11167/1SS7) 5
60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm 15
C 61A° 322056 |Ball Clevis & Pin 16mm 3
61B 322386 |Socket Termination 16mm 3
61D 322090 ‘W Clip / Kink Pin 18
75E 32279 Bolt Hex M16 X 180 - Thread Length §57mm 2
|| 75Q 32290  |Bolt Hex M16 X 400 - Thread Length 75mm 2
82A 40441 Nut Hex M16 14
86B 65158  |Washer ELS M16 2
87D 65616 Washer NS M16 13
D T200C NEW _ |CF XARM - 2840x100x100 - CA-100 SHS 2.834m ARM 1
T200E NEW CF XARM - 2840x125x125 - CA-125 SHS 2.834m ARM 1
T203A NEW XARM BRACE - 716x40x8 2
T204C NEW  |STUD M24, INSULATOR - (G.V.KINSMAN- 1S-10885\) 180mm stem - 39mm head )
—_— T206A NEW M16 EYE BOLT 150 - Thread Length 60mm 2
T206H NEW M16 EYE BOLT 400 - Thread Length 75mm 1
T208A NEW  {GAIN BLOCK 100mm 1
T208B NEW GAIN BLOCK 125mm 1
E 66806 66806  |Curved Washer 75mm x 75mm x 5.0mm Thick to Fit M16 4
75V 32295 Bolt Hex M16 X 525 - Thread Length 75mm 2
T205A NEW M16 Spring Washer - Galvanised Spring Steel DIN1278 (OD: 27mm, ID: 16.2 - 17.0mm, Thickness: 3.5) 9
T228 NEW M24 Nut Hex (36mm across Flats, 21mm Thick) 10
_— T229A NEW M24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 5
T342 ~ NEW M24 Lock/Half Nut - Thickness 7.0 - 9.0mm 5
T229B NEW M24 Spring Washer - Galvanised Spring Steel DIN127B (OD: 40mm, ID: 24.5 - 25.5mm, Thickness: 5.0) 5
F
G
H
i ND PART OF THIS DRAWING MAY BE REPRODUCED.
v © oy as Yotrwares T Sk AL S B
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
°\z TasNetworks T SOLE
Zla TEE OFF 66KV OPEN WIRE NTS
: g ORAWN ELECTRD FRP _CRDSSARM
w g OESIGNED BY | BHAYBERRY MATERIAL LIST AL
: o {HECKED BY K.GOSDEN
<t APPROVED BY REVISION
FyCrp— D - OHC - PO0O5 - SD - 002 A

Rev. 2.0 33kV & 66kV Constructions Page 4-13



Overhead Distribution Construction Manual -

Miscellaneous

Section 4

4.6 Double Pole Strain 66kV — S&C Fuse — Front view

1 | 2 |

1200 1200

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH THE POLE.

1200 1200

® |
=/

606 (
Ce1p)

|
E

Loo) L s

66805 87E
Cc
)
3
o
/@ .
3
=y
— ]
D ° ] I I [?] >
? b ] a
_ o |-
- ; = -
. 205B X_82B
T s g s eelel | s
2| s T/ g5 s
0
E &
o] 7 |
1 = g
3{\ . — T ' o ]
[
&
<> 87E 88B
T205B -823
T205A \_82A
F
|| TITAN POLYMER TITAN POLYMER
CONCRETE POLE CONCRETE POLE
G
H NOTE
1. FIT INSULATION SLEEVING TO ALL BRIDGING
2. PROVIDE EPDM SEALS TO ALL VENTILATION HOLES ON INSTALLATION APL Nos: DIMENSIONS ARE IN MILLIMETERS
(EPDM-ETHYLENE PROPYLENE DIENE MONOMER RUBBER) SCEDO/66/3/PLM UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAVING UAY BE REPRODUCED.
. trading as TasNetworks R TRANSMITIED 8% ANY HEANS WITHOUT THE
2 lw ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
5 " SCALE
e} TasNetworks TIME
213 EXPULSION DROPOUT FUSE 130
< |2 — o 66kV — S&C POWER FUSE SMD-1A
& E DESIGNEDBY |B. MAYBERRY WITH DOUBLE POLE W A4
- & e STRAIN CONSTRUCTION (FRONT VIEW)
< APPROVEDBY | _ REVISION
DATE APPROVED | 01/01/2021 D - OH C - D O 2 8 - SD - O O/I A
Rev. 2.0 33kV & 66kV Constructions Page 4-14



Overhead Distribution Construction Manual - Miscellaneous Section 4

Double Pole Strain 66kV — S&C Fuse — Side view

1 [ 2 | 3 | 4 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH THE POLE.
A
HELICAL TERMINATION
TO SUIT CONDUCTOR
SIZE/TYPE
B
o
~
n
c = TITAN POLYMER
CONCRETE POLE
D
©
~
S
' T344A
e
E
S&C CONNECTORS TO
) CONDUCTOR TIES SUIT CONDUCTOR
— TO SUIT CONDUCTOR SIZETYPE
SIZE/TYPE
F
G
H NOTE
1. FIT INSULATION SLEEVING TO ALL BRIDGING
2. PROVIDE EPDM SEALS TO ALL VENTILATION HOLES ON INSTALLATION APL Nos: DIMENSIONS ARE IN MILLUMETERS|
(EPDM-ETHYLENE PROPYLENE DIENE MONOMER RUBBER) : SCEDOIBB/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUGED,
® trading as TasNetworks R TRGMITIED BY ANY MEANS WIHOUE T
= 1w ABN 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
> SCALE
ola TasNetworks TITLE
-8 EXPULSION DROPOUT FUSE 130
< |Z e T 66kV — S&C POWER FUSE SMD-1A
E S DESIGNED BY | B. MAYBERRY WITH DOUBLE POLE Ad
= x P praree— STRAIN CONSTRUCTION (SIDE VlEW)
< APPROVED BY | _ REVISION
Cae sperovED | 01/01/2021 D-0OHC-D028 - SD - 002 A

Rev. 2.0 33kV & 66kV Constructions Page 4-15



Overhead Distribution Construction Manual - Miscellaneous Section 4

Double Pole Strain 66kV — S&C Fuse — Top view

1 | 2 | 3 | 4 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH THE POLE.
A
B
] CONDUCTOR TIES
TO SUIT CONDUCTOR
SIZE/TYPE
1200 1200 1200 1200
c .
HELICAL TERMINATION
TO SUIT CONDUCTOR
SIZETYPE
D
E
F
HV DISC INSULATORS
OMITTED FROM CENTRE
G PHASE FOR CLARITY
NOTE
1. FIT INSULATION SLEEVING TO ALL BRIDGING
2. PROVIDE EPDM SEALS TO ALL VENTILATION HOLES ON INSTALLATION APL Nos: DIMENSIONS ARE IN MILLIMETERS
(EPDM-ETHYLENE PROPYLENE DIENE MONOMER RUBBER) SCEDO/66/3/PLM UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED.
o trading as TasNetworks ORTRGOUSMITIED B ANY MEANS WITHOUT The
= |w ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=) =
°l2 TasNetworks e SCALE
2|3 EXPULSION DROPOUT FUSE 1+ 30
<z S 66kV — S&C POWER FUSE SMD-1A |
& é DESIGNED BY {B. MAYBERRY WITH DOUBLE POLE A4
-2 i L STRAIN CONSTRUCTION (TOP VIEW)
< #PPROVED BY | _ REVISION
OATE APPROVED | 01/01/2021 D - OH C - D O 29 - SD - 003 A

Rev. 2.0 33kV & 66kV Constructions Page 4-16



Overhead Distribution Construction Manual - Miscellaneous Section 4

Double Pole Strain 66kV — S&C Fuse — Material List

A

B
i store Type [Itém RefStock Item [Stock 1tfem Déscription . . o R DT R: |Quanfity|
SCEDO/6 S T343 NEW  |66kV Tie Top Line Post Insulator, Stud Type (Morlynn H11167/ISS7)
6/3/PLM 60G 321260 |Insulator Disc Porcelain 16mm 70Kn 146mm

C 61A 322056 |Ball Clevis & Pin 16mm

618 322386 Socket Temination.16mm

61D 322090 | W' Clip / Kink Pin

76C 32340  |Bolt Hex M20 x 400 - Thread Length 150mm

76D 32342  |Bolt Hex M20 x 450 - Thread Length 150mm

82B 40442 |Nut Hex M20

87E 65617  |Washer NS M20
T205B NEW  |M20 Spring Washer - Galvanised Spring Steel DIN127B (OD: 33.5mm, ID: 20.1 - 22.1mm, Thickness: 4.0)
D 66805 66805 |Curved Washer 75mm x 75mm x 5.0mm Thick to Fit M20

T344 NEW  |66kV Expulsion Drop-Out Fuse 200A (EDO) - S&C Electric Company SMD-1A 69kV Power Fuse
T344A NEW  |66kV EDO Fuse 200A - S&C Electric Company SMD-1A 69kV Power Fuse Element - Size As Required
T346 NEW  |Crossaim Beam 150 x 100 x 10 x 4.9m RHS, 300x 100x 12 Mount Plates - 66kV Twin Pole Strain Const.
B T347 NEW  |Crossam Beam 100 x 100 x 10 x 4.9m SHS, 300x100x 12 Mount Plates - 66kV Twin Pole EDO Const.
T348 - NEW  |Crossarm Beam 100 x 100 x 10 x 4.9m SHS, 400x 100x 12 Mount Plates - 66kV Twin Pole Stand Off Ins Const.
T208B NEW  |GAIN BLOCK 125mm Crossam Type
T206U NEW  |M16 EYE BOLT 210 - Thread Length 75mm

wlglw|ala|nf v wlolS3R(R e ajo| 8w

E T205A NEW  |M16 Spring Washer - Galvanised Spring Steel DIN1278 (OD: 27mm, ID: 16.2 - 17.0mm, Thickness: 3.5)
T207B NEW  |[M16 EYE NUT
82A 40441 [Nut Hex M16 15
87D 65616  |Washer NS M16 3
. 78E 33784  |Bolt Tower M16 x 55 - Thread Length 38mm 12
88B 66413 |Washer Tower M16 24
T228 NEW  IM24 Nut Hex (36mm across Flats, 21mm Thick) 6
T229A NEW  iM24 Washer NS (ID-26mm, OD-48mm, Thickness 4.0mm) 3
F T342 NEW  |M24 Lock/Half Nut - Thickness 7.0 - 9.0mm 3
3

T2298 NEW  |M24 Spring Washer - Galvanised Spring Steel DIN1278 (OD: 40mm, ID: 24.5 - 25.5mm, Thickness: 5.0)

G
H
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAVWING MAY BE REPRODUCED,

® trading as TasNetworks O TRANSMITIED 6% ANY MEANS WITHOUT THE
z % _ © ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS =
213 TasNetworks | ™“EXPULSION DROPOUT FUSE NTS
< Z - e 66kV — S&C POWER FUSE SMD—1A WITH
E e DOUBLE POLE STRAIN CONSTRUCTION Iy
Z g CHECKEDBY {K. GOSDEN MATERIAL LIST
<C F B REVISION

:::i\pi:rﬁs: 0-1/01/2021 D-0OHC-D028 T SD - 004

Rev. 2.0 33kV & 66kV Constructions Page 4-17



Overhead Distribution Construction Manual - Miscellaneous

Section 4

4.7 Double Pole Strain — 66kV with NGK Stranger Fuse — Front view

1

| 2

NOTE

NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH THE POLE.

TITAN POLYMER
CONCRETE POLE

1. FIT INSULATION SLEEVING TO ALL BRIDGING

2. PROVIDE EPDM SEALS TO ALL VENTILATION HOLES ON INSTALLATION
(EPDM-ETHYLENE PROPYLENE DIENE MONOMER RUBBER)

APL Nos:
NGKEDO/66/3/PLM

1200 1200 1200 1200 °
‘ "
COCIYGED, ‘
. 81D
o] i [
T ] { g
sk of [—]
75C (66805 G7E )
T2058
(=]
S
T347
(=2}
©
] s q |
: — 2
N
3{\ o | —]
76D 66805
T205B X 82B ol o
w|w
G S 4]
- 2
N
C ° _1

TITAN POLYMER
CONCRETE POLE

DIMENSIONS ARE IN MILLIMETERS
UNLESS OTHERWISE STATED

ALTERATIONS

ORIGINAL ISSUE

TasNetworks

(© Tasmanian Networks PTY. LTD.
trading as TasNetworks
ABN: 24 167 357 299

NO PART OF THIS DRAWING MAY BE REPRODUGED,
STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
OR TRANSMITTED BY ANY MEANS WITHOUT THE
PRIOR PERMISSION OF TASNETWORKS

TITLE,

DRAWN ELECTRO

DESIGNEDBY | B. MAYBERRY

WITH DOUBLE POLE

CHECKED BY | K. GOSDEN

EXPULSION DROPOUT FUSE
66kV — NGK STANGER TYPE HXO

STRAIN CONSTRUCTION (FRONT VIEW)

SCALE

1:30

Ad

APPROVED BY | _

OATE APPROVED | 01/01/2021

D -OHC-D029 - SD - 001 A

REVISION

Rev. 2.0

33kV & 66kV Constructions

Page 4-18



Overhead Distribution Construction Manual - Miscellaneous Section 4

Double Pole Strain — 66kV with NGK Dropout Fuse — Side View

1 | 2 | 3 | 4 [ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH THE POLE.
A
HELICAL TERMINATION
TO SUIT CONDUCTOR
SIZE/TYPE
B
o
N~
w
Cc = TITAN POLYMER
CONCRETE POLE
o
D
o
~
=4
E
NGK CONNECTORS TO
CONDUCTOR TIES SUIT CONDUCTOR
— TO SUIT CONDUCTOR SIZE/TYPE
SIZEITYPE
F
G
H NOTE
1. FIT INSULATION SLEEVING TO ALL BRIDGING
2. PROVIDE EPDM SEALS TO ALL VENTILATION HOLES ON INSTALLATION APL Nos: DIMENSIONS ARE IN MILLIMETERS
(EPDM-ETHYLENE PROPYLENE DIENE MONOMER RUBBER) NGKEDO/66/3/PLM UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAVING MAY BE REPRODUCED,
" trading as TasNetworks R TONSMITTED 8 AA¥Y MEANS WiRHIOUT THE
= % ABN 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
O |» TasNetworks TITLE SCALE
12 EXPULSION DROPOUT FUSE 1: 30
< (3 — oo 66kV — NGK STANGER TYPE HXO
. b Al
é E DESIGNED BY |B. MAYBERRY WITH DOUBLE POLE A4
-z YT e STRAIN CONSTRUCTION (SIDE VIEW)
< APPROVED BY { _ REVISION
onTe APROVED | 01/01/2021 D-OHC-D029 - SD - 002 A

Rev. 2.0 33kV & 66kV Constructions Page 4-19



Overhead Distribution Construction Manual - Miscellaneous Section 4

Double Pole Strain — 66kV with NGK Dropout Fuse — Top View

1 | 2 | 3 ] 4 [ 5
NB ENSURE THAT LOCK NUTS ARE INSTALLED ON ALL BOLTS PASSING THROUGH THE POLE.
A
B
|| CONDUCTOR TIES
~ {TO SUIT CONDUCTOR
: SIZETYPE
1200 1200 1200 1200
Cc
HELICAL TERMINATION
TO SUIT CONDUCTOR
SIZE/TYPE
D
E
3
HV DISC INSULATORS
OMITTED FROM CENTRE
G PHASE FOR CLARITY
H NOTE
1. FIT INSULATION SLEEVING TO ALL BRIDGING
2. PROVIDE EPDM SEALS TO ALL VENTILATION HOLES ON INSTALLATION APL Nos: DIMENSIONS ARE IN MILLIMETERS
(EPDM-ETHYLENE PROPYLENE DIENE MONOMER RUBBER) NGKEDO/66/3/PLM UNLESS OTHERWISE STATED
e orks P Y- LTD. D R A L e
» rading as lasNetworks OR TRANSMITTED BVANY!LEEA%\?:\;:DUT THE
= g ABN: 24 167 357 299 PRIOR PERMISSION OF TAS
Ola TasNetworks TITLE . SCALE
=15 EXPULSION DROPOUT FUSE 1 30
<|2 — 66kV — NGK STANGER TYPE HXO
ﬁ ‘5 DESIGNED BY | B. MAYBERRY WITH DOUBLE POLE A4
= e STRAIN CONSTRUCTION (TOP VIEW)
< APPROVED BY | _ REVISION
DATE APPROVED | 01/01/2021 D - OHC - Dozg - SD - 003 A

Rev. 2.0 33kV & 66kV Constructions Page 4-20



Overhead Distribution Construction Manual - Miscellaneous Section 4

4.8 66kV Double Strain — Crossarm Beam Steelwork

1 [ 2 | 3 | 4 | 5
A
4900
1200 L 1200 } 1200 + 1200 |
- < 12
i o® o2 ‘ 1
TL FRONT VIEW _{
B ¥ + + é
1 T = 1

BEAM MOUNTING FLANGE
300 x 100 x 12

|
‘ 300

6
T346 - CROSSARM BEAM 66kV STRAIN 0
L ‘J L——100
50

C
i TOP VIEW
T , , s
s ! 1250 t 1200 T 1200 g 1250 d
wn
D
| 650 1 1200 1 — 1200 1 1200 } 650 ]
\ ’ Qbe‘ l
|| BOTTOM VIEW ‘
I 4{\ + + + |
4 x ®19mm GALVANISING DRAIN HOLES *
: PROVIDE EPDM RUBBER SEALS TO ALL GALVANISING o
E DRAIN HOLES ON INSTALLATION @
15
150 x 100 x 8 FILLET
F
— 150 x 100 x 10 RHS { —~a————6.0 FULL WELDED END CAPS
|_ J (ALL JOINTS FULLY WELDED - SP 6mm CFW)
G
NOTE \300 x 100 x 12 BEAM MOUNTING FLANGE
1. CROSSARM BEAMS - HOT DIP GALVANISED
H
SP = STRUCTURAL PURPOSE WELD QUALITY TO AS/NZS 1554.1 DIMENSIONS ARE IN MILLIMETERS
CFW = CONTINUOUS FILLET WELD UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o trading as TasNetworks SR TRASVITIED 8% ANY WEAS WITHOUT THE
2w ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
ol3 TasNetworks ~ |mmE SonE
°13 CROSSARM BEAM 1 30
<|Z 66kV STRAIN
x |2 DRAWN ELECTRO
VR G} »
w gé DESIGNEDBY | B. MAYBERRY A4
NS CHECKEDBY | K. GOSDEN
< APPROVEDBY | _ REVISION
oate AFPROVED | 01,/01/2021 D - OH C - D 032 B SD B 001 A

Rev. 2.0 33kV & 66kV Constructions Page 4-21



Overhead Distribution Co

nstruction Manual - Miscellaneous

Section 4

66kV Double Strain — EDO Beam Steelwork

2 3 4 5
4300
50 — 260 x 100 x 12
Al —= [=—100 —= =50 EDO MOUNTING FLANGES
. & o FULLY WELDED s
Q -
?/ } FRONT VIEW ¢,\$
+ [+ +| [+ +| [+ +
— 11 [ D
[+ ] S + —{ | + + + + + _{
T347 - CROSSARM BEAM 66kV EDO
g e o {UPPER BEAM) 12—l
B - 50 ~ BEAM MOUNTING FLANGE 10—
‘{ 40— 300 x 100 x 12
— ] |10 TOP VIEW
[ ]
I 100 —w] —fomtl— |e— 100 —t=—3
g | 1200 1200 " 1200 ' 1200 !
C 40— | j— 40
2 = 2
FRONT VIEW "
+ N ¥ —4——‘- £ ¥ + ¥ [*]
- | I
+ ] +[ |+ | + |+ +[ |+ -
T347 - CROSSARM BEAM 66kV EDO
= a (LOWER BEAM)
D BEAM MOUNTING FLANGE
50 50 300 %100 x 12
I 650 I 1200 1 1200 : 1200 L 650 ]
/ BOTTOM VIEW ‘
[ “~. + + + |
& x $19mm GALVANISING DRAIN HOLES ?
E PROVIDE EPDM RUBBER SEALS TO ALL GALVANISING =
DRAIN HOLES ON INSTALLATION e
15
- 100 x 100 x 8 FILLET
F
[ 7 T]| [ee————————EDO MOUNTING FLANGE 260 x 100 x 12
100 x 100 x 10 SHS { } 6.0 FULL WELDED END CAPS
(ALL JOINTS FULLY WELDED - SP 6mm CFW)
G L
NOTE
1. CROSSARM BEAMS - HOT DIP GALVANISED \
H
SP = STRUCTURAL PURPOSE WELD QUALITY TD AS/NZS 1554.1 300 x 100 x 12 BEAM MOUNTING FLANGE DIMENSIONS ARE IN MILLIMETERS
CFW = CONTINUOUS FILLET WELD UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. L.LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
o trading as TasNetworks SR TRANGMITIED B¢ ANY MEANS WITHOUT THE
~ ABN: 24 167 357 209 PRIOR PERMISSION OF TASNETWORKS
g % TasNetworks TITLE SCALE
cle CROSSARM BEAM 1: 30
< |2 66kY EDO
w2 DRAWN ELECTRO
w (@ DESIGNEDBY | B. MAYBERRY
Z g CHECKED BY | K. GOSDEN A4
< APPROVEDBY | _ REVISICN
oate rovrovED | 01/01/2021 D-0OHC- D033 - SD - 001 A
Rev. 2.0 33kV & 66kV Constructions Page 4-22



Overhead Distribution Construction Manual - Miscellaneous Section 4

66kV Crossarm Beam — Standoff Insulator

1 | 2 | 3 | 4 5
A
4900
I 1200 } 1200 } 1200 + 1200 {
| 2 12
o~ =3
i g ]
o
T[4 /Q'L FRONT VIEW _{
B § ¥ L 4 4 6 — o —
+ +
1 JT T348 - CROSSARM BEAM 66kV STANDOFF INSULATOR " |—f
_—l [___ 50 _—1 L— 100
] BEAM MOUNTING FLANGE
400 x 100 x 12
c
& TOP VIEW
l ]
[ ——p—s
] - ! 1250 |t 1200 + 1200 ot 1250 1
= !
D
I 650 } 1200 } 1200 ! 1200 1 650 |
/ . BOTTOM VIEW ‘
] [ +~ + + + ]
4 x #19mm GALVANISING DRAIN HOLES 1
PROVIDE EPDM RUBBER SEALS TO ALL GALVANISING S
E DRAIN HOLES ON INSTALLATION -
15
100 x 150 x 8 FILLET
F
— 100 x 100 x 10 SHS | } 6.0 FULL WELDED END CAPS
|_ {ALL JOINTS FULLY WELDED - SP 6mm CFW)
G
NOTE
1. CROSSARM BEAMS - HOT DIP GALVANISED \
H 400 x 100 x 12 BEAM MOUNTING FLANGE
SP = STRUCTURAL PURPOSE WELD QUALITY TO AS/NZS 1554.1 DIMENSIONS ARE IN MILLIMETERS
CFW = CONTINUOUS FILLET WELD UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAVMING MAY BE REPRODUCED,
o trading as TasNetworks : ST RAATIZD B ANy MEAN WHHOUT THE
= w ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
> SCALE
o TasNetworks T
212 CROSSARM BEAM 1- 30
< |2 66kV STANDOFF INSULATOR
ol DRAVIN ELECTRO
w D DESIGNEDBY | B. MAYBERRY
g % CHECKEDBY | K. GOSDEN A4
< AKFPRCVEDBY | _ REVISION
DATE APPROVED: | 01/01/2021 D - O H C - D O 3 4 - S D - O 01 A

Rev. 2.0 33kV & 66kV Constructions Page 4-23



Overhead Distribution Construction Manual - Miscellaneous

Section 4

4.9 66kV Line Post Insulator

2 . 3 L 5
A
2180
D765 —
8 —R1sl [ 20
R16
— % 8+2
B_/ ~
¢ / \
n /? Q
] Porcelain Body / \
18 Sheds / . \
/ \ 784
F — ~
146 il
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. :‘,’D;t‘g'm”‘ E?RE';’;‘{"‘S“Y:&; B x:“gggm-
e trading os TasNetworks OR. TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 2L 167 357 299 PRIOR PERMISSION OF TASNETWORKS
el e SCALE
-2 TasNetworks | "¢y LINE POST INSULATOR 130
: g ORAWN ELECTRD -
w 5 DESIGNED BY | B.MAYBERRY A l+
e (HECKED BY | K.GOSDEN
: APPROVED BY _ _ _ _ REVISION
Fyra—— D - OHC - XXX5 SD 001 A
Rev. 2.0 33kV & 66kV Constructions

Page 4-24



Overhead Distribution Construction Manual - Miscellaneous

Section 4

66kV Line Post Insulator Stud

2 4 5
A
B
C
M24

D THREAD

Y

-

34 7
E
219 /
M24 J
SPRING
WASHER
F
6
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
w trading os TosNetworks 3% TRANSHITIED BY ANY HEANS MITIOUT THE
=z, ABN: 24 167 357 299 PRIOR PERMISSION DF TASNETWORKS
o |uw - STALE
-2 TasNetworks | ™ ¢y LINE POST INSULATOR NTS
<|z STUD
o |2 oREN ELECIRD
] OESIGNED 8Y | BMAYBERRY Al
"° UHECKED BY | K.GOSDEN
< APPROVED BY REVERN
D - DHC - XXX5 - SD - 001 A
Rev. 2.0 33kV & 66kV Constructions Page 4-25



Overhead Distribution Construction Manual - Miscellaneous

Section 4

Assembled 66kV Line Post Insulator

L 5
| ﬁ Ji)
B ; z
; e
‘ / \
F ] '
Pl
] 1
— Vo
G %
65
73
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T ian Networks PTY. LTD. NO PART OF THS DRAWING MAY BE REPRODUCED.
¢ O e Yo SR T A e St
Zle ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
=2 TTLE STALE
t TasNetworks |\ "ASSEMBLED 66kV LINE POST INSULATOR 130
= 2’ oRAN HECTRD i}
[ = DESIGNED BY B.MAYBERRY
: g CHECKED BY K.GOSDEN AL
<t APPROVED 8Y REVISION
e e D - OHC - XXX5 - SD - 001
Rev. 2.0 33kV & 66kV Constructions Page 4-26



SECTION 5 — SWITCHES,
FUSES, RECLOSERS &
SECTIONALISERS



Overhead Distribution Construction Manual - Miscellaneous Section 5

Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-2



Overhead Distribution Construction Manual - Miscellaneous Section 5

5 SECTION 5 —-SWITCHES, FUSES, RECLOSERS &

SECTIONALISERS
5 SECTION 5 — SWITCHES, FUSES, RECLOSERS & SECTIONALISERS ....cooiiiiiiiiiiiiieeeee e 3
5.0 Morlynn EDOS (ODSOIELE) ..viiuiiiiieieiiceieee ettt 4
5.1 ABB EDOS (OBSOIETE) ...uviiieiie ettt 6
5.2 Horizontal ABS — ABB (ODSOIETE) .....ccuviiiiiiiiicie et 7
5.3 Vertical ABS — ABB (ODSOIELE) ....uiiiuiiieiieieeceeee e 9
5.4 Nulec /Schneider Recloser — 22kV with ABS (Obsolete)......cc.ooveevevvioieieeeeeeeeeeeeeee 11
5.5 ESR 11KV ReClOSEr (OBSOIELE) ..cviiiiiiiiiiciiiciie et 13
5.6 ESR SFs 11KV Recloser (ODSOIELE) ....ccouiiiiiiiiiiiecie et 15
5.7 Reyrolle OYT 22kV Recloser (ODSOIELE) .....cviiiiiiieiieeie e 17
5.8 Recloser Steelwork Detail (ODSOIETE) ....c..iiiiiiiieiece et 19
Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-3



Overhead Distribution Construction Manual - Miscellaneous Section 5

5.0 Morlynn EDOs (Obsolete)

1 | 2 | 3 4 5

0o

)
A
.= STAINLESS STEEL TUBE
|
B EXPENDABLE DISC
C
50 x 100 GREY WHITE
1 REFLECTIVE TAPE
D _.-"If GREY FUSE CARRIER

50 x 100 RED
REFLECTIVE TAPE

EARTH BOLT

E SERIES RE FUSE - OBSOLETE
- FOR REFERENCE ONLY

FUSE DETAILS

F DROPOUT EXPULSION FUSE
24KV 100 AMP
S.I. No., COMPLETE FUSE 23.63.20
- S.I. No., COMPLETE FUSE WITH SPARK CATCHER 236321
S.I. No., FUSE TUBE 23.63.73
S.I. No. EXPENDABLE DISC 23.63.66
G FUSE TUBE, COLOUR GREY
FUSE TUBE, LENGTH 'L'mm 500
FUSE TUBE, ANGLE OF TILT (DEG) 40
- FUSE, FAULT RATING AT 11KV & 22kV (KA) 8
WITH SPARK CATCHER (KA) 2
H

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,

« trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
12 TasNetworks T SCALE
— |8 HIGH VOLTAGE DROP-0OUT FUSE NTS
<|Z - - MORLYNN POWER

ORAWN (5 PRO-SOLUTION
x|Z OBSOLETE
w = DESIGNED BY ELECTRO AA
= |e CHECKED BY HMWESTBURY
-
< APPROVED BY | - _ _ _ _ REVISION

DATE APPROVED | 13/MAY/19 D O H [ E O /‘ O S D O O /‘ A

Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-4



Overhead Distribution Construction Manual - Miscellaneous Section 5

Morlynn EDOs (Obsolete) — Notes

| 2 | 3 A 5
A DROPOUT EXPULSION FUSE
24kV-100AMP
GENERAL
THE OLD DESIGN OF DROPOUT EXPULSION FUSE, SERIES RE MANUFACTURED BY MORLYNN POWER HAS BEEN REPLACED BY THE
AB CHANCE (NGK STANGER) TYPE.
B THE RE TYPE DROPOUT EXPULSION FUSE IS A DELAYED DUAL VENTING TYPE, SINGLE PHASE, SINGLE INSULATOR, CROSSARM
MOUNTING, HOOK STICK OPERATED SUITABLE FOR BOTH 12kV AND 24kV APPLICATIONS.
THE SPARKLESS FUSES AND CONVENTIONAL 'K" OR 'T" TYPE FUSE LINKS ARE AVAILABLE FOR USE IN THE FUSE CARRIER
WHICH INTERRUPT AND DROPS OPEN WHEN THE FUSIBLE ELEMENT OF THE FUSE LINK RUPTURES ON EXCESS CURRENTS. "SPARKLESS"
FUSE ELEMENTS ARE NOT SPARK-FREE, BUT PRODUCES FEWER SPARKS THAN THE OLDER ELEMENTS.
C APPLICATION
THEIR APPLICATION IS FOR THE PROTECTION OF DISTRIBUTION TRANSFORMERS AND SPUR LINES THE FUSE SWITCH DROPPING OPEN
TO ISOLATE THE FAULTY UNIT OR SYSTEM SECTION UNDER FAULT CONDITIONS, AT THE SAME TIME PROVIDING A CLEAR INDICATION
OF THE FUSE OPERATION, THE DUTY OF THE FUSE FITTING SHOULD BE SELECTED SO THAT ITS FAULT RATING IS NOT EXCEEDED BY
THE LOCAL HV FAULT LEVEL. THE REMOVABLE CAP SCREWED TO THE TOP OF THE FUSE CARRIER IS FITTED WITH A 65mm LONG
— STAINLESS STEEL TUBE TO INCREASE THE FAULT RATING OF THE FUSE FROM THE STANDARD 6kA TO 8kA RATING WHICH RELATES
TO 300MVA AT 22kV AND 150MVA AT 11kV THE FAULT RATING OF THE FUSE IS RESTRICTED TO 2kA, WHICH RELATES TO 75MVA
AT 22kV AND 37.5MVA AT 11kV, WHEN THE DROPOUT FUSE FITTING IS FITTED WITH A SPARK CATCHER, AS THIS IS THE
MAXIMUM FAULT RATING OF THE SPARK CATCHER. (OLD INSTALLATIONS ONLY)
D
FUSE CARRIERS
THE FUSE CARRIER GREY IN COLOUR CONSISTS OF A FIBREGLASS RE-INFORCED TUBE WITH A VULCANISED FIBRE LINING, WITH
CONTACTS AT EACH END. THE TOP CONTACT CONSIST OF AN ELECTRO-TINNED BRASS CASTING PRESSED ON TO THE TUBE. THIS
CASTING 1s PROVIDED WITH CONTACT EXTENSIONS TO ENGAGE THE CONTACT HORNS, A HOOK STICK PULLING EYE AND SCREWED
CAP, FITTED WITH A STAINLESS STEEL TUBE, FOR CLAMPING THE TERMINAL OF THE FUSE LINK. THE TOP END OF THE CASTING IS
HOLLOW TO ALLOW THE FUSE LINK TO PASS THROUGH THE ASSEMBLY AND IS THREADED AT THE TOP EXTERNALLY TO ALLOW
THE TOP CAP TO BE SCREWED ON.
E THE SCREWED TOP CAP HAS A SAFETY DISC TO ALLOW THE TUBE TO DOUBLE VENT AT HIGH FAULT LEVELS. WHEN THIS HAPPENS
THE DISC MUST BE REPLACED. WASHERS MUST NEVER BE SUBSTITUTED FOR THE STANDARD DISC.
THE FUSE CARRIER WILL FIT THE STANDARD AND HEAVY DUTY FUSE FITTINGS AND REPLACES BOTH THE STANDARD DUTY FUSE
CARRIER (S.I. No 23.63.75) AND THE HEAVY DUTY FUSE CARRIER (S.I. No 23.63.77)
THE EXISTING EXTRA HEAVY DUTY FUSE CARRIER (S.I. No 23.63.79) WILL BE HELD ON STOCK FOR USE IN EXISTING EXTRA
HEAVY DUTY FUSE FITTINGS.
THE OLD FUSE CARRIERS WITH PVC QUTER SHEATH ARE SUBSTANDARD COMPONENTS AND MUST BE REPLACED.
F
FUSE LINKS
| THE CURRENT RATING OF FUSE LINKS APPLICABLE TO 22kV AND 11kV DISTRIBUTION TRANSFORMERS IS TABULATED IN THE
APPROPRIATE OPERATING MANUAL AND THE OPERATIONAL MANUAL. THE FUSE LINK HAS THE CURRENT RATING AND TYPE STAMPED
ON THE END TERMINAL.
SPARKLESS FUSES HAVING CLASS 'K’ CHARACTERISTICS ARE AVAILABLE IN SIZES UP TO 16 AMP AND ARE NORMALLY USED FOR
G PROTECTION OF DISTRIBUTION TRANSFORMERS AND THE SMALLER SPUR LINES.
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
n STORED N A RETRIEVAL SYSTEM IN ANY FORM,
w trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o w
Z12 TasNetworks TITLE SCALE
—1a HIGH VOLTAGE DROP-0OUT FUSE NTS
<|z MORLYN NOTES
DRAWN (5 PRO-SOLUTIONS
x (= OBSOLETE
w ‘02: DESIGNED BY ELECTRO AL
Ll K= (HECKED BY H.WESTBURY
-
= — D - OHC - E010 - SD - 002
DATE APPROVED | 13/MAY/19 A
Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-5



Overhead Distribution Construction Manual - Miscellaneous Section 5

5.1 ABB EDOs (Obsolete)

1 | 2 | 3 A 5

MOUNTING BRACKET DETAIL

TYPICAL DROPOUT FUSE
SERIES 'V’

E - OBSOLETE
- FOR REFERENCE ONLY

F FUSE DETAILS
DROPOUT EXPULSION FUSE
24kV 100 AMP
| S.I. No.,, COMPLETE FUSE 23.63.22
S.l. No.FUSE TUBE 30C ) 23.55.01
RATED VOLTAGE 24kV
RATED CURRENT 100 AMP
G RATED BREKING CAPACITY (SYM) 8kA
BASIC INSULATION LEVEL 150kV
CREEPAGE TO EARTH 450mm
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
; STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
e trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
2 TasNetworks T SCALE
- |8 HIGH VOLTAGE DROP-0OUT FUSE NTS
< | ABB
x |Z ORAWN (5 PRO-SOLUTIONS O B S O L E T E
w |8 DESIGNED BY ELECTRO A[”
o
Ll =] CHECKED BY H.WESTBURY
- APPROVED BY REVISION
< — — — —
DATE APPROVED | 13/MAY/19 D O H [ E O /‘ /‘ S D O O /‘ A

Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-6



Overhead Distribution Construction Manual - Miscellaneous Section 5

5.2 Horizontal ABS — ABB (Obsolete)

1 | 2 | 3 | A | 5
A
B
USE 36C OR 35D FOR 19/1.75
(19/.064) CONDUCTOR OR 36E OR 35F
—{ FOR 19/2.75 (19/.104) CONDUCTOR. 868
C !
INTERMEDIATE SUPPORT
| > (2 BOLT FIXING)
I SEE NOTE 6 428
T
o OPERATING HANDLE
(2 BOLT FIXING) FIXED POLE STEPS TO
T | PREVENT OPERATORS ¥
D ? BODY BELT SLIPPING 1. -
L 2
=
FLEXIBLE EARTH /
CONNECTION TO
- HANDLE ASSEMBLY
2
E 1k ]
NB
™ THIS ARRANGEMENT IS STRICTLY FOR LIVELINE
MAINTENANCE WORK ONLY AND WHEN THERE IS NO PRACTICAL
MEANS OF DISCONNECTING THE EARTH FROM THE AIRBREAK
] SWITCH. UNDER NO CIRCUMSTANCES SHALL THE HV EARTH BE
LEFT IN AN OPEN CIRCUIT CONDITION.
DETAIL 1
F GROUND LEVEL ~
VS SSES LSS S Sy CESSELS S &~ S S
] EARTH ELECTRODE
NOTES “O —
- OBSOLETE
1. SWITCH AND HANDLE TO BE EARTHED (10 OHM MAX RESISTANCE).
2. IF WITHIN 1.2 km OF A ZONE SUBSTATION USE 120mm COPPER 0.6/1kV PVC INSULATED EARTH WIRE.
G OUTSIDE THIS LIMIT USE 70mm COPPER 0.6/1kV PVC INSULATED EARTH WIRE. - F O R R E FE R E N C E
3. EARTH WIRE TO BE PROTECTED FOR 1900mm ABOVE GROUND LEVEL WITH APPROVED EARTH WIRE COVER.
4. FLEXIBLE EARTH CONNECTION TO HANDLE ASSEMBLY. N |_ Y
5. OPERATING HANDLE TO BE SET FOR DOWN PULL TO OPEN SWITCH.
6. WHEN LV INSTALLED ON POLE DOWN ROD TO BE FITTED WITH RIGID UPVC CONDUIT 40mm I.D. LIGHT DUTY 1800mm
LONG SI No 15.27.26, POSITIONED 1000mm (MIN) BELOW LV CONDUCTORS AND 500mm (MIN) ABOVE.
™ 7. IF SWITCH WIRE INSTALLED ON POLE, FIT CONDUIT TO ENTIRE LOWER SECTION OF DOWN ROD.
8. SECURE CONDUIT INTO POSITION USING 'UTILUX No H4041' HOSE CLAMP OR SIMILAR, FIXED TO DOWN ROD.
9. THE MAXIMUM UNSUPPORTED LENGTH FOR DOWN ROD IS 3600mm.
10. MINIMUM STRENGTH OF POLE WITH MOUNTED AIR BREAK SWITCH TO BE 6kN.
1. EXISTING 4kN POLE MAY BE USED PROVIDED ANGLE OF DEVIATION DOES NOT EXCEED 2 DEGREES.
H| 12 POSSUM GUARD IS TO BE FITTED IN ACCORDANCE WITH DRAWING D-OHC-GO31-SD-001.
APL Nos
REFERENCE DRAWINGS ABS/11/3 DIMENSIONS ARE IN MILLIMETRES
D-0HC-G031-SD-001 ABS/22/3 UNLESS OTHERWISE STATED
i NO PART OF THIS DRAWING MAY BE REPRODUCED,
o Olratng'ss Tostaone 17 SR AT
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w TTLE SCALE
-2 TasNetworks HORIZONTAL AIR BREAK SWITCH 145
<|z . - ABB - (UNITISED)
)-SOLUTION
x |Z ORAWN (5 PRO- OBSOLETE
w (8 DESIGNED BY ELECTRO A[}
-4
Ll K= CHECKED BY H.WESTBURY
- REVISION
< APPROVED BY - _ _ _ _
DATE APPROVED | 13/MAY/19 D O H [ E O W 8 S D O O W A
Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-7



Overhead Distribution Construction Manual - Miscellaneous Section 5

Horizontal ABS — ABB (Obsolete) — Materials List

1 | 2 | 3 | L 5
A Unit Assembly Store Type ltem Ref Stock Item Description Quantity
ABS/11/3 S 75N 032288 Bolt Hex M16 X 350 2
ABS/11/3 S 86B 065158 Washer Els 16 2
ABS/11/3 S 82A 40441 Nut Hex M16 2
| ABS/11/3 S 152726 Conduit Rigid 40mm grey 1
ABS/11/3 S 63G 235705 Switch Air Break ABB horz unitised, arc device 1
ABS/11/3 S 35J 152491 Lug Crimp Bimetal 150mm? M12 6
ABS/11/3 S 23C 242847 Clamp Hose 35 to 54mm 2
ABS/11/3 S 42B 244207 Dow n Rod 25mm NB Pipe 6.5m 1
B ABS/11/3 S 60G 321260 Insulator,Disc 12
ABS/11/3 S 61A 322056 Ball Clevis & Pin 6
ABS/11/3 S 61D 322090 Kink Pin 6
ABS/11/3 S 61B 322386 Socket Termination 6
— ABS/11/3 S 40 323372 Earthing Bracket 1
ABS/11/3 S 73A 032177 Bolt Hex M10 X 25 2
ABS/11/3 S 87B 065614 Washer M10 NS 4
ABS/11/3 S 82E 040439 Nut Hex M10 2
C ABS/11/3 S 84C 050228 Coach Screw M10 x 80 1
ABS/11/3 S 35 1413xx | Cu Crimp Lug 2
ABS/22/3 S 75N 032288 Bolt Hex M16 X 350 2
ABS/22/3 S 86B 065158 Washer Els 16 2
Bl ABS/22/3 S 82A 40441 Nut Hex M16 2
ABS/22/3 S 152726 Conduit Rigid 40mm grey 1
ABS/22/3 S 63G 235705 Switch Air Break ABB horz unitised, arc device 1
ABS/22/3 S 35J 152491 Lug Crimp Bimetal 150mm? M12 6
D ABS/22/3 S 23C 242847 Clamp Hose 35 to 54mm 2
ABS/22/3 S 42B 244207 Dow n Rod 25mm NB Pipe 6.5m 1
ABS/22/3 S 60G 321260 Insulator,Disc 12
ABS/22/3 S 61A 322056 Ball Clevis & Pin 6
— ABS/22/3 S 61D 322090 Kink Pin 6
ABS/22/3 S 61B 322386 Socket Termination 6
ABS/22/3 S 40 323372 Earthing Bracket 1
ABS/22/3 S 73A 032177 Bolt Hex M10 X 25 2
ABS/22/3 S 87B 065614 Washer M10 NS 4
E ABS/22/3 S 82E 040439 Nut Hex M10 2
ABS/22/3 S 84C 050228 Coach Screw M10 x 80 1
ABS/22/3 S 35 1413xx Cu Crimp Lug 2

- OBSOLETE
: - FOR REFERENCE ONLY

G
H
i NO PART OF THIS DRAWING MAY BE REPRODUCED,
" © Iusdn)umun #eh’{frfks TY’ LTD. STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
rading as fasNefworks OR TRANSMITTED BY ANY MEANS WITHOUT THE

= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
Z 3R TasNetworks TILE
- |8 HORIZONTAL AIR BREAK SWITCH NTS
<|Z ABB - (UNITISED)

DRAWN (5 PRO-SOLUTIONS
x|Zg OBSOLETE
w = DESIGNED BY ELECTRO A[”
= |e CHECKED BY HMWESTBURY
-

APPROVED BY | - REVISION
< — — — —

DATE APPROVED | 13/MAY/19 D O H [ E O w 8 S D O O 2 A

Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-8



Overhead Distribution Construction Manual - Miscellaneous Section 5

5.3 Vertical ABS — ABB (Obsolete)

1 | 2 | 3 | L | 5
g
A J + + + + \
2
B H -
36F e
F+ °
INTERMEDIATE SUPPORT
i (2 BOLT FIXING)
76D )X 86C 428
SEE NOTE 6
OPERATING HANDLE
C (2 BOLT FIXING) /
FIXED POLE STEPS TO
PREVENT OPERATORS
BODY BELT SLIPPING
Q ol ﬂ 2
— =
L
D
FLEXIBLE EARTH
CONNECTION TO /
— HANDLE ASSEMBLY
.
NB
ML THIS ARRANGEMENT IS STRICTLY FOR LIVELINE
E MAINTENANCE WORK ONLY AND WHEN THERE IS NO PRACTICAL
MEANS OF DISCONNECTING THE EARTH FROM THE AIRBREAK SWITCH.
UNDER NO CIRCUMSTANCES SHALL THE HV EARTH BE LEFT IN AN
I~ OPEN CIRCUIT CONDITION.
DETAIL
GROUND LEVEL
AR R EEERARRRA ARERARRRKR
F
EARTH ELECTRODE
= =
— OBSOLETE
1. SWITCH AND HANDLE TO BE EARTHED (10 OHM MAX RESISTANCE).
2. IF WITHIN 1.2 km OF A ZONE SUBSTATION USE 120mm' COPPER 0.6/1kV PVC INSULATED EARTH WIRE. OUTSIDE — F 0 R R E F E R E N C E
THIS LIMIT USE 70mm' COPPER 0.6/1kV PVC INSULATED EARTH WIRE.
G 3. EARTH WIRE TO BE PROTECTED FOR 1900mm ABOVE GROUND LEVEL WITH APPROVED EARTH WIRE COVER. O N L Y
4. FLEXIBLE EARTH CONNECTION TO HANDLE ASSEMBLY.
S. OPERATING HANDLE TO BE SET FOR DOWN PULL TO OPEN SWITCH.
6.  WHEN LV INSTALLED ON POLE DOWN ROD TO BE FITTED WITH RIGID UPVC CONDUIT 40mm I.D. LIGHT DUTY 1800mm
LONG SI No 15.27.26, POSITIONED 1000mm (MIN) BELOW LV CONDUCTORS AND 500mm (MIN) ABOVE.
(I 7. IF SWITCH WIRE INSTALLED ON POLE, FIT CONDUIT TO ENTIRE LOWER SECTION OF DOWN ROD.
8. SECURE CONDUIT INTO POSITION USING ‘UTILUX No H4041" HOSE CLAMP OR SIMILAR, FIXED TO DOWN ROD.
9. THE MAXIMUM UNSUPPORTED LENGTH FOR DOWN ROD IS 3600mm.
10. MINIMUM STRENGTH OF POLE WITH MOUNTED AIR BREAK SWITCH TO BE 6kN.
11, EXISTING 4kN POLE MAY BE USED PROVIDED ANGLE OF DEVIATION DOES NOT EXCEED 2 DEGREES.
H 12. POSSUM GUARD IS TO BE FITTED IN ACCORDANCE WITH DRAWING D-OHC-G031-SD-001.
APL Nos
REFERENCE DRAWINGS ABSV/11/3 DIMENSIONS ARE IN MILLIMETRES
D-0HC-G031-SD-001 ABSV/22/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v trading as TasNetworks o8 TRANSHITTED Y ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
s TITLE
-2 TasNetworks ABB - VERTICAL AR BREAK SWITCH (UNITISED) | NTs
<l OBSOLETE
o 2 ORAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
-4
Ll K= (HECKED BY HWESTBURY AL
—
< LU D - OHC - E019 - SD - 007
DATE APPROVED | 24/APR/19 A

Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-9



Overhead Distribution Construction Manual - Miscellaneous Section 5

Vertical ABS — ABB (Obsolete) — Materials List

1 | 2 | 3 | A 5

Unit Assembly Store Type Item Ref | Stock ltem Description Quantity
ABSV/11/3 S 76B 032338 |Bolt Hex M20 X 350 2
A ABSV/11/3 S 86C, 065159 |Washer Els 20 2
ABSV/11/3 S 82B 040442 Nut Hex M20 2
ABSV/11/3 S 35J 152491 |[Lug Crimp Bimetal 150mm? M12 3
ABSV/11/3 S 63D 235706 |Switch Air Break ABB vert unitised, arc device 1
] ABSV/11/3 S 42B 244207 _|Down Rod 25mm NB Pipe 6.5m 1
ABSV/11/3 S 40 323372 |Earthing Bracket 1
ABSV/11/3 S 73A 032177 _|Bolt HexM10 X 25 2
B ABSV/11/3 S 87B 065614 |Washer M10 NS 4
ABSV/11/3 S 82E 040439  |Nut Hex M10 2
ABSV/11/3 S 84C 050228 |Coach Screw M10 x 80 1
ABSV/11/3 S 35 1413xx  |Cu Crimp Lug 2
ABSV/22/3 S 76B 032338 |Bolt Hex M20 X 350 2
ABSV/22/3 S 86C 065159 |Washer Els 20 2
ABSV/22/3 S 82B 040442  |Nut Hex M20 2
C ABSV/22/3 S 35J 152491 |Lug Crimp Bimetal 150mm? M12 3
ABSV/22/3 S 63D 235706 |Switch Air Break ABB vert unitised, arc device 1
ABSV/22/3 S 42B 244207 _|Down Rod 25mm NB Pipe 6.5m 1
ABSVI22/3 S 40 323372 |Earthing Bracket 1
Bl ABSV/22/3 S 73A 032177 _|BoltHexM10 X 25 2
ABSV/22/3 S 87B 065614 |Washer M10 NS 4
ABSV/22/3 S 82E 040439  |Nut Hex M10 2
D ABSV/22/3 S 84C 050228 |Coach Screw M10 x 80 1
ABSV/I22/3 S 35 1413xx  |Cu Crimp Lug 2

- OBSOLETE
‘ - FOR REFERENCE ONLY

F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
« trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
Z 3 TasNetworks T
a VERTICAL AIR BREAK SWITCH

— (@ NTS
<|z - - ABB - (UNITISED)

ORAWN (S PRO-SOLUTION:
x|= OBSOLETE
w = DESIGNED BY ELECTRO A[”
: o CHECKED BY HMWESTBURY
< —F D- OHC - E019 - SD - 002 | A

DATE APPROVED | 13/MAY/19 A

Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-10



Overhead Distribution Construction Manual - Miscellaneous Section 5

5.4 Nulec / Schneider Recloser — 22kV with ABS (Obsolete)

1 | 2 | 3 | 4 | 5
- INCOMING OUTGOING
C\ 7Y /)
A o < - \{/ - T\
s & \L)/
= b
! 2 W
wv
o
— &
- o
o~ N
o <
L gl v T [} T
| (] H \%l . |
] 1 1
B E CABLES
=1 ] SUPPLIED
<y WITH UNIT
e
— = Z
g 8%
X Ze
w T
O =
2
RS
C - l
3
| . SEE NOTE 9
g ju
o~ -
>
— &5
2 &
S SEE NOTE 8 & 10
i &
D I
. i .
R
1l =
= I SEE NOTE 3 b
—_ o <t
e o f &5
€ <] l: w
& 5 | u
— c ,I = %
| S I+ 3
E B 2 -4
OPERATING .
— PLATFORM i
CENTRELINE =
Z S
- EARTH ELECTRODE
5oL = MAXIMUM EARTH —
=1 RESISTANCE=10 OHMS
F z
= NOTES
POSSUM GUARD & 1. EARTH CONDUCTOR TO BE 70mm' 0.6/1kV COPPER PVC FIXED TO
TO BE FITTED. POLE ON OPPOSITE SIDE TO AIR BREAK SWITCH HANDLES.
— REFER TO DRG 2. REFER TO DRAWING D-OH1-0735-SD-001 FOR LIGHTNING ARRESTER
D-0HC-G031-SD-001 INSTALLATION ON CROSSARM.
3. IF LV DISTRIBUTION IS TO BE INSTALLED ON THE POLE, ONLY LV
EARTH LEAD ABC IS TO BE PERMITTED AND A 13.5m 8kN PI POLE WILL BE USED.
— T j DISCONNECTOR 4. ARC BREAKING DEVICES ARE NOT REQUIRED.
G 5. USE 12m 8kN PI POLE, EXCEPT WHERE LV ABC IS INSTALLED.
INSULATED 6. BATTERIES SUPPLIED WITH RECLOSER HAVE 5-7 YEAR LIFE.
STANDOFF BRACKET 7. DO NOT BREAK INSULATION ON RECLOSER BUSHING LEADS
BONDED T0 POLE CLOSER THAN 1.0m FROM THE TOP OF THE BUSHING BOOT.
STEELWORK 8. RECLOSER MOUNTED SURGE DIVERTER DISCONNECT EARTH LEADS
TO BE TERMINATED ON RECLOSER STEELWORK.
- I 9. EARTH DISCONNECT LEADS TO BE SECURED SO THAT CONTACT
- 0 B S O |_ E T E WILL NOT OCCUR WITH HV BUSHINGS DURING OPERATION.
10. OPERATING PLATFORM IF INSTALLED MUST BE LOCATED ON SAME SIDE
DETAIL OF POLE AS CONTROL CUBICLE.
4@ - F 0 R R E F E R E N C E 1. LIGHTNING ARRESTOR TERMINALS, RECLOSER TANK, CONTROL CUBICLE
S/C POLE FRAME, OPERATING PLATFORM AND OPERATING HANDLE OF AIR BREAK
H O N I_ Y SWITCH TO BE BONDED TOGETHER AND EARTHED.
REFERENCE DRAWINGS APL Nos DIMENSIONS ARE IN MILLIMETRES
D-OHC-G026-SD-001, D-OHC-G031-SD-001 REC/NULEC-22/3-RAD UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 trading s Toshirworks i
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y TITLE SCALE
- |2 TasNetworks RECLOSER NULEC/SCHNEIDER 22kV 145
<|Z —_ —— -WITH SINGLE ABS RADIAL FEEDERS
x|=Z _ OBSOLETE
w = DESIGNED BY ELECTRO AL
Ll K= (HECKED BY H.WESTBURY
- APPROVED BY REVISION
< - — — — —
DATE APPROVED | 08/MAY/19 D O H [ E O 2 3 S D O O T A

Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-11



Overhead Distribution Construction Manual - Miscellaneous Section 5

Nulec / Schneider Recloser — 22kV with ABS (Obsolete) — Materials List

1 | 2 | 3 | A | 5
A
| Unit Assembly |Store Type|ltem Ref|Stock ltem Description Quantity
REC/NULEC.22/3.R S 73C 032181 Bolt Hex M10 X 45 6
REC/NULEC.22/3.R S 75L 032286 Bolt Hex M16 X 300 7
B REC/NULEC.22/3.R S 75N 032288 | Bolt Hex M16 X 350 4
REC/NULEC.22/3.R S 75Q 032290 Bolt Hex M16 X 400 2
REC/NULEC.22/3.R S 78B 033781 Bolt Tow er M16 X 40 10
REC/NULEC.22/3.R S 86B 065158 [Washer Hs 16 13
| REC/NULEC.22/3.R S 87B 065614 |Washer Ns 10 6
REC/NULEC.22/3.R S 88A 066412 Washer Tow er 12 6
REC/NULEC.22/3.R S 36F 141299 |Lug Bolted 16mm2-12 hole 3
REC/NULEC.22/3.R S 55E 144955 |Parallel groove clamp Bi-metal 3
C REC/NULEC.22/3.R S 35K 152482 Lug Crimp Bimetal 185mn?’ M12 6
REC/NULEC.22/3.R S 119A 225796 |Lighting Arrester 10kA 21kV poly EGB21 6
REC/NULEC.22/3.R S 119B 225797 |Earth Lead Disconnect E4 to suit 225796 6
REC/NULEC.22/3.R S 55L 225798 Tee Clamp AL - TCDA19 3
— REC/NULEC.22/3.R S 119C 225799 |Lightning Arrester mount to suit 225796 6
REC/NULEC.22/3.R S 63C 235707 |Switch Air Break vert unitised 1
REC/NULEC.22/3.R S 42B 244207 Dow n Rod 25mm NB Pipe 6.5m 1
REC/NULEC.22/3.R S 60G 321260 Insulator,Disc 12
D REC/NULEC.22/3.R S 61A 322056 | Ball Clevis & Pin 6
REC/NULEC.22/3.R S 61D 322090 Kink Pin 12
REC/NULEC.22/3.R S 61B 322386 | Socket Termination 6
REC/NULEC.22/3.R S 1D 323304 [Crossarm Mk4 1
| REC/NULEC.22/3.R S 1E 323305 |Crossarm Mk5 2
REC/NULEC.22/3.R S 2A 323314 Crossarm Strap Mk14 6
E
N - OBSOLETE
- FOR REFERENCE ONLY
F
G
H
. ORI T e
z - ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS _
-2 TasNetworks | ™ ECLOSER NULEC/SCHNEIDER 22KV NTS
<|z —_— prpT— - WITH SINGLE ABS RADIAL FEEDERS
x|= OBSOLETE
w = DESIGNED BY ELECTRO A[”
: o CHECKED BY HMWESTBURY
APPROVED BY | - REVISION
= DATE APPROVED | 08/MAY/19 D - O H [ - E O 2 3 - S D - O O 2 A

Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-12



Overhead Distribution Construction Manual - Miscellaneous Section 5

5.5 ESR 11kV Recloser (Obsolete)

1 | 2 | 3 | L | 5
INCOMING
.| = FOR REFERENCE ONLY
NB OUTER LINKS OMITTED J ™\
— FOR CLARITY
B 778 X 98 ) z
o
TS
[
=¥
v n
— o2
<o
| E—
C
| -SEE NOTE 2
— [a'4
&
5
3
e9
D =2
E =
=
=
[a'q
o i
Sz By
O H
] o= .
o é z
=
" . B 2
z 3
F £ iie <
< 47B o
z., =
5? PLATFORM FLOOR CENTRE LINE R
o< IF REQUIRED
— < T
5 o (N
w =
NOTES
G 1. EARTH CONDUCTOR TO BE 50mm* 0.6/1kV COPPER PVC FIXED TO
POLE ON OPPOSITE SIDE TO AIR BREAK SWITCH HANDLES.
CONNECT AS INDICATED.
S REFER TO DRAWING D-0HC-G027-SD-001 FOR EARTHING DETAILS.
g POSSUM GUARD 2. REMOVE INSULATION.
E 10 BE FITTED 3. LV DISTRIBUTION LINES SHOULD NOT BE INSTALLED ON THIS POLE.
— Z_ REFER 10 DRG 4. REFER TO SECTION 'R’ OF THE OPERATIONS MANUAL HV POLE MOUNTED
“ : D-O0HC-G031-5D-001 DISTRIBUTION SWITCHGEAR TO DETERMINE IF ARC BREAKING DEVICES
2 5 ARE REQUIRED.
2 EARTH ELECTRODE 5. USE 12m 8kN P.L. POLE.
o g MAXIMUM EARTH RESISTANCE=10 OHMS 6. LITHIUM BATTERIES SUPPLIED WITH RECLOSER - 10 YEAR LIFE.
" =8
REFERENCE DRAWINGS APL Nos DIMENSIONS ARE IN MILLIMETRES
D-0HC-G027-SD-001, D-OHC-G031-SD-001 REC/ESR-11/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THS DRAWING MAY BE REPRODUCED,
» trading as TasNetworks 50 TRANSMITTED BY ANY, WEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o w
212 TasNetworks TILE SLALE
-2 ESR 11kV RECLOSER 145
<|o OBSOLETE
o ; ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
[-4
: o (HECKED BY H.WESTBURY A["
< APPROVED BY - _ _ _ _ REVISION
DATE APPROVED | 13/MAY/19 D O H [ E O 2 5 S D 0 0 W A

Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-13



Overhead Distribution Construction Manual - Miscellaneous Section 5
ESR 11kV Recloser (Obsolete) — Materials List
1 | 2 | 3 | A 5
Unit_ Assembly | Store Type | ltem Ref|Stock Item Description Quantity
A REC/ESR.11/3 S 75M 032287 Bolt Hex M16 X 325 1
REC/ESR.11/3 S 75N 032288 Bolt Hex M16 X 350 5
REC/ESR.11/3 S 75P 032289 Bolt Hex M16 X 375 5
REC/ESR.11/3 S 77B 033771 Bolt Tow er M12 X 35 9
Bl REC/ESR.11/3 S 86B 065158 |Washer Hs 16 11
REC/ESR.11/3 S 88A 066412 Washer Tow er 12 9
REC/ESR.11/3 S 51D 103213 Cond Cu Ins HD 1¢ 70mn? 12
REC/ESR.11/3 S 62E 144617 Bushing Cover 11kV 6
B REC/ESR.11/3 S 33 155132 |Clamp Brass - earth rod 6
REC/ESR.11/3 S 63G 235705 |Switch Air Break horz ARC unitised 1
REC/ESR.11/3 S 63C 235707 |Switch Air Break vert unitised 1
] REC/ESR.11/3 S 63L 236088 |Switch Isol Vert 24kV single phase 3
REC/ESR.11/3 S 9B 236140 |Fuse Bracket Stanger 3
REC/ESR.11/3 S 42B 244207 Dow n Rod 25mm NB Pipe 6.5m 2
REC/ESR.11/3 S 60E 320531 Insulator,Pin 22/450 3
C REC/ESR.11/3 S 60G 321260 Insulator,Disc 6
REC/ESR.11/3 S 61A 322056 Ball Clevis & Pin 6
REC/ESR.11/3 S 61D 322090 Kink Pin 6
REC/ESR.11/3 S 61B 322386 |Socket Termination 6
L REC/ESR.11/3 S 59A 322721 Pin,Insulator 22kV 3
REC/ESR.11/3 S 1D 323304 Crossarm Mk4 1
REC/ESR.11/3 S 1G 323309 Crossarm Mk9 2
REC/ESR.11/3 S 2A 323314 |Crossarm Strap Mk14 4
D REC/ESR.11/3 S 990426 Recloser ESR 12kV 1
E - FOR REFERENCE ONLY
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
% trading as TasNetworks OR TRANSHITTED BY'ANY HEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w TITLE SCALE
-2 TasNetworks ESR 11kV RECLOSER MATERIALS LIST NTS
<|z OBSOLETE
x (= ORAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
: g CHECKED BY H.WESTBURY A[”
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 13/MAY/19 D O H [ E O 2 5 S D O O 2 A
Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-14



Overhead Distribution Construction Manual - Miscellaneous Section 5

5.6 ESR SFs 11kV Recloser (Obsolete)

1 | 2 | 3 | 4 | 5
5 - OBSOLETE
A
= (—~— - FOR REFERENCE ONLY
&
2
2 /|
— A
2
Q { 63C
<C
B Tk 1 :
Ll
H
v gl 5D
T
1]
60D
-
E
% 598
C &
‘8 C N )
: 2
! 778
2A
D ‘
(2
5
S
s
o
=z
8= Ll
op =)
=0
£
Sa
1Mk
E
- |
a
=
<<
=
o
=
==
<< =3
& POSSUM GUARD 3
5 TO BE FITTED.
F REFER TO DRG I
D-OHC-G031-SD-001 &
EARTH ELECTRODE
MAXIMUM EARTH RESISTANCE=10 OHMS =
G 428
NOTES
1. EARTH CONDUCTOR TO BE 50mm® 0.6/1kV COPPER PVC FIXED TO
T POLE ON OPPOSITE SIDE TO AIR BREAK SWITCH HANDLES.
CONNECT AS INDICATED.
2. LITHUM BATTERIES SUPPLIED WITH RECLOSER 10 YEARS LIFE.
3. LOW VOLTAGE DISTRIBUTORS SHOULD NOT BE INSTALLED ON THIS POLE.
4 USE A 12m 8kN P.l. POLE.
H L =l
REFERENCE DRAWINGS APL Nos DIMENSIONS ARE IN MILLIMETRES
D-OHC-G031-SD-001 REC/ESR-11/3-RAD UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO_PART OF THS DRAWNG MAY BE REPRODUCED,
@ trading as TasNetworks OR_TRANSHITTED BY ANY HEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
s TITLE
-2 TasNetworks RECLOSER ESR SF6 11kV 145
< |z OBSOLETE
A ES ORAWN (5 PRO-SOLUTIONS
w |9 DESIGNED BY ELECTRO
-4
Ll 5 (HECKED BY HMWESTBURY AA
- APPROVED BY REVISION
< - — — — —
DATE APPROVED | 13/MAY/19 D O H [ E O 2 6 S D O O W A

Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-15



Overhead Distribution Construction Manual - Miscellaneous

Section 5

ESR SF6 11kV Recloser (Obsolete) — Materials List

1 | 2 | 3 | L 5
A Unit Assembly |Store Type|ltem Ref|Stock Item Description Quantity
REC/ESR.11/3.RAD S 75L 032286 Bolt Hex M16 X 300 2
REC/ESR.11/3.RAD S 75P 032289 Bolt Hex M16 X 375 6
REC/ESR.11/3.RAD S 77B 033771 Bolt Tow er M12 X 35 6
— REC/ESR.11/3.RAD S 86B 065158 |Washer Eis 16 18
REC/ESR.11/3.RAD S 88A 066412 |Washer Tower 12 6
REC/ESR.11/3.RAD S 51D 103213 Cond Cu Ins HD 1c 70mn? 18
REC/ESR.11/3.RAD S 62F 144620 Bushing Cover 22kV 6
B REC/ESR.11/3.RAD S 33 155132 |Clamp Brass - earth rod 6
REC/ESR.11/3.RAD S 63C 235707 |Switch Air Break vert unitised 1
REC/ESR.11/3.RAD S 42B 244207 Dow n Rod 25mm NB Pipe 6.5m 1
REC/ESR.11/3.RAD S 60E 320531 Insulator,Pin 22/450 3
| REC/ESR.11/3.RAD S 60G 321260 _|Insulator,Disc 6
REC/ESR.11/3.RAD S 61A 322056 |Ball Clevis & Pin 6
REC/ESR.11/3.RAD S 61D 322090 |Kink Pin 6
C REC/ESR.11/3.RAD S 61B 322386 | Socket Termination 6
REC/ESR.11/3.RAD S 59A 322721 |Pin,Insulator 22kV 3
REC/ESR.11/3.RAD S 1D 323304 Crossarm Mk4 1
REC/ESR.11/3.RAD S 1E 323305 |Crossarm Mk5 2
| REC/ESR.11/3.RAD S 2A 323314 Crossarm Strap Mk14 4
REC/ESR.11/3.RAD S 990426 Recloser ESR 12kV 1
D
E
F
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 tradng as Tasietvarks BT B Ao A T
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w THLE SCALE
-2 TasNetworks RECLOSER ESR SF6 11kV NTS
< | MATERIALS LIST
o % ORAWN (5 PRO-SOLUTIONS O B S O L E T E
w = DESIGNED BY ELECTRO AA
: o CHECKED BY H.WESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 13/MAY/19 D O H [ E O 2 6 S D O O 2 A
Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-16



Overhead Distribution Construction Manual - Miscellaneous Section 5
1 | | 3 | L | 5
A OUTGOING
55
B 2
778 X_98 ) = ER
[a'4
s
[
S
- -
w (=}
g% o 3
e 52C LA
A : 75P 86B
c H
[
2
z& 3 ) 62F
S5 + - - _ 868 X_T5N
o2 | : 4 Rl
D e | E b%\ g SEE NOTE 3
nica i N
L —4 e o T e 5]
- 86B 75P
E g )
2 ]
e Y
z
o H
w = "’
— 8z @ bl
w <t
: |
N — 14
—
F e y L6
S o
ES
2 o -
=
o B PR |
e PLATFORM BOLT CENTRE LINE
—-— wd
g S 778 IF REQUIRED
Lo 88A L <
=2
l
NOTES
G POSSUM GUARD
TO BE FITTED. N
= |Rerer To ORG 1. EARTH CONDUCTOR TO BE 50mm' 0.6/1kV COPPER PVC FIXED TO
S | s o0t POLE ON OPPOSITE SIDE TO AIR BREAK SWITCH HANDLES.
s CONNECT AS INDICATED.
2 2. SEALED LEAD ACID BATTERIES FOR 12 VOLT OR 15 VOLT DC TO BE
S had REFER HOUSED IN LOWER LEVEL OF CABINET (ITEM 24). USE 6 VOLT
g& HV EARTH BATTERY S.I. No. 14.29.95.
£2 3. SE\E/EU#SJXP##EkSOCKET CONNECTOR FOR RECLOSER CONTROL WIRING.
- w .
%ﬁ L. LOW VOLTAGE DISTRIBUTORS SHOULD NOT BE INSTALLED ON THIS POLE.
- EARTH ELECTRODE
H MAXIMUM EARTH RESISTANCE=10 OHMS
REFERENCE DRAWINGS APL Nos DIMENSIONS ARE IN MILLIMETRES
D-0HC-G031-SD-001 REC/0YT-22/3 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
v trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w
=3 TITLE SCALE
-2 TasNetworks RECLOSER REYROLLE OYT 22kV 145
<|= OBSOLETE
- <z( ORAWN (5 PRO-SOLUTIONS
w § DESIGNED BY ELECTRO
o
: © (HECKED BY HWESTBURY A["
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 13/MAY/19 D O H [ E O 2 7 S D O O W A
Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-17




Overhead Distribution Construction Manual - Miscellaneous Section 5
Reyrolle OYT 22kV Recloser (Obsolete) — Materials List
1 | 2 | 3 | A 5
A Unit Assembly | Store Type |ltem Ref|Stock ltem Description Quantity
REC/OYT.22/3 S 75L 032286 | Bolt Hex M16 X 300 3
REC/OYT.22/3 S 75M 032287  |Bolt Hex M16 X 325 4
REC/OYT.22/3 S 75N 032288 Bolt Hex M16 X 350 2
| REC/OYT.22/3 S 75P 032289 Bolt Hex M16 X 375 4
REC/OYT.22/3 S 77B 033771 Bolt Tow er M12 X 35 20
REC/OYT.22/3 S 78B 033781 Bolt Tow er M16 X 40 6
B REC/OYT.22/3 S 86B 065158 Washer His 16 13
REC/OYT.22/3 S 88A 066412 Washer Tow er 12 20
REC/OYT.22/3 S 88B 066413 Washer Tow er 16 6
REC/OYT.22/3 S 52C 102372 Cond Cu 2nd Hand 19/.064 kg 4
] REC/OYT.22/3 S 62F 144620 |Bushing Cover 22kV 6
REC/OYT.22/3 S 33 155132 |Clamp Brass - earth rod 6
REC/OYT.22/3 S 41B 157877 Sleeving 6 ID 2 Wall 12
C REC/OYT.22/3 S 158582 | Tubing spiral 12mm 3
REC/OYT.22/3 S 63G 235705 Switch Air Break horz ARC unitised 1
REC/OYT.22/3 S 63C 235707 Switch Air Break vert unitised 1
REC/OYT.22/3 S 63L 236088 |Switch Isol Vert 24kV single phase 3
— REC/OYT.22/3 S 9B 236140 Fuse Bracket Stanger 3
REC/OYT.22/3 S 42B 244207 Dow n Rod 25mm NB Pipe 6.5m 2
REC/OYT.22/3 S 60E 320531 |Insulator,Pin 22/450 3
D REC/OYT.22/3 S 60G 321260 |Insulator,Disc 12
REC/OYT.22/3 S 61A 322056 |Ball Clevis & Pin 6
REC/OYT.22/3 S 61D 322090 Kink Pin 6
REC/OYT.22/3 S 61B 322386 Socket Termination 6
—] REC/OYT.22/3 S 59A 322721 Pin,Insulator 22kV 3
REC/OYT.22/3 S 1D 323304 |Crossarm Mk4 1
REC/OYT.22/3 S 1G 323309 Crossarm Mk9 2
REC/OYT.22/3 S 2A 323314 |Crossarm Strap Mk14 8
E REC/OYT.22/3 S 46D 323875 Recloser Member complete 1
: - FOR REFERENCE ONLY
G
H
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 trading s TasNerorks ST T, S
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w TITLE SCALE
-2 TasNetworks | "“2ECLOSER REYROLLE OYT 22kV NTS
< :(' ORAWN (5 PRO-SOLUTIONS MATER‘ALS L‘ST
z g DESIGNED BY ELECTRO O B S O L E T E A A
: o CHECKED BY HWESTBURY
< APPROVED BY REVISION
DATE APPROVED | 13/MAY/19 D - O H [ - E O 2 7 - S D - O O 2 A
Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-18



Overhead Distribution Construction Manual - Miscellaneous Section 5
5.8 Recloser Steelwork Detail (Obsolete)
1 | 2 | 3 | A 5
A - FOR REFERENCE ONLY
40 535 290 535
1 | | 5
ﬁ fffffffffffffff %K ffffffff 74% fffffffffffffff —-
B 1
6 HOLES 18 2 HOLES *14
1 300 150 540 150
\ \ \ \ \
T T T T
- e ] -
C _ T ————————— —
‘ 1440 ‘]
— ITEM 46A - MAIN SUPPORT BEAM S LT WELDED b aM
MATERIAL: 90x90x6 ANGLE 1440 LONG INO GRINDING REQUIRED)
D
L] ‘ 180 460 460
T 1
L
6 6 51
P 2 HOLES @14 P
] 1155
! |
F y |
3 HOLES @18
ITEM 46B - LOWER SUPPORT ARM
— MATERIAL: 100x100x10 ANGLE 1155 LONG
50 265 368 422 23
G | | 3#
\ \ 1155 \
8 HOLES @14
IN FLANGES
ITEM 46C - RECLOSER CROSSMEMBER
H MATERIAL: 75x40 TFC 1155 LONG
NOTE
HOT DIP GALVANIZE TO AS/NZS L4680 DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
T ian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 © g as Tesharvarss T
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w SCALE
-2 TasNetworks | "< \y|TCH/FUSE /RECLOSER COMPONENTS 10
<|z — — RECLOSER STEELWORK DETAILS
E § DESIGNED BY ELECTRO OBSOLETE A["
: o (HECKED BY H.WESTBURY
APPROVED BY REVISION
= DATE APPROVED | 15/MAY/19 D - O H [ - E O A /‘ - S D - 0 0 W A
Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-19




Overhead Distribution Construction Manual - Miscellaneous

Section 5

Recloser Steelwork Detail (Obsolete)

1 | 2 | L
A
(I 355 6
150
=
B —
Sl 2x @18 HOLES
C
J 2 HOLES @8
D
1x @18 HOLE
E
ITEM L6F - CORE BALANCE CT BRACKET (11kV)
— MATERIAL: 50x50x6 ANGLE
50x6 FLAT 140 LONG
F
G
H NOTE
HOT DIP GALVANIZE TO AS/NZS 4680 DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
v ©frnding as TasNetworks O TRANSHITTED Y ANY WEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
-2 TasNetworks | ™ g \y|TCH/FUSE /RECLOSER COMPONENTS e
<|z RECLOSER STEELWORK DETAILS
o % ORAWN (5 PRO-SOLUTIONS OBSOLETE
w = DESIGNED BY ELECTRO AL
: © (HECKED BY HWESTBURY
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 15/MAY/19 D O H [ E O L’ /‘ S D O O 2 A
Rev. 1.0 Switches, Fuses, Reclosers & Sectionalisers Page 5-20



SECTION 6 — POLE
SUBSTATIONS /
TRANSFORMERS



Overhead Distribution Construction Manual - Miscellaneous Section 6

Ver. 1.0 Pole Substations / Transformers Page 6-2



Overhead Distribution Construction Manual - Miscellaneous Section 6

6 SECTION 6 — POLE SUBSTATIONS / TRANSFORMERS

6 SECTION 6 — POLE SUBSTATIONS / TRANSFORMERS .......ooiiiiiiiiiitiieieecie et 3
6.1 Bolt on Crossarm Bracket for 100 kVA and above Tyee Transformers (Change) ................... 4
6.2 Transformer Platform Bracket (Change) ......coouviiiiiiiiiiiice e 5
6.3 Transformer Clamping Plate (Change) ......voooiiiiiiiiie e 6
6.4 Poletop Steelwork Details (Change) ......couvviiiiiiiii e 7

Ver. 1.0 Pole Substations / Transformers Page 6-3



Overhead Distribution Construction Manual - Miscellaneous

Section 6

6.1 Bolt on Crossarm Bracket for 100 kVA and above Tyee Transformers

(Change)

B PLAN
2 HOLES @22

/125 x 65 PFC
o

c —%x —
D
| @ 1 -
‘$’\\’7 -
Na HOLES @14
E FRONT ELEVATION ITEM 15E

SCALE: 111

o =
TR
E

KICK BAR

BY 8mm

HOLES

50 x 12 FLAT BAR TO

NB
CHAMFER CORNERS

G MATERIAL: - *
AS/NZS 36791 ~ I
SCALE: 111

/50 x 12 FLAT BAR 80 LONG

- OBSOLETE
- FOR REFERENCE ONLY

WELD NOT TO PROTRUDE
ABOVE EDGE OF FLAT BAR

120

100 x 50 PF[—\

SIDE ELEVATION

HANGER BRACKET
MATERIAL: 125 x 65 PFC, 100 x 50 PFC, 75 x12 FLAT BAR,
50 x 12 FLAT BAR TO AS/NZS 3679.1 - 300 AND
10 PLATE TO AS/NZS 3678 - 250 56
S.I. No. 32.34.53

]

108

NOTE

H | 1. REMOVE ALL SHARP EDGES AND BURRS.

2. HOT DIP GALVANIZE TO AS 4680.

3. ALL WELDS émm CONTINUOUS FILLETS TO AS 1554.
4. GENERAL TOLERANCE = +/- 2mm.

GUSSET PLATE

MATERIAL: 10 PLATE TO AS/NZS 3678 - 250

SCALE: 1:2.75

DETAIL DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,

» trading as TasNetworks OR TRANSMITTED B ANY MEANS WITHOUT THE

= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS

o (Y SCALE

-2 TasNetworks | ™50l T ON CROSSARM HANGER BRACKET NTS

<|2 100kVA AND ABOVE TRANSFORMERS

HE S e (TYREE TRANSFORMER'S DESIGN)

= OBSOLETE Ak

. CHECKED BY H.WESTBURY

< APPROVED BY A KETLEY _ _ _ _ REVISION

DATE APPROVED | 06/JUN/19 D O H [ F O 2 5 S D O O /‘ A

Ver. 1.0 Pole Substations / Transformers Page 6-4




Overhead Distribution Construction Manual - Miscellaneous

Section 6

6.2 Transformer Platform Bracket (Change)

1 | 2 | 3 | 4

685

610

D 9
Ry | Ei

— MARK 49 - TRANSFORMER PLATFORM V BRACKET

MATERIAL: 50 x 50 x 6 ANGLE AND 6 PLATE TO AS/NZS 3679.1-300
S.I. No. 32.33.49

1 HOLE @22

2 HOLES @18

E
F
G FOR REFERENCE ONLY
H

NOTE

1. HOT DIP GALVANISED TO AS/NZS 4680 BWLEENSSS‘OQEH?E@“SNE E‘TL;@EEDTRES

© Tasmanian Networks PTY. LTD. NO PART OF THS DRAWING MAY BE REPRODUCED,
v trading as TasNetworks OR_TRANSMITTED By ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w TITLE SCALE
I TasNetworks TRANSFORMER PLATFORM BRACKET 110
<|z OBSOLETE
x [Z DRAWN (5 PRO-SOLUTIONS
w |32 DESIGNED BY ELECTRO
: g CHECKED BY H.WESTBURY AL
<< APPROVED BY A KETLEY _ _ _ _ REVISION
DATE APPROVED | 06/JUN/19 D O H [ F O 2 6 S D O O T A
Ver. 1.0 Pole Substations / Transformers Page 6-5



Overhead Distribution Construction Manual - Miscellaneous Section 6

6.3 Transformer Clamping Plate (Change)

1 | 2 | 3 | 4 5
175
2 HOLES @18
A
B
25 125
— ITEM 16G
MARK 54 - CLAMPING PLATE
MATERIAL: 50 x 12 FLAT BAR TO AS/NZS 3679.1-300
S.l. No. 32.33.54
C

- OBSOLETE
D - FOR REFERENCE ONLY

E
F
G
H
NOTE DIMENSIONS ARE IN MILLIMETRES
1. HOT DIP GALVANISED TO AS 4680 UNLESS OTHERWISE STATED
© Tasmanian Nefworks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETRIEVAL SYSTEM IN ANY FORM,
n trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o (Y SCALE
e ] TasNetworks TIE
-z LINE COMPONENTS NTS
<|Z POLE TOP STEELWORK DETAILS
- |2 DRAWN €5 PRO-SOLUTIONS OBSOLETE
w |2 DESIGNED BY ELECTRO Al”
=4
=le CHECKED BY | HWESTBURY
< APPROVED BY [ A KeTLEY D O H [ F O 2 7 S D O O W REVISION
DATE APPROVED | 06/JN/19 A

Ver. 1.0 Pole Substations / Transformers Page 6-6



Overhead Distribution Construction Manual - Miscellaneous Section 6

6.4 Poletop Steelwork Details (Change)

1 | 2 | 3 | 4 5
‘ 535 | 455 | 15 | 6 HOLES @18 T 35
A
] ‘ 1525 ‘
MARK 50 - TRANSFORMER BEAM SUPPORT
MATERIAL: 125 PFC TO AS/NZS 3679.1-300 - S.. No. 32.33.50
B
1010
810
710
— ‘ 610 ‘
510 35
| \ | 17y
CENTRE LINE 7/7,7,7 s /@ oo ,T 1
1 HOLES ¢wa/ i 1
] 4LL5
/ 495
D 1 HOLE @22 685
MARK 51 - CROSSMEMBER
MATERIAL: 125 PFC TO AS/NZS 3679.1-300 - S.. NO. 32.33.51
o< > L)%
> N 2 & e
|
: =
(@)
Ll N , |
—] o
= 2 HOLES @18
Ll
o
F Ll
—
L o 127x75x6 FLAT o
— o AL S WELDED TO ANGLE E L
(@) T “ T
N x L HOLES @22
oo
O w
G o
[o3 ~O
] };7$7—{ 17'@*4&
TRANSFORMER BEAM PROPS
MATERIAL: 75 x 75 x 6 ANGLE TO AS/NZS 3679.1-300
H LEFT SIDE - MARK 52 RIGHT SIDE - MARK 53
NOTE S No. 32.33.52 Sl. No. 32.3353  piMENSIONS ARE IN MILLIMETRES
1.HOT DIP GALVANISED TO AS 4680 UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
- g a5 Toskareor B T ey
= ABN: 24 167 357 299 PRIOR OF TASNETWORKS
°B TasNetworks e SIALE
-1 LINE COMPONENTS NTS
<|z — POLE TOP STEELWORK COMPONENTS
P é DRAWN (5 PRO-SOLUTION: OBSOLETE
w = DESIGNED BY ELECTRO Al”
: o CHECKED BY H.WESTBURY
< APPROVED BY A KETLEY _ _ _ _ REVISION
DATE APPROVED | 11/JUN/19 D O H [ F O 2 8 S D O O W A

Ver. 1.0 Pole Substations / Transformers Page 6-7



Overhead Distribution Construction Manual - Miscellaneous Section 6

Ver. 1.0 Pole Substations / Transformers Page 6-8



SECTION 7 OTHER POLE
MOUNTED PLANT



Overhead Distribution Construction Manual - Miscellaneous Section 7

Ver. 1.0 Other Pole Mounted Plant Page 7-2



Overhead Distribution Construction Manual — Miscellaneous

Section 7

7 SECTION 7 - OTHER POLE MOUNTED PLANT &
ATTACHMENTS

7 SECTION 7 — OTHER POLE MOUNTED PLANT & ATTACHMENTS ...cviiiiiiiiiieicceee,

7.1 11kV or 22kV UG Cable Termination on Pole — Surge Arrestors on Crossarms

(0] 1] 1=y (=) T TR PRSP
7.2 11kV or 22kV UG Cable Box Type Termination on Pole (Obsolete).............cc..c......

Ver. 1.0 Other Pole Mounted Plant

Page 7-3



Overhead Distribution Construction Manual — Miscellaneous

Section 7

7.1 11kV or 22kV UG Cable Termination on Pole — Surge Arrestors on

Crossarms (Obsolete)

1 | 2 |

- T rs s ry = m | SPRING WASHER
- / NUT
~

— ~ 07 OR ( 119D

% BRACKET
-
5 |
r - 48
I
B 3 ‘
g X DETAIL 69
ju g
E<
=
1 NisxA REFER TO RELEVANT
D<‘ HV ARRANGEMENT
o >
S5 g%[ B
g8 g& |
c > > E+a 5
: 0z &
2 N = | &
jaal | > =
i [=}
as) BuE
- BE
‘ <t
L D w
Th
4
. il
‘ ju
[Jumc] 2
=
= » 5
=z
w I
— s | ==
2 | <<
2z
Eia
i
E or (B \
I

POSSUM GUARD
TO BE FITTED. 1F
REFER TO DRG

D-0H1-0730-5D-001

NB
DO NOT LOOSEN
STUD LOCKING NUT

WASHER

85B

71A INSET

- OBSOLETE

i - FOR REFERENCE ONLY

SEE INSET
j/

EARTH CONDUCTOR TO BE
X\NSULATED COPPER 50mm*
AND CONNECTED TO
SURGE DIVERTER EARTH.
(EARTH RESISTANCE 30 OHMS MAX)

NOTE

WHEN SURGE DIVERTERS
ARE INSTALLED, REFER TO
DRAWING D-0H1-0735-5D-001

DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED

© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
2 trading as TasNetworks OR TRANSHITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
oy TITLE SCALE
-2 TasNetworks HV CABLE POLE WITH SURGE DIVERTERS NTS
= 2‘ DRAWN (5 PRO-SOLUTIONS ON [ROSS ARM
x|z — RAYCHEM TERMINATION
5 OBSOLETE AL
. (HECKED BY HWESTBURY
<< APPROVED BY _ _ _ _ REVISION
OATE APPROVED | 16/MAY/19 D O H [ G O 4 O S D O O W A
Ver. 1.0 Other Pole Mounted Plant Page 7-4



Overhead Distribution Construction Manual — Miscellaneous

Section 7

7.2 11kV or 22kV UG Cable Box Type Termination on Pole (Obsolete)

1 | 2 | 3 | 4 | 5
A FOR REFERENCE ONLY
———
B %
REFER TO RELEVANT
HV ARRANGEMENT
C e — :
- =
dg -— REFER TO
- UNDERGROUND
2 MANUAL FOR
DETAILS.
ﬁ -
’ T
- duil
4t =t
i g
| s s8] |s s a |
e = REFER TO RELEVANT
] [/// LV ARRANGEMENT
Nl +-—
F g
4l
G
POSSUM GUARD
TO BE FITTED.
REFER TO DRG
D-0HC-G031-SD-001
L L U
H
APL Nos DIMENSIONS ARE IN MILLIMETRES
(BL/11/3, (BL/22/3 UNLESS OTHERWISE STATED
© Tasmanian Nefworks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
" STORED IN A RETREVAL SYSTEM IN ANY FORM,
» trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
Z12 TasNetworks TITE
—la CABLE POLE - CABLE BOX TERMINATION 1,55
<|Z 1MkV OR 22kV
DRAWN (5 PRO-SOLUTIONS
x|z OBSOLETE
w = DESIGNED BY ELECTRO A[”
Ll =] CHECKED BY H.WESTBURY
-
< APPROVED BY _ _ _ _ REVISION
DATE APPROVED | 16/MAY/19 D O H [ G O L W S D O O /‘ A
Ver. 1.0 Other Pole Mounted Plant Page 7-5



Overhead Distribution Construction Manual — Miscellaneous Section 7

Ver. 1.0 Other Pole Mounted Plant Page 7-6



SECTION 9 — CONDUCTORS



Overhead Distribution Construction Manual — Miscellaneous Section 9

Ver. 1.0 Conductors, Cables, Connectors & Associated Fittings



Overhead Distribution Construction Manual — Miscellaneous Section 9

9 SECTION 9 — CONDUCTORS, CABLES, CONNECTORS &
ASSOCIATED FITTINGS

9 SECTION 9 — CONDUCTORS, CABLES, CONNECTORS & ASSOCIATED FITTINGS ...cceevvieiiieiieiieei,
9.0 Compression Sleeve / Splice Automatic Copper Splices (Obsolete) .......ccoovevvivveviiiecieicnn,

Ver. 1.0 Conductors, Cables, Connectors & Associated Fittings



Overhead Distribution Construction Manual — Miscellaneous Section 9

9.0 Compression Sleeve / Splice Automatic Copper Splices (Obsolete)

1 | 2 | 3 | 4 | 5
\ OBSOLETE-USE CRIMP SLEEVE
CENTRE STOP BRASS COME
- SPRING /EDPPER SHELL
7
) T 1
. W e —
B
CONDUCTORSIZE | DIA. RANGE A B
( CAT.No 5.1.No
METRIC | IMPERIAL mm mm mm
Re1 | 1omm? |  7/.048 3.43-4.32 13.34 106 | 14.77.33
Rt | 1emm? | 7/.084 4.20-5.2 14.6 109 [ 1477234
— GL-114M] 25smm? | 7/.0%0 5.3-6.6 18.64 137 [ 14.77.36
7/.097 &
R27 | 35mm? 6.53- 7.6 18.64 137 | 14.77.35
mm 7/.104
R101 | somm? | 19/.064 7.92-9.4 23.82 162 | 14.77.38
D R207 | 70mm? | 19/.083 9.4-10.90 | 23.82 162 | 14.77.40
GL-120M] 120mm2|  197.101 12.65-142 | 3155 203 | 14.77.39
APPLICATION
1. THOROUGHLY WIRE BRUSH BOTH ENDS OF THE CONDUCTORS TO BE JDINED.
E 2. PUSH THE CONDUCTOR, TURMING WITH THE LAY OF THE WIRE, INTO THE
SPLICE UNTIL IT 15 APPROXIMATELY IM THE CEMTRE OF THE FITTING.
3. PULL THE CONDUCTODR BALK UNTIL THE BRASS CONE GRIPS.
& EMSURE BOTH ENDS OF THE COMDUCTOR ARE FULLY EWGAGED BEFORE
1 RELEASING CUM-A-LONGS.
NOTES
1. AUTOMATIC SPLICE 15 NOT TO BE USED
F ON MOM TENSIONED CONDUCTORS. {SLACK SPAN:
2. SPLICE NDT TO BE FITTED CLOSER THAM 2.5
METRES TO INSULATORS.
3. SPLICE WOT TO BE INSTALLED AT OR MEAR MID SPAN.
¢}
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
(© Tasmanian Networks PTY, LTD. N0 FART OF THIS DRAWING MAY DBE REPROOUCED,
v trading as TosNetworks gu%gﬂu]_%@sv%smm ':l-?:;;n-ﬁ:‘
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y e STALE
-2 TasNetworks COMPRESSION SLEEVES / SPLICES NTS
< |2 AUTOMATIC COPPER SPLICES
o ; DRAWN [5 PRO-SOLUTIONS
w § DESIGKED BY ELECTRD
o
: < (HECKED BY HWESTBURY AI“
- APPROYED BY - _ _ - - _ _ . REVISION
DATE APFROVED | 15/FEB/ 19 D O H C J U W U S D U 0 W iy

Ver. 1.0 Conductors, Cables, Connectors & Associated Fittings



SECTION 10— POLES



Overhead Distribution Construction Manual - Miscellaneous Section 10

Ver. 1.0 Poles Page 10-2



Overhead Distribution Construction Manual - Miscellaneous Section 10

10 SECTION 10 — POLES

LOSECTION 10 = POLES ...ttt ettt e e e e e sttt eeeaesssssttaaaeeaeeeesenssnsssaaeeeeesansnes 3
10.1 Wood Pole Reinstatement ELTEK RFD Type Stakes (Obsolete) .....c.cocoveevieviiiciiiiicieeceee, 4
10.2 Wood Pole Steps (Obsolete for Reference ONly).....ccoooveiiioiiiiiiieeceee e 5

Ver. 1.0 Poles Page 10-3



Overhead Distribution Construction Manual - Miscellaneous

Section 10

10.1 Wood Pole Reinstatement ELTEK RFD Type Stakes (Obsolete)

1 | 2 | 3 | | 5
A
STAKE SELECTION TABLE FOR P.l. WOOD POLES
STAKE CODE AND QUANTITY
POLE POLE LENGTH (m)
B RATING 8.0 9.0 10.5 12.0 135
(kN)
RFD600
L lsery poLpj RFD680 | RFDB0 | RFDSS0 | RFD8BO
— 6 RFD680 | RFD680 | RFD8S0 | RFD8BO |2 x RFD68D
8 RFD880 RFD880 |2 x RFD680|2 x RFD680(2 x RFD680
C 10 RFD880
- THE REINFORCING STAKES WHEN APPLIED IN ACCORDANCE WITH THE ABOVE TABLE TO THE
NOMINATED POLES, WILL REINSTATE THAT POLE TO ITS FULL RATED STRENGTH. THE FOOTING STRENGTH
WILL BE NO GREATER THAN THAT DETAILED IN THE TABLE ON DRAWING D-OH1-0224-5D-001 FOR NEW POLES
UNDER VARIOUS SOIL CONDITIONS.
D
L STAKE DETAILS
FAILING MOMENT
DIMENSIONS
s.. No | CODE (kNm)
E WIDTH LENGTH | THICKNESS | SINGLE | DOUBLE
mm mm mm STAKE STAKE
32.54.30 | RFD600 275 3000 6 33 80
—— 32.54.31 RFD680 300 3000 6 66 147
32.54.32 | RFD880 300 3000 8 100 224,
F
’ OBSOLETE-FOR REFERENCE ONLY
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Nefworks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
! STORED IN A RETREVAL SYSTEM IN ANY FORM,
» trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
=z ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |y SCALE
> TITLE
-3 TasNetworks W0OD POLE REINSTATEMENT BY STAKING NTS
< |2 ELTEK RFD TYPE STAKES-OBSOLETE
@ 2 DRAWN (5 PRO-SOLUTIONS
w |8 DESIGNED BY ELECTRO
[+4
: o CHECKED BY H.WESTBURY AA
< APPROVED BY D _ OH[ _ SD _ OO,‘ REVISION
DATE APPROVED | 16/NOV/18 A
Ver. 1.0 Poles Page 10-4



Overhead Distribution Construction Manual - Miscellaneous

Section 10

10.2 Wood Pole Steps (Obsolete for Reference Only)

10.2.1 Pole Steps

1 | 2 | 3 4

A PROCEDURE FOR STEP INSTALLATION

DRILL A LEVEL, @14 (%”) HOLE 120mm INTO POLE. APPLY GREASE TO THREAD AND SCREW
IN WITH SPANNER, LEAVING 130mm OF TREAD PROTRUDING. TO AVOID OVER STRESSING
THREAD, KEEP SCREWING TORQUE UNDER &40Nm (30 ft lbs) DO NOT HAMMER OR BEND THE
POLE STEP. ON COMPLETION, REMOVE SURPLUS GREASE FROM POLE AND STEP.

S
B
130 120
TREAD HOLE
DEPTH
>
POLE STEP
ITEM 19 POLE
C SI No. 323355
— <

INSTALLING A POLE STEP IN A Pl WOOD POLE

D M16 COACH SCREW THREAD RUNOUT TO BE
GRADUAL OVER LAST 10mm

ey

265

MARK 55 - POLE STEP
E MATERIAL: 16 ROUND BAR TO AS/NZS 3679.1-300
S.l. 32.33.55

450

2 HOLES @17

F
130 130
SCRIBE LINES
(REFER NOTE)
G
POLE STEP SPANNER
MATERIAL: 25x25x3.2 RHS
NOTE: HEAVILY SCRIBE SURFACE OF RHS AT LOCATIONS SHOWN AND USE AS TREAD
LENGTH GAUGE. REMOVE SHARP INNER AND OUTER EDGES AT ENDS OF RHS.
H
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,

" STORED IN A RETR N ANY FORM,
» trading as TasNetworks OR TRANSMITTED BY ANY MEANS WITHOUT THE
= ABN: 24 167 357 299 PRIOR
o |w
P TasNetworks TILE SCALE
-2 POLE STEPS NTS
< |= (OBSOLETE)
P <z( DRAWN (5 PRO-SOLUTIONS
w |2 DESIGNED BY ELECTRO

o
: o CHECKED BY H.WESTBURY AA
< APPROVED BY _ _ _ REVISION
DATE APPROVED | 19/FEB/19 D O H [ K O T O S D A

Ver. 1.0 Poles

Page 10-5



Overhead Distribution Construction Manual - Miscellaneous

Section 10

10.2.2 Pole Steps on Operating Pole (Obsolete for Reference Only)

1 | 2 | 3 | b |
. /A\
. al o ° \id
HV EDO
FUSES f/ E
B i E
HV FUSE ARM
~ BELT HOOK
&
i =
¢ g
SECTION /7B ]
- -/
D -/ -
. SECTION =
° &
B
T SECTION /AN s
o/ .
F ~
Bl Sl No. 323355
?
G 2
H
POLE STEPS NOW CONSIDERED OBSOLETE
DIMENSIONS ARE IN MILLIMETRES
UNLESS OTHERWISE STATED
© Tasmanian Networks PTY. LTD. NO PART OF THIS DRAWING MAY BE REPRODUCED,
0 tradng os Taskerwrks e T, 2
= ABN: 24 167 357 299 PRIOR PERMISSION OF TASNETWORKS
o |w TITLE SCALE
= é TasNetworks POLE STEPS NTS
< 2‘ ORAWN (5 PRO-SOLUTIONS ON OPERAT‘NG POLE
(= (OBSOLETE)
w = DESIGNED BY ELECTRO A[”
= |e CHECKED BY H.WESTBURY
: APPROVED BY REVISION
DATE APPROVED | 19/FEB/19 D - OH[ - KOW/‘ - S D - 00/‘ A
Ver. 1.0 Poles Page 10-6



	Part 2 - Section 0 Preface
	Part 2 - Section 1 Services
	Part 2 - Section 2 LV Constructions
	Part 2 - Section 3 11-12.7-22kV Constructions
	Part 2 - Section 4 33kV & 66kV Constructions
	Part 2 - Section 5 Switches, Fuses, Reclosers
	Part 2 - Section 6 Pole Substations Transformers
	Part 2 - Section 7 Other Pole Mounted Plant Attachments
	Part 2 - Section 9 Conductors
	Part 2 - Section 10 Poles

